JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
ANNUAL EXAM
Session : 2024-25
MODEL QUESTION PAPER

[CLASS—XIl | SUBJECT : ENGLISH CORE | Time:3hrs | Marks-80

General Instructions:-

All questions are compulsory.

Candidates should answer in their own words as much as possible.

Total number of questions is 52.

Question No. 01 to 30 are multiple choice questions, each question has four options.

Select the most appropriate option. Each question carries 01 mark.

e  Question numbers 31 to 38 are very short answer type questions. Out of which it is
mandatory to answer any 6 questions. Each question carries 02 marks.

e Question numbers 39 to 46 are short answer type questions. Out of which it is mandatory
to answer any 6 questions. Each question carries 03 marks.

e  Question numbers 47 to 52 are long answer type questions. It is mandatory to answer

any 4 questions. Each question carries 05 marks.

MULTIPLE CHOICE QUESTIONS
1. Notice writing is an example of ?

a. Formal communication b. Non Formal communication c. Informal communication d.
Personal communication

2. What is the primary purpose of a notice?
a) To advertise a product b) To provide detailed information about an event or announcement
c) To write a letter to an individual d) To present a formal essay

3.Which of the following should be included in a letter to the editor?
a) Personal background of the writer

b) A clear and concise opinion on the topic being discussed

c) Advertisements or promotions

d) A formal greeting to the audience

4. What did M. Hamel say was the most valuable thing to preserve in the face of adversity?
a) Money

b) Honour

c) The French language

d) Freedom

5.What is the central theme of Lost Spring?
a) The beauty of childhood

b) The harsh reality of child labour and poverty
¢) The importance of education for all

d) The significance of family support

6. In Deep Water, why did William Douglas develop a fear of water?
a) He nearly drowned in a lake

b) He was frightened by a strong swimmer

c) He had a traumatic experience at a swimming pool



d) He fell off a boat and was swept away

7. What does the rat trap symbolize in the story The Rat Trap?
a) A desire for wealth

b) The trap of greed and deception

¢) The harshness of life

d) The danger of trusting stranger

8. What was the main reason for the success of the Champaran movement in Indigo?
a) The cooperation of local merchants

b) The intervention of the British government

c) The leadership of Mahatma Gandhi and the support of local peasants

d) The involvement of international organizations

9. In Poets and Pancakes, what does the author describe?
a) A poet’s creative process

b) The humuor and irony of life in the film industry

¢) The importance of breakfast in a poet's life

d) The cultural significance of pancakes

10.What is the significance of the third level in The Third Level?
a) It represents the escape into a world of fantasy

b) It symbolizes the passage of time

c) It is a metaphor for economic prosperity

d) It is a dangerous underground railway system

11. What amount of money was stolen from the crofter’s pouch?
a. 30 dollars b. 30 kronors c. 30 rupees d. 40 dollars

12. Why was the Tiger King so determined to kill 100 tigers in The Tiger King?
a) To prove his strength to the British rulers

b) To fulfil a prophecy that he would die at the hands of a tiger

¢) To showcase his love for wildlife conservation

d) To avenge the death of his father

13.What was the primary purpose of the author's journey in Journey to the End of the Earth?
a) To study the glaciers and the polar ecosystem

b) To research the impact of climate change on the Arctic

c) To experience life in Antarctica

d) To meet indigenous communities in the South Pole

14.What was the dilemma faced by Dr. Sadao in The Enemy?

a) Whether to save the life of an enemy soldier despite being at war
b) Whether to fight for the Japanese army

¢) Whether to escape the war and live peacefully

d) Whether to disclose the enemy’s location to his superiors

15.what is the key theme In Onthe Face of It?

a) The joy of traveling to new places

b) The emotional and physical challenges faced by people with disabilities
¢) The importance of self-confidence

d) The bond between family members

16. What decision does Dr. Sadao make at the end of The Enemy?



a) He decides to inform the authorities about the soldier

b) He chooses to send the soldier back to his country

c¢) He helps the enemy soldier escape, disregarding the consequences
d) He decides to treat the soldier but turns him in to the police

Read the given extract and answer the question.

"A thing of beauty is a joy forever:

Its loveliness increases;

it will never

Pass into nothingness;

but still will keep

A bower quiet for us and a sleep

Full of sweet dreams and health and quiet breathing."

17. The given extract is taken from the poem-
a. Keeping Quiet

b. My Mother at Sixty-six

c. A Thing of Beauty

d. A Roadside Stand

18. What is described as "a joy forever" in the poem?
a) A beautiful memory

b) A thing of beauty

c) A work of art

d) A quiet sleep

19. What feelings does the poet associate with a thing of beauty?
a) Fear and anxiety

b) Sweet dreams, health, and quiet breathing

c) Anger and frustration

d) Sadness and melancholy

20.What does the poet mean by "keeping quiet"?

A) Staying away from people

B) Engaging in productive work

C) Refraining from speaking and taking time for self-reflection
D) Shouting in anger to be heard

21. What does the speaker suggest about the city people who pass by the roadside stand?
A) They are ignorant of the struggles of rural life

B) They are generous and kind

C) They appreciate the art and work of rural people

D) They stop to admire the beauty of the countryside

22. The speaker’s tone in The Roadside Stand can be best described as:
A) Joyful and hopeful

B) Sarcastic and bitter

C) Calm and serene

D) Confused and uncertain

23. How does Charley describe the people and the atmosphere at the third level?

A) They are futuristic and advanced

B) They are wearing old-fashioned clothes, and the streets look like they are from the 19th
century



C) They are from another planet
D) They seem to be living in a war-torn world

24. How many tigers does the Maharaja need to kill to prove the prophecy wrongin The Tiger
King?

A) 100

B) 50

C) 10

D) 99

25.Who are the two main characters in On the Face of It?
A) Derry and Mr. Lamb

B) Derry and his mother

C) Mr. Lamb and his wife

D) Derry and his doctor

26. What advice does Mr. Lamb give to Derry about life in Onthe Face of It?
A) He should focus on his physical appearance to be accepted

B) He should ignore the opinions of others and focus on the beauty of life

C) He should stay away from people to avoid rejection

D) He should get surgery to fix his disfigurement

27. What happens to the Maharaja’s legacy after his death in The Tiger King?
A) His son becomes a great ruler

B) His kingdom flourishes and becomes famous for its tigers

C) The tiger population increases and flourishes

D) His kingdom is taken over by the ‘British

28.Why did Zitkala hide herself?

a. To save herself

b. To save herself from a women

C. To save herself from other children
d. To stop people from cutting her hair
29. What had hurt Bama in the society?

a. Politics

b. Class students

C. Road shows

d. Practice of Untouchability

30 What does the story The Tiger King suggest about the relationship between power and
pride?

A) Power should always be used wisely

B) Pride leads to self-destruction when abused
C) Power should be used only for personal gain
D) Pride is the mostimportant trait for a ruler

Read the following passage carefully and answer the questions that follow:

The sun was warm but the sea breeze kept up its cooling effect all along. Soon the steamer
turned away and anchored its gear a creek by the river. The muddy fringe and the mangrove
vegetation declared the gateway to the Bhitarkanika Wildlife Sanctuary in Odisha. The
steamer could not negotiate these creeks at low tide, so a similar motorboat was hired to ferry
us to the Dangmal forest rest-house in the heart of the mangrove forest. From the motorboat
we had a good look at a large crocodile basking in the sun. The boat moved on, taking us



deeper into the forest. Here we felt as though we had stepped into a time warp. In plumage:
this awesome and mysterious place, birds of extraordinary covering a bir phimage appeared
before us. For the moment we revelled in the magnificence of nature which had us completely
in its thrall. Among the birds, the kingfishers were the stars of the show. Crocodiles, large and
small, slid into the water at our approach. Through the foliage we could see chital deer
delicately browsing on fresh outcrops of leaves. A herd of wild boar was spotted searching for
succulent roots. High above us, open-billed storks stood sentry-like following our progress
through their remarkable kingdom. The evening sun was beginning to paint the tree-lined
horizon crimson and gold and a brooding silence enveloped us all.

Answer any six questions 2x6=12
31. Where was the author going?

32. Where was the forest rest-house?

33. How did the group manage to get there?

34. Which creature did they see first?

35. Who were the stars of the show?

36. What does the author mean by the magnificence of nature?

37. How are the kingfishers and the open-billed storks described?

38. What were the chital deer and the wild boar doing when the motorboat went past them?

Read the following passage carefully and answer any six questions that follow: 6x3=18

Jharkhand, located in the eastern part of India, is a state known for its abundant natural
resources, cultural diversity, and scenic landscapes. It was carved out of Bihar in 2000, with
Ranchi as its capital. The state is blessed with a wealth of minerals, forests, and rivers, making
it one of the richest regions in terms of natural resources in the country. Jharkhand is home to
vast coal mines, iron ore, and other valuable minerals, which play a crucial role in India's
economy.

Beyond its natural resources, Jharkhand is a land of diverse tribes and cultures. Over 30
indigenous communities, including the Santhals, Mundas, and Oraons, form a significant part
of the population. These tribal communities have a rich cultural heritage, with distinct
languages, dances, and traditions. Festivals like Sarhul, Karam, and Makar Sankranti are
celebrated with great enthusiasm, reflecting the vibrant traditions of the tribal people.

The state is also known for its dense forests, which cover a large portion of its land. These
forests are not only home to a wide variety of flora and fauna but also provide livelihood to
many tribal communities who depend on forest products for their daily needs. The presence
of rivers like the Damodar, Subarnarekha and Koel adds to the natural beauty of the state,
offering opportunities for agriculture and irrigation.

Despite its natural wealth, Jharkhand faces challenges in terms of infrastructure development,
education, and healthcare. The state’s economy largely depends on mining and agriculture,
which makes it vulnerable to environmental and economic fluctuations. Over the years, the
government has taken steps to improve the state's development, but much work remains to
be done in ensuring equitable growth for all its residents.

39. On the basis of your reading of the above passage make a note on it. You may use
headings, sub-headings, and abbreviations.

40. Write a summary of the above passage in about 80 words.

41. You are Neha/Nikhil, the head boy/girl of RK +2 High school, Chandwa, Latehar. Your
school is organising a visit to Birsa Munda Museum, Ranchi. Write a notice inviting the
students who are willing to join the group in not more than 50 words.



42. You are Ankur/Ankita, the Secretary of Cultural Club of Govt.+2 High school, Bundu. Write
a notice for your school notice board inviting students to give their names for a district
level Role Play Competition in not more than 50 words.

43. You are Tarun/Taruna, write a letter to the Editor of , The Express®, Ranchi complaining
about the frequent breakdown in the supply of electricity in your village.

44. The Eco Club of you school organised a Tree plantation Awareness Programme in the
school campus. Write a report in about 80-100 words for the school magazine describing the
event. Sign as Ani/Aniket of Zila+2 High School, Ranchi.

45. Write an article on “ Importance of Yogabhyas in our daily life” or “Global Warming” in
about 80-100 words.

46. Who was Dr. Sadao? Where was his house situated?

Answer any four questions. 4x5=20

47. How did the General react when Sadao informed him about the prisoner of war?

48. What do the parting words “see you soon Amma” of the poetess and her smile signify?
49. What did Charley claim for in ,The Third Level*?

50. Why do rural people make roadside stands?

51. In what conditions do the bangle makers of Firozabad live? Why can“t they come out of
the state of poverty?

52. What happened to Gondwana 150 million years ago?



Answer key
Class 12

Subject: English
a. Formal communication
b) To provide detailed information about an event or announcement
b) A clear and concise opinion on the topic being discussed
¢) The French language
b) The harsh reality of child labor and poverty
a) He nearly drowned in a lake
b) The trap of greed and deception
c) The leadership of Mahatma Gandhi and the support of local peasants
b) The humor and irony of life in the film industry

. a) It represents the escape into a world of fantasy

. b. 30 kronors

. b) To fulfill a prophecy that he would die at the hands of a tiger

. €) To experience life in Antarctica

. @) Whether to save the life of an enemy soldier despite being at war

. b) The emotional and physical challenges faced by people with disabilities
. €) He helps the enemy soldier escape, disregarding the consequences

. €. A Thing of Beauty

. b) A thing of beauty

. b) Sweet dreams, health, and quiet breathing

. C) Refraining from speaking and taking time for self-reflection

. A) They are ignorant of the struggles of rural life

. B) Sarcastic and bitter

. B) They are wearing old-fashioned clothes, and the streets look like they are from the

19th century

. A) 100

. A) Derry and Mr. Lamb

. B) He should ignore the opinions of others and focus on the beauty of life
. C) The tiger population increases and flourishes

. d) To stop people from cutting her hair

. d)Practice of Untouchability

. B) Pride leads to self-destruction when abused
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YRGS Qfere ST Td UiRreor ulve, I, IREvS
ULl (Annual Examination)

2024-2025
Hisd U4 UA
DEM - XIl | 19w - qERIRd Y - 3 9UcT 15 Be quli - 80
Class-XII Subject- ACCOUNTANCY Time- 3 Hour 15 Minute Marks - 80
(Compulsory)

General Instructions / ATHTeT ferder :

1. This Question Booklet has two Parts & Part-A and Part-B.

T UA-gRADT F I oI HIO-A FAT HOT-B F |

2. Part-A is of MCQ Type having 30 marks and Part-B is of Subjective Type having 50

marks.

HIOT-A & 30 3% B TGABCAT U Tl HEI-B & 50 36 & [qwafers uea 21
3. The candidate has to answer in the Answer Booklet which will be provided separately.
et B T A IUCT IRIF I IA-YRABT H IR I 2|

4. In Part-A There are 30 Multiple Choice Questions having four (4) options (A, B, C & D).

The candidate has to write the correct option in the Answer Booklet. All questions are
compulsory. Each question carries 1 mark- There is no negative marking for wrong answer.

AET-A & 30 Fgfiwcdir uear & oo 4 Rwew (A, B, ¢ @er p) F1 udemef &
IR-gRadr F FE IR forwen 31 AN vea aferart 1 udd wed 1 3id B 2
AT ITR B T P 37 HleT odl e |

5. In Part-B There are three sections: Section-A, B & C.

This part is of Subjective Type having Very Short Answer, Short Answer & Long Answer
Type questions- Total number of questions is 22.

Section-A Question, Nos. 31-38 are Very Short Answer Type- Answer any 6 questions.
Each question carries 2 marks- Answer the questions in one sentence each.

Section-B Question Nos. 39-46 are Short Answer Type. Answer any 6 questions. Each
question carries 3 marks. Answer the questions in maximum 150 words each.

Section-C Question Nos. 47-52 are Long Answer Type. Answer any 4 questions. Each
question carries 5 marks. Answer the questions in maximum 250 words each.

HIOT-B & dlel JUS JUS-A, B dAT C &1 A AWEI & 3ifd og IA0I, &g ST aa
i IR UBR B Avafers yed g1 FT Uedl P FJ 22 B
JUS-A gosl A 31-38 3 @Y AT 21 @l 6 Uedl B IR &I UD

U9 2 3ih BT &1 Ub U &bl I Ub al & SISTu |
JUs-B Uos ABA 39-46 oY AT &1 fhedl 6 ueall & IR &1 UAF WA
3 3i6 BT 2| Udh U bl 3a2 3Mfebdd 150 &) & ¢ |




FUS-C U9 JJ]T 47-52 " IFNT 1 fhE 4 Ul B IAR 31 U UL
5 3ich b1 21 UAD U BT I 3MeIbdd 250 &l & |

6. Candidates are required to answer in their own words as far as practicable.

Tdemefl JeANT U o/l H & IAT T
Part— A (amer -A)

(Multiple choice Type Questions)
(agfscdiT vear)

Question Nos. 1 to 30 are Multiple Choice Type. Each question has four options. Select the
correct option and write it in the Answer sheet- Each question carries | marks

ged JJM 1 A 30 dP TFABAT YBR 2| Udd Ued @ TR fawew g1 F&
fpea game 3oz gRaw & ford | e ued 1 3iF FM 8|

Ql. ISR AcRT & AT H AR B D gRT BA B & I8 I AR W
el fe=r SigaT |

(In the absence of a partnership deed, the allowable rate of interest on amount advanced by

the partner to the firm will be :)
(A) 5% ar¥es @t T A (atthe rate of 5% p.a.)

(B) 6%- am¥es @br g2 A (at the rate of 6% p.a.)
(C) 9% ari¥ep @bt &2 A (at the hate of 9% p.a.)
(D) 12% s @t &z A (at the late of 12% p.a.)
Q.2 AR BT B A Ao aial 2

The relation of partner with the firm is that of:

(A) =are®t &1 (An Owner)

() Wolse &7 (An Agent)

(c) zameft wd wolee @& (Anowner and an Agent)

(D) Udeers &1 (Manager)

Q.3 e AR & 3mewer H fafr o & g3 & O fbaal e BT TG IR ST
3

(If date of drawings of the partner's is not given in the question, interest is charged for how

much time)
(A) 1 #1E BT (1 month) (B) 6.5 HTE &I (6.5 month)
() 6 d& &I (6 months) (D) 12 & &1 (12 months)

Q.4 T 3rgurd (Sacrificing Ratio):
(A) New Ratio-old Ratio <= 3ieurd Yrell 3iurd



(B) Old Ratio - New Ratio TRIell 3fe[Uid - <=1 3fefurd
(C) Old Ratio-Gaining Ratio YRIeT 3iguid - enma-Uiitd 3reura
(D) Gaining Ratio &Old Ratio efTa-UTltd SrUTA-YRreT Sre[UTa
Q.5 TAATT @t URATg & ANfdd AT B Fad &
(The monetary value of reputation of the business is called)
(A) Z=nta (goodwill) (B) @@a (Surplus)
(c) &fer (Loss) (D) 3mr (Income)
Q.6 AU AR & GRI JAMd Bl AT & St 8
(The amount of goodwill is paid by the new partner):
(A) gott & aforarel & fe@ (for the payment of Capital)
(B) omaT & f&xam uret & @ (For sharing the profit)
(C) JHYRp A HA, & fo@ (For purchase of assets)
(D) zetdt A dg =&t (None of these).
Q.7 Yeidcichel AT 37JaT ciei—glfel TAIGISl JT 2:
(Revaluation Account or Profit and loss Adjustment A/C is a)
(A) arafaes Frar (Real Account)
(B) =afmora zamar (Personal Account)
(C) s Jmar (Nominal Account)
(D) Toret g @@t (None of these)
Q.8 IR & HY U 3ifedd AT Bl B
(Onthe death of a partner in a firm payment are made from)
(A) goft Bma A (Capital Alc)
(B) arg Jma A (Current Alc)
(c) wsRoT JMd A (Loan Alc)
(D) STRIEERET & Jmat A (Executor's Ac)

Q.9 x,Ysﬂzzi,iﬁ?fésﬁmﬁwaﬁwﬁrmaﬂﬁ%lzﬁaﬁg
g ot 81 X 3R Y @& o 3iguid &en (X, Y and & share profits in the ratio ofgl, é

and ﬁi. Z die, New ratio of X and Y will be :)

(A) 3:2 (B) 2:3

(€) 2:1 (D) 1:2

Q.10 ema-UTRA 31gfurd @t YU &t ot & (Gaining Ratio is calculated:)



(A) uaer & JaAT (At the time of admission)

(B) 3racTer JESl B THA (At the time of retirement)
(c) Rraest & JHT (At the time of dissolution)

(D) zerdt A g @t (None of these).

Q.11 ¥R ®H ® fdged Uz Far IJem 3mar g: (Anaccount is opened at the time of
dissolution of Partnership Firm.)

(A) aIet Tmar (Realisation Alc)

(B) getdicricher e (Revaluation Alc)

(c) emar-gifer ferieter Jmar (P/L Appropriation A/c)

(D) Toret ®g @@t (None of these)

Q12 B @& e W, TPER & KT J|Id B gddRd fbar oiar & (On
dissolution of a firm, Partner's Loan Account is transferred to):

(A) aett Jma # (Realisation A/c)

() WPk & Yot JMd & (Partner's Capital A/c)

(c) As FMa F (Cash Alc)

(D) setdt BIg @t (None of these)

Q.13. AY® Yoit Hawelt & (A Joint Stock Company is):

(A) Senfers I @B (An artificial legal person)

(B) urpfcis =fth (A natural person)

(c) aATdTer @t (A general person)

(D) d-ferarft s (None Resident Indian)

Q.14 9RAT FHeuel ifdfergd, 2013 P 3R FHeusht & 3nfdes Ricer gaTaT FATar
)

(According to Indian Companies Act 2013] Balance Sheet of a company is prepared as per):
(A) sreggat 1 @t st 2 (Part 11 of Schedule 111)

(B) 3ty 1l @t ammar 1 (Part I of Schedule 111)

(€) et IV @1 st 2 (Part 1 of Schedule V1)

(D) 3t VI @1 &mer 1 (Part | of Schedule 1V)

Q.15 3/Ed IEET UT 3Mfebad Aol forar 31 Abdl 2:

(Interest on calls in arrears can be charged maximum at):

(A) 6%pa (B) 10%pa. (C) 5% pa. (D) 12% pa.



Q.16 JAfra dsft @1 3ref 2 (Reserve Capital means):

(A) deft e @1 #mer (The part of Capital Reserve)

(B) Jfera &mer (Accumulated Profit)

(C) dsft oftere Far @1 #mer (The part of Capital Redemption Reserve)

(D) smanifaa geit &1 wifda smer (The part of Subscribed uncalled up Capital)

Q.17 . &weuet & foifdaa ez A omaenier et = wirem 2 2
(To whom dividend is given ata fixed rate in a company?):
(1) Jaar 3ierenf3At @ (To Equity shareholders)
(6) atierepre 3ierenRat @I (To Preference shareholders)
(¢) AT dam yaiepR el 3ier-enf3i @t (Borth Equity and Preference Shacholders)
(@) FwoTasrent=T @i (To Debentureholder)
Q.18 Uep forsill pauell 3 JeRT Pt 3MfIbdd JSAT aidl 2
(Maximum number of members in a private. Company is):
(A) 7 (B) 50 (€) 200 (D) 20
Q.19 59Ty & (Debentius is) :
(A) 3PRUT &1 UATOT-Ul (Loan Certificate)  (B) efbe T WHTUI-UI (Cash Certificate)
() I @t yaor-ux (Credit Certificate) (D) Ysil @bl WaATo-usl (Capital Certificati)
Q.20 7%0T SISt &ld & (Debenture holders are):
(A) BFuelt & et (Owners of the Company)
(B) weuelt & anmads (Customers of the Company)
(C) Bt B uadw (Promoters of the Company)
(D) wHelt B AR (Creditors of the Company)
Q.21 ¥ SEBI fRem-foreell & 3R oMUy e A Yd ROTGS RoRiFa B.............
P AR AR B SKOTTT oNelel JAa H BIAGOT Bell Siferart &

(As per new SEBI Guide Lines an amount equal to................... of the debenture issue- must be

transferred to Debenture Redemption Reserve before redemption begins.)

(A) 50% (B) 80% (€) 25% (D) zetdt g =&t (None of these)
Q.22 fofr faewor yeidid & 2
(Financial Statement disclose):

(A) aroneHes e (Qualitative Information)
(B) e y@em (Monetary Information)



(c) srAifees J@am (Non-Monelary Information)

(D) setet @i =@t (None of these)

Q.23 fa<iiw faeciwer & foiw sifdrpiera: w=ier fbu o a9l 3UHOT 2
(The most commonly used tools for financial analysis are):

(A) goteness faazor (Comparative Statement)

(B) WIS 3Bk @ faazor (Common Size Statement)

(C) crimer 3rfurd (Accounting Ratios)
(D) 3wgw A (All of the above)
Q.24 3meef offgr srgura & (Ideal Quick Ratio is):

(A) 1:1 (B) 1:2 €) 1:3 (D) 2:1

Q.25 forafoiRaa & A @l AT dver Hufa & 2 (Which of the following s liquid assets)?
(A) affdr (Land) (B) st@el (Building)

(c) Z&frm (Stock) (D) =R (Debtors)

Q.26 %6 3Mad Ui & (Stock turnover Ratio is):

(A) cRetar 3requrd (Liquidity Ratio) (B) cmmergerar 3rfura (Profitability Ratio)
(c) ferwareer 3rqqura (Activity Ratio) (D) areg 3rfura (Current Ratio)

Q.27 Jws-yare Taaor Adfea &

(Cash Flow Statement is related to):

(4) As-3 (B) As-6 (€) As-9 (D) AS-12

Q.28 feafeilRaa & ¥ P-A1 Fg Abs goa B ?

(which of the following- item is considered as Cash Equivalents ?)

(A) Jep aiferferepd (Bank Overdraft) (B) delerR (Debtors)

(c) @@muRe ux (Commercial lapais) (D) faferd=r usr (Bills of Exchange)
Q.29 foreer & F Jareld Adsh fpamalt A Jbs Yae & <@ HlA-AT 2 ?.
(Which of the following is an example of cash flow from Operating Activities ?)

() 3fett @1 ferofder (Issue of shares) (B) Fefterst &1 & (Purchase of Machinery)
(c) fafermert @1 @ (Purchase of Investment)

(D) <id T ofdbe A (Purchase of Inventory for Cash)

Q.30 =iwme Tt & (Cash Sales is a):

(A) uRarerer fosamd (Operating Activities)

(B) fafernster fosamd (Investing Activities)

(c) fa=fer fpemd (financing Activities)



(D) gerdt A @drg @t (None of these).
PART-B (s1r-a)
(Subjective Type) (Rrueifors wesr)
Section-A (Jvs-A)
(Very short answer type questions)
(arfey a1y 3T wea)

Answer any Six questions- Answer the questions in one sentence each-
el & Ueell & IR &1 UAB U BN IR TP dgT H dIforu |

Q.31 enH-gifer faforierer wmar w=m 2 2
What is Profit and Loss Appropriation Account ?

Q.32 3iferemet &1 I |
Give the formula of Super Profit.

Q.33 UeidcHichel 3HTaT ol & ?

What is Revaluation Account ?
Q.34 g v uRRafy wared Red sieela IR wdt & fafea gam amen

ST 21

State any one circumstance under which, partners tics is deemed to have been disserved.
Q.35 3fer @@ & ?

What do you mean by Share?
Q.36 3RUI-USIT & ofersT A AT 3N 2 ?

What is mean by Redemption of Debentures ?
Q.37 aTel, 3 guid BT JFA AT

Give the formula of Current Ratio.
Q.38 What is meant by Cash Equivalents ?

Abs AAGeT A =T IMAT B ?

Section B
(Jws -B) (Short answer type questions)

(g 3T "eeA)

Answer any Six questions- Answer the questions in maximum 150 words each.

fhegl ®: Uoel & 3T ¢ | U U9 bl 3IAT 3ifebad 150 9@ & ¢ |
Q.39 T 3gUId 3R Wt e 3guid H Pl diel a2 Fais |

Tell any three distractions between Sacrificing Ratio and Gaining Ratio.

Q.40 3iglt B &V gar Yel: ferofda W PHrer-dt ufafteat o ot & 2

what entries are passed in case of forfeiting and re-issue of shares ?



Q.41 U BH ot wfad User ulg auf & AT oy & A adffa B B 3memR U2
Heifhd @t STt 81 31 AT B FATT &l dIcT Ul B AH ford YBR 2:

Goodwill of a firm is valued at three year's purchase of the average profits of the last five
years. The profit of each year ending 31st March are as under;

2020 210,000 Profit (cmed)

2021- 215,000 Profit (cira)

2022 34,000 Profit (crs?)

2023 % 5,000 Loss (aTfer)

2024- % 6,000 Profit (cra7)

Calculate the value of goodwill

Zf BT HeT Fd Be|

Q.42 A, B,sﬁvcz,éaméﬁwaqﬁaﬁgaw@m%waﬁé oo & fou w
ARIAR & HT & HBA A U 1 I ARERT & a0 eA-AdTee 3reud S
BT |

32 1
B and C are partners in proportion of P and - respectively. D the firm as a new- partner |

was admitted in with 6 th Share- Calculate the new profit sharing ratio of the partners.

Q43X foaI. & 1005, @Y 4,000, 8%, kUGS 10% WiRrRE w foriRa & e
W 20%. 3ded W Ud 9y ifdwed AfRa smbded w® I J1 500 B. KT B
fofaer TR @ gU | PeUe P QDI H Seie] P LD o Be |

X Ltd. issued 4,000, 8% debentures of X100 each at a premium of 10%- payable 20 on
application and the balance with premium on allotment- Expenses on issue of debentures
were 3500 Pass necessary Journal entries in the books of X Ltd. Company.

Q.44 Torgar ToiRad J@ell A AATS 3MBR BN cNH-gMfel [Iaor Fege:

From the following information] prepare a Common - size Statement of Profit & loss:
Note No. 31.3.2023 | 31.3.2023

Revenue from 20,00,000 30,00,000
Operation
(TaTelel A 31T=T)
Expenses (1%)

Other Incomes
(3 31mR) 2,00,000 4,00,000

17,00,000 25,00,000

Income Tax
(3mIeRR) 35% 40%




Interest on drawings is to be charged @ 15% p.a. Calculate interest on partner's drawings.

Q.45 ferger fRU 1w 3fiwst A FTTd 3NMad 3rgUIT B VAT BfTE!

Calculate inventory turnover ratio from the data given below :-

4
Inventory at the beginning of the year (@ @& U & Igicr) 20,000
Inventory at the end of the year (@ & 3id & Zsferm) 10,000
Purchases (s5T) 50,000
Carriage Inwards (TSl &1TaT) 5,000
Revenue from Operations (or Sale) J=metsr A 3m=r (=3 fores=) 100,000

Q.46 A, B, 3R ¢ U ®aH & AR 1 3muat JRa e omar @ 75

A, B, and C are partners in a firm- You are informed that:

() Ao BH F USRS AE B URH H 2000, forprar |

A draws X 2000 form the firm in the beginning of every month.

(i) B o A A USSP HAE B 3d H 2000 S ferpror|

B draws 2000 from the firm at the end of every month.

(i) C ¥ BH A UDD AE B FT H 2000 S fereprer |

C draws X 2000 from the firm at the middle of every month.

3MEI0T T 15% di¥p &I A STl cONR—IT Ol & | AR B 3ME0T UT FTel siid

FfeTE 1.

Section-C (¥vs-C)
(Long answer type questions)

@ 3TdT uea)

Answer any four questions. Answer the questions in maximum 250 words.
fpedl TR ueelt BT IAT & | URD UL Bl IR 3MMebadA 250 A= H |

Q.47 31 A, 2024 @B A, B @ C &I ferssriied Rrcer ar arar aifer srqua 3:2:

aqr |



The following was the Balance Sheet of A, B and C who share profits and losses as 3:2:1 as
at 31st March’ 2024

Liabilities (gRra) > Assets (FT) >
Bills Payable (@I Tau=) 24.000 Building (31a<) | 68,000
Creditors (cleleRR) 20,000 Plant (37=) 36,000
General Reserve (It JT=) | 8,000 Stork (&fcr=m) 48,000
Capital (qgh): 1,20,000 | Debtors (@eeR) | 16,000
A; 60,000 1,72,000 | Cash Qps) - 4.000
B: 40,000 172,000
C: 20,000

=9 faf R A foree ordl UR 3/@dbrer IS HRAT 2

A retires on that date on the following terms:

(i) wat B FfT BT oAb 12,000 S BT AT
The goodwill of the firm is to be valued at 12,000-
(i) Tp e a1ger # 4% gleg Bt 21

Stock and Building are to be appreciated by 7%
(iii) T B 10% @RI BT S B

Plant to be depreciated by 10%
3B (a) Yeldcichal JMaT dal (b) ARERT & Yot Fd dIR Bt 2 |

You are required to prepare (a) Revaluation Afc and (b) Partner's Capital Alc.

Q.48x fo. ¥ 105 arel 30,000 3ier S fB ToterasT ofoTdrel forger UbR &l 2:
X Ltd. issued 30,000 shares of % 10 each payable as under;

3mdes R (On Application) 3
3feeal Uz (On Allotment) 33
UIH Ardar gz (On first call) %2

3ifd arger wr (OnFinal cal) %2

3ieles, foRIpr 500 3ier 3mdfed U aw &, a8 It Armensi &t AR <o F 3RyHeS
W 3D 3ieht &1 &1 &R foram o IR e F R & o » uf sier wy, golkew
#F gor: fonlda &R | Feuell & e & 3maess Uldftedl Jasu|

Ashok, who had been allotted 500 shares failed to pay both Calls. His shares were forfeited
and re-issued at 9 per share to Hari, as fully paid-up. Make necessary entries in the books of
company.

Q49 z fa1. & 1 3We, 2020 B 100 S Al 42,000, 7% RIS 10% UiferRmeT
R foffda fbu foreer oferer 31 &R, 2024 & 100 dlef JAAT 3o F 5%
e ww uRada &b & 21 Rogsl & foofdaa der oiee & ufaReat @ifoo|



X Ltd. issued 42,000, 7% debentures of X100 each at a premium of 10% on 1st April 2020
redeemable by conversion of debentures into shares of 10 each at a premium of 5%. On 31st
March 2024. Record necessary entries for issue and redemption of debentures.

Q.50 Tfy w2 ? T & Hciwar B bl & Rafedt &1 aoler &3

What is Goodwill ? Explain any two methods of valuation of goodwill.

Q.51 A, B 3R CUARCR 2 Ol clH-&lfl &I Sva-aeR dicd &1 3&i 31 March
2024 @ ®BHA B fafea fear o afie & 390 Rafa-faor fereer ar ?

A, B and C are partners sharing- profits and losses equally. They dissolved the firm on 31st
March 2024 on which date their Balance Sheet was as under:-

Liabilities (gTRrea) > Assets (F#qH) >
goil Jmar (Capital Alc) 3rael AT (Fixed Assets) | 100,000
A: 30,000 el AFrl (Current Assets) | 40,000
B: 30,000 90,000 |A®s (Cash) 10,000
C: 30,000 60,000
Creditors (cTelcR) 150,000 150,000

Al FHA A GABT HeT A 10% BA U gUI oleGRl bl YUl ordlel b2
fa=m orn, RIelt & T 500 B. gU AT US WA R foraads forw wmaenmer aigt
fSheIT ORI &, 500 B. FHRT IAT| B Bl GIADT H qel JAT T |

All the assets realised 10% less than book value. Creditors were paid in full. Expenses of
realisation amounted to 5003 and a contingent liability for which no provision was made paid
at: 500- Prepare Realisation Account in the books firm.

Q-523) auf & fow XLtd. & fres fewaicilRad 21 Abs vars faavur R AfSTE:-
Following are the Balance Sheets of X Ltd. for two years. Prepare Cash Flow Statement:

Particulars (fae=on) 31st March 2023 31st March 2024
i- Equity and Liabilities (T N N
der <)
Share Capital (3ier o) 200,000 250,000
Statement of P/L (cmer-aifer farazor) 10,000 25,000
Trade Payables (emui¥e 2erart) 70,000 49,000
2,80,000 3,18,000
. 50.000 66,000
ii- Assets (FFuf=) 80000 90,000
Land (a3 120,000 1,15,000
Stock (i) 30,000 47,000
Trade receivables (@mufRe ur=mamn) 2,80,000 3,18,000

Cash (Frss)
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General Instructions / AT ferder :

1. This Question Booklet has two Parts & Part-A and Part-B.

T YeT-gRA®I F I AT HE-A dar eeT-B |

2. Part-A'is of MCQ Type having 30 marks and Part-B is of Subjective Type having 50 marks.
HIOT-A # 30 376 B TGRIBIIT U qar oeT-B & 50 36 & fawafers wear &1

3. The candidate has to answer in the Answer Booklet which will be provided separately.

Tt BT 3icr A UG HIAZ IF IAR-YRABI A IAT ol & |

4. In Part-A There are 30 Multiple Choice Questions having four (4) options (A, B, C & D). The

candidate has to write the correct option in the Answer Booklet. All questions are compulsory. Each
question carries 1 mark- There is no negative marking for wrong answer.

AO-A # 30 dgfadcdiiy ued & foled 4 fawea (A, B, C @ D) &1 udenddt =i
IR-gRa®! # FAd IR formem 21 Asht wea aiferard 1 uRdw ued 1 3k & B Iad
IR B ol B 3 dler @t S|

5. In Part-B There are three sections: Section-A, B & C.

This part is of Subjective Type having Very Short Answer, Short Answer & Long Answer Type
questions- Total number of questions is 22.

Section-A Question, Nos. 31-38 are Very Short Answer Type- Answer any 6 questions. Each
question carries 2 marks- Answer the questions in one sentence each.

Section-B Question Nos. 39-46 are Short Answer Type. Answer any 6 questions. Each question
carries 3 marks. Answer the questions in maximum 150 words each.

Section-C Question Nos. 47-52 are Long Answer Type. Answer any 4 questions. Each question
carries 5 marks. Answer the questions in maximum 250 words each.

HRI-B & ol JUS J{US-A, B daT C 21 3T A1 & 31y &g I, g I dem el
IANT YBR B [Aulene weel &1 |a Ul @t A 22 B
FUS-A U AEA 31-38 3Mfd @Y IANT F1 fbEl 6 ueell B IR &1 UAD U

2 3ic6 BT 21 UP U BT IAT Uh ald & IfoTu |

JUs-B Uos AW 39-46 g ITNT &1 Thedl 6 Ul @ IR &1 UAF U 3
3ih BT 21 UAD U bl 3a Iferhdd 150 oM@l & ¢



FUs-C Uod JFAT 47-52 A" IANT &1 fhdl 4 Ul @ IAR &1 UR”PB UL 5
37p Bl &1 UdD U9l bl IaT 3Mebdd 250 & & < |

6. Candidates are required to answer in their own words as far as practicable.

el JAFANd U o/l H & IAT T

dg foredguy (Multiple Choice Questions) :-
1. 96Y % (management is) -

(a) il (art) (b) Ta (science)
(c) ddl 3R ICRIGI T (art and science both) (d) ETI'ER?[ ﬁ'scﬂ?)f(None of these)

2%‘@%&%%@111%1 TI'QEIHH% Rrgidl &1 H’@IT% (Number of management principles
given by Henry Fayol is)-

(a) 10 (b) 12

(@14 (d) 15

3. HHRIS pifd HellYR 8 (Mental revolution is the essence of) —

(a) CRIEER L] (Scientific management) (b) TSI T (Combination)
(C) fadepTepRUT T (Rationalisation) (d) 3TH I 4! (All of these)

4. "UdY Uh ﬁrsrr%r' g HYF fPge1 | ? (“Management is a profession.” This statement is
of) -

(a) STt 3R, e (George R. Terry)

(b) @WWQ@W (American Management Association)

(c) 811 BAId (Henry Fayol)

(d) B’C@Tﬁ e ?ﬁ'st :IBQT (None of these)

5 SUHIST faare ﬁwu@%ﬁ %’ (consumer dispute settlement agencies are)
(a) ISNIEE] (District forum) (b) XY 3TN (State commission)
(c) TI@?J SR (National commission) (d) 37I'~Ef T g (All of these)

6. =0T TSI § (Control is related to) -
(a) gRomH (results) (b) ST (functions)



(c) 9T (efforts) (d) 37-|'~Ef q ﬁ'ﬁc qﬁ (none of these)
7. U 33! TS il § (A good plan is)

(a) RG] (expensive) (b) HYg o arelt (time consuming)
(¢) dIEGR (flexible) (d) 3R (rigid)

8. El@f THR aTdl JUHH H HRTUUT BT 8 (In a large sized enterprise

(a) Wfesd (voluntary) (b) 3IdRYP (necessary)

(c) Jifart (compulsory) (d) 37{3[@ Ehﬁ'sc -'-I?T(none of these)

9. Uddeis Eb_t‘ﬁ % (Supervisor is the link between) :

(a) 3= @umm% CIE] (top and middle management)

(b) WT\P[QH ALH U & a1 (workers and middle management)
() W’Iﬁ@ ﬁ'E[EIW% ] (workers and lower management)

(d) FHIRI Td TATAH & §1F (workers and directors)

10. UfRreror ¥ 59 faam S 3 (Training gives emphasis on ) -
(a) mﬂﬁ UX (Theoretical knowledge)

(b) gafifior 39 WX (All round knowledge)

(c) ITHTY AT UR (General knowledge)

(d) otlldE;Ii\ch A1 UX (Practical knowledge)

1. T8 T -9 W16 W1 &1 ISR T8l 87 (Which of the following is not a type
of organisation structure ?)

(a) WA IS (Line organisation)

(b) PTATEH® WIS (Functional organisation)

(c) TR 3R €Th TS (Line and staff organisation)

(d) ?ﬁ?l'CI;Uf TS (Flexible organisation)

12. AR ST Hlf &1 9d 8 (Employment exchange is the source of recruitment)

(a) STIN® (internal)

(b) CIRR] (external)

(c) TR 3R S8 (internal and external)
(d) gﬂ'ﬁ@[ ﬁ"ﬁf :f%pf (none of these)

13.Th WW?’IUT% (Qualities of a good leader are) :
(a) RN &FdT (Physical capacity) (b) Eﬁm qrgdr (Intelligence)
() fAof wifga (Decisiveness) (d) Eﬁﬁﬂ“—ﬂ (All of these)



14. T8 T @ D19-I71 YA 3% HaAdT 8 ? (Which of the following
communications spreads quickly?)

(a) 3NTATR® (Formal) (b) 3R (Informal)
(c) falRaa (written) (d) 375 I 94t (Al of these)

15. Wa{?f% Th Eﬁ\—rFﬂ, Wavm' ? (What means 'one plan, one

boss' ?)

(a) 3G P Uhdl (Unity of command) (b) fomm ﬁw (Unity of direction)
(©) T @& (Gang plank) (d) PEBRT (Centralisation)

16. dGIC DT G{Qf% (Budget refers to)-

(a) T o1 Faifoa asa (Planned target of performance)

(b) HfaST & HRIGEATT BT UUNT (Use of future activities)

(c) TTeAT BT ﬂ?’fﬁﬂw (Systematic action and allocation of resources)

(d) 3TUferd URume &1 3fe! # fdavur (Statement of expected results expressed in

numerical terms)

17. 999 3% AUH éﬁ% (Maximum wide scope is of) -

(a) §lUS (brand) (b) TopforTT (packaging)

(c) AT (labelling) (d) TTUR A (trademark)
18. adddlyg %ﬁ‘ﬂl ﬁTTUFT% (For business marketing is)—

(a) 3Hfard (compulsory) (b) TARAT (luxury)

(c) HARYD (necessary) (d) 3HATdRYD (unnecessary)

19. IUHIFT & ST % (Responsibilities of consumer are) -

(a) Y T Segdrsil T B (Do not make hurry in buying)

(b) 3[3 Td YHD ICRICEECE] (Beware of false and misleading advertise)
() &@W%Qﬁwmwareness towards rights)

(d) STdad Tt (All the above)

20. U&Y PT ¥9d: fOR SIdT® (Management itself expands)-

(a) YRl GRT (through delegation )

(b) WUT?{RT (through Centralisation )

(c) CEEARRY gIRT (through decentralisation )

(d) 9t & GRI (through all )



21. A1 BIAT 8 (The leader is)

(a) ST (by birth )

(b) ST ST 8 (made )

(c) S ¥ Td &1 STAT G (by birth and made both)
(d) ST ¥ I3 731 (none of these )

22. '31'1[§|€1(‘|I‘ W%:(‘Grapevine' communication is type of)-

(@) SRS TIR BT YHR (Formal Communication)

(b) SRS IR BT UHR (Informal Communication)

(c) cffldd IR BT YHR (Vertical Communication)

(d) Ezlﬁ“@[aﬂg:l_eﬁ'(None of these)
23.\?[617:‘)[%@‘)[%333[@@ % (Bill of Lading is issued by)-

(a) STETSIl S gRI (Shipping company)

(b) ATTdh & G{T\?-Wf'g"lﬂ (Agent of the importer)

(c) SIgldl & S gIRT (Captain of the ship)

(d) HHHTReh HYBRI §RT (Custom officer)

24. FrgfoRad 8 & faemT Tra= ol aoifeTT I 82 (Which one of the following is related to
Capital budgeting?)

(a) dXef AJUId (Liquid Ratio)

(b) Y GREEIE Hd fafr (Net Present Value method)

() I9-fowsg ﬁ'_g' fowamor (Break-even Point Analysis)

(d) Stl'ff | ﬁé ol (None of these)

25 Ha W%ﬁﬂ AR D % (For effective communication is necessary)

(a) ¥ (Clarity) (b) RIFAT (Courtesy)



(c )ﬁ?T('R_dT (Continuity) (d) 37{3[ T gt (All of these)

26. I5T AN fdaraf &1 MueRT & W% (State Commission can settle disputes) -

(@) 320 did ddh (Upto %20 lakh) (b) 50 ol da (Upto %50 lakh)

(o) %1 WW (Upto X 1 crore) (d) 1 Ehﬂ‘s"@f 3w (Above %1 crore)
27. 5301 Y 91 T8 § (Out of the following which is not a technique of control) -
(a) 3{UdIG gRT (YA (Exceptional control) (b) ST fATAT (Budgetary control)

(c) dITd gIRT IBRELI (Cost control) (d) TUSTHS gz (Punishable control)
28. ﬁ'q}ﬁi:[% (Planning is) -

(a) ?T&q-&ff\ﬂ-l'ﬂ@ (goal-oriented) (b) B%'-‘Zq - fo\ﬂ-lﬂ"@p[ (objective-oriented)
() AFRIS Ufshar (mental process) (d) B’C@?ﬁ Tt (all of the above)

29. fawmg %idqu'-l & d%(-‘zq % (Objective(s) of sales promotion is/are)
(a) :Ef?ﬂﬁ AT BT T (to introduce with new product only)
(b) AT UTgh TN Wﬁ%ﬂﬂﬁ (to attract new customers only)
(0) gfaegi &1 Waﬂe{%ﬂqﬁ (to counter competitior only)

(d) E:I'ﬁfﬁ Tt (all of these)

30.HRT H IUHIET TR0 SHHaH gyt % (Consumer Protection Act is effective in India
from)

(a) 15 3, 1986 ¥ (15th April, 1986)

(b) 15 35, 1987 F (15th April, 1987)

(©) 15 3@, 1988 (15th April, 1988)

(d) s:nﬁ‘rﬁé :%T(None of these)

PART-B (#11o1-q)
(Subjective Type) (fruifers west)
Section-A (Jos-A)

3rfer o 3AAT WA (Very shortanswer typequestions)

Answer any Six questions- Answer the questions in one sentence each-

fpdl & Yol & IAR S| URAPB U Bl I Uh i H AU
31. U§Y D1 TRHNT SIfor| (Define management.)
32, {5 UbR & ASIAIET H alg dUT TAdhB AT ol IR I8l 82 (Rumours and

distortions take place in which type of communication?)



33. 39 3MAnT fbaq SUU doh & faarei WWWW%? (State commission redresses the
grievances upto what amount?)

34, JIUHIG I T &IT‘\TI'J%? (What is meant by consumer?)

35. DRUMST o qo UHR feRd | (Write the main types of Incentives.)

36.?[@7135[%%3? & HATIT STdT 82 (When is National Consumer Day celebrated?)
37. USY BT &rﬁﬂmﬁqm%v (What is the last function of management?)
38. =0T § 3T FT THIIA &7 (What do you mean by Controlling?)

Section B
(Fvg -B) (Short answer type questions)

(67g 3T uea)

Answer any Six questions- Answer the questions in maximum 150 words each.
fhedl & Ul @ IR | UAB Ued B AT 3Mebdd 150 @ H <

39. TG AISHT HI D5 & [ARIWATE HaY & JHIRTI (Explain in brief any two

characteristics of an ideal plan.)

40 AU TEIYU 6l GRUINT B3| (Define Informal Communication.)
41. 3o fgdl @7 JRem g IuHEaesl & fHwl & IWaddl &t Jau o IR

WI(Explain, in brief, any six responsibilities of consumer to safeguard their interest)

42. JAGHI qUT A & forg foqmu= & el &1 e aule BT (Explain briefly the

benefits of advertising to manufacturers and society.)

4374 qur uddemr #  efyg  ®ISWI(Distinguish  between 'Direction’ and
‘Supervision')

44. UpTSiT & Haf &) ford | (Write the functions of packaging.)
45. IUHIFdl & Fafafad sifiteRl &1 JHsy | (Explain the following rights of a

consumer)-

(i) R&MT BT SHYDBR (Right to safety)
(i) IS 18 &7 SHR (Right to Consumer Education)

46. ST G0 & T A &7 (What are the advantages of Budgetary Control?)

Section-C (Jrvs-C)
(Long answer type questions)

@& i uea)

Answer any four questions. Answer the questions in maximum 250 words.



el TR TSl BT ITR & | USSP Ul bl Ia2 3ifebdd 250 9K & < |

47. "HHAY Yd¥ h[ IR %I" HT 3T $H‘{-\| <16 Hd %? HRU IdISUI (“Co-ordination is the
essence of Management.” Do you agree with this? Give reasons.)

48. 'fAIUT ST AU 2 1," T U 5 HUT T gHd 27 30 IR & i § dRUT

ddIgUI" (It pays to advertise." Do you agree with this statement? Give reasons in support
of your answer.)

49. fauur fargor & dal o1 9ule B (Describe the elements of marketing mix.)
50. FHTERITEH Add & ol Udh Uaed H HIH-BHI I 01 814 MT?( What are the qualities a

manager should have for effective leadership?)

51. JefIehRT T AT MR g2 IihRr &bt qReg faRrerarsit &1 quiH ST (What is meant by

Globalisation ? Describe the main features of globalisation.)

52. THIGRITSN ﬂ'aglalé:l 1 faftrer sreneit &1 gui= WI(Explain various barriers to effective

communication.)
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Class — 12 Subiect — BMT F.M.-80 Time — 3 Hours
(@i—12) ject= (quri®—80) (THa—3 ®e)

INSTRUCTIONS / frd=r:

1. Examinee are required to answer in their own words as far as practicable.

qreTreft Jomig e Trssl H B S9N < |

2. This question papers have four sections: A, B, C and D. Total number of
guestions are 52.

9 UIUS W IR WU — A, B,C Ud D & | A U DI GEAT 52 B |

3. There are 30 Multiple Choice Questions in the Section A. Four options are given
for each question, choose one of the correct options.

wUs A H gl 30 dgfddedid Ug €| P U @ TR fddbed feu v €,
34 O TP el fadbed &1 au" HIfvIg |

4. Section B — Question numbers 31 — 38 are very short answer type. Answer
any six of these questions. Each question carries 2 marks.

€Ug B H U WAT 31 — 38 JAfd g IO YL 2| SH A [hTl B
Ul & SR QI | IS URE @l A 2 Sid a7

5. Section C — Question numbers 39 — 46 are short answer type. Answer any six
of these questions. Each question carries 3 marks.

EUS C H UXT AT 39 — 46 oY SR YT € | 37 9 fhg! vy wedl
& SR ST | Uhh U BT A9 3 3 fuifRa 2

6. Section D — Question numbers 47 — 52 are long answer type. Answer any four
of these questions. Each question carries 5 marks.

WUS D ¥ U AT 47 — 52 <l SR U 2| o0 ¥ gl IR
gl & IIX SIOTT | Uhd U Dl A 5 3idh feiRa 2|
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10.1fA=

Section-A (TIvs-®) (1x 30 = 30)

. Which is the 27" term of the sequence 5, 14, 23, ............. ?
3T 5, 14, 23, &1 27af ug fAifda # I 7 2
(a) 239 (b) 100 (c)101 (d) 900

. Inan A.P. firsttermis 1 and last termis 11. If the sum of n terms is 36, the value of
n will be :

T AHICR S6l | U8l U 1 & 3R 3ff<aH U 11 © | IS nU&l &1 I17 36 Bl n &l A
R :

(a) 10 (b) 7 (c)6 (d)5

. The third term in G.P. is 4. The product of first5term is :

Teh TUNIR 161 § ARRT U5 4 € | 39 U2 5 Ul &l JUhd & —

(a) 256 (b) 2,048 (c)512 (d) 1,024

. If p, = 2,730 then the value of r will be :
afe Pp, =2,730 8T @ r &1 HE BRI —
(a)3 (b)4 (c)5 (d)6

. If"cy2 ="cgthennis equal to:
g "C1 ="Ccgdd N IRTR %\, ]
(a) 20 (b)12 (c)6 (d) 30

. How many different word of 2 letters can be formed out of the letter of the word
CAT?

CATHIE & 3MeRI A 2—2 eI & o HIE 99 Ahd © 7

(a) 8 (b)6 (c)3 (d)2

. If"P3=60then the valueof nis :
Ifg "P3=60, @I N BT A9 28—

(a)3 (b) 5 (c)9 (d) 20
53

. The value of 5x 5

(a)o (b)1 (c)5 (d)25

. Inarow matrix, the no. of row is :
e e ¥ dfdcal @ | g © )-
(a)1 (b) 2 (c)3 (d) None of these (37 & ®Ig 7=21)

3 1],3— 4 7

7 6 =g 2],thenA+B:
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HT%{A=[§ é],B=[§ Z],sﬁA+B .-

12 7]

35 12 > 1)

ol o @ 7

11. (IfA={a, b, ¢, d}, B={b, d, e, f} then the value of A n B will be) : If uniVersel set
x ={1.2.3...20}

e A={a, b,c,d.},B={b,d,e, f,}aT ANB
@{a b,c,def) (b){b,d} (c){d,ef} (d){c,d, e}

12. If A={p, q,r,s}, B={q, s, t}, C={m, g, n},then the value of C- (An B)
ak A={p,q,,s},B={q,s,t}, C={m, g, n},a C-(ANB) &I A BN

37]

(a) 5 6

(d)

(@a){m,n} (b){p,at  (c)(r,s} (d){p, r}
13. The differential coefficient of 3x* w.r.t. X will be:
X & WTUeT 3X* BT Sfacher ol BN -
(a) 16x (b) 16x° (c)12x? (d) 4x3

14. Ify =2 log x then Z—z is equal to:
afs y=2logx ar Z—z RR 2
(a) X (b) 2 (c)o (d) 2/x

15. [(2x+3)° dx=?

6
(a) (2x;—3) +C

2x+3)*
@x+3)* |
8

(b) C

(2x+3)°
() ——

(d) NOne of these (z75 & @Is =18l)

16. The best measure to central tendencyis A.M is it true ?
BRI Ui BT FArH AT TR AT 2 | T I8 9 © 7

+C

(a) yes (b) No

17. Mean of 5, 8,11, 16, 15 is:
5,8, 11, 16, 15 BT ALY &
(a) 10 (b)11 (c)12 (d)13
18. Median of 80, 100, 90, 170, 60, 50, 40.
80, 100, 90, 170, 60, 50, 40 &1 ATfEIHT & —
(a) 80 (b)170 (c)90 (d) 60
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19. Median is:
AP 2

(a) Most frequent value, Fa¥1 21 qR T dTelT AIH
(b) Least frequent value, e &H IR 1 dTell AT
(c) Center of gravity, T &=

(d) Middle mostvalue, = &1 A4

20. Mode is:
AP &
(a) Most frequent value, Fa1 21fefd IR T dTelT A9
(b) Least frequent value, st &1 dR T dTell A9

(c) Middle mostvalue, &= &1 A4

(d) Representing majority out of total frequency, % IRWR H Fditd & FHROT B

21. Which of the following is true?
ferifdhd § ®F—a1 I 87

(a) Mean= 3 Median —2 Mode, Areg =3 HTfEgdHT — 2 IglD
(b) Median = 3 Mode — 2 Mean, H1fed®T = 3 dgeld — 2 A
(c) Mode = 3 Median —2 mean, 98 = 3 HAIEIHT — 2 AEY
(d) Mode = Mean + Median , 9gcie = Y + Hifede

22. Which of the following relationship is correct?
71 % ¥ PH- e T8l 27

(a)A.M.= V/G.M X H.M. (b)H.M.=VA.M.X G.M (c)G.M.=+/G.M.x H. M.

(d ) G.M =A.M+H.M.

23.The geometric mean of two number 8 and 18 shall be:
3T 37T 8 3R 18 BT UK AR BT

(a) 12 (b) 13 (c) 15 (d) 11.09

24. Least square method is used for calculating trend:
AqH I AT BT TIRT IUAT 1 B B g fam S &

(a) True, &21 (b) false, Te/@  (c) Both (d) None of these
25. The mostimportant factor causing seasonal variations are:
AT fATRTT BT I B dlel Fa AZ@Yol HRE
(a) growth of population, ST gig
(b) change in fashion " ™ # uRad+
(c) weather and social customs #1H iR amTfae dfaRars
(d) technological improvement de=iifds geR
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26. The probability of drawing a red ball from a bag containing 4 red and 5 white balls
is:

4%6%5Wﬁﬁaﬁwﬁﬁﬁﬁwwdﬁﬁﬁmlwaﬁmﬁw%‘:
(a) 4/5 (b)3/5 (c)1/5 (d)4/9

27.The probability of 53 Sundays in randomly chosen leap year is:
T TGS AT g MY If—azt # 53 IfdaR B Wiiehdr &
(a)3/7 (b)1/7 (c)2/3 (d)2/7
28.Inasingle throw of two dice the probability of getting a total greater than 8 is:
T U U R Bdh R 8 3 31f&d ART U 8 & Wiiddr &:
(a) 8/36 (b)12/36 (c)5/8 (d)4/16
29. At the time of interpolation continuous series is not cumulated under:
ORIV R a9 Faq #oft &1 . el <81 9917 ST &
(a) Binomial expansion method fgug fawar afq #
(b) Netwon’s method =g fd #
(c) Lagrange’s method <Rt afa #
(d) All the above S a1 #

30. Binomial expansion method is based on:
fgue fawar Ofa smenRa &:

(a) Multiplication theorem v W W
(b) Additive theorem I I W)

(c) Binomial theorem fgue v W

(d) None of these 37 & P =&l

Section-B (EIvs-4) (2x6=12)
31 fA"Cy =5 x"P3A N BIHAFADI
[f"C4 =5 x"P3, find n.
32. 9 fA1ferd (Evaluate)

5 10 8
‘ 4 3 2 ‘
7 9 8
33. A AT @ (Integrate)
I dx (x<5)
25 —x2 X

34. 52 ORI AT RIS U TG & U I o Wie ofF 1 TG R g 2

What is the probability of drawing a Queen in a draw from a pack of 52 cards?
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35. UH ST GRI 3G, 10 Ud i=ma § UTedieh shHRI: 75, 92 TUT 49 § Al SUHT 3HRId UTdich
AT |
The marks obtained by a studentin English, Mathematics and Economics are
75,92, and 49. Find its Average score.

13
—32

37.4f¢(If)A={3,5,7,9},B={6,8,10}dI(then find) A U B I@ &I

36. TR (If) A= [i |dra" s (then find A')

38. If Aand B are two events such that P(4A) =1/4, P(B) =1/2and P(ANB) =
1/8, then find P(not A and not B).

afe A iR B a1 &Y "eard %‘fﬁﬁP(A)=i, P(B)=%3ﬁ?P(AnB)=
1/8 @ P( A-&l iR B-7&l) s BIfvTg |

Section-C (TIVs-) (3% 6=18)

39. gfe; fareftamTaR oft &1 8 AT 3R 25 9T UG HH: 15 3R 49 § Al Uga U 3R TR JTd I |
If 8" and 25" term of an A.P are 15 and 49 respectively then find its firstterm and
common difference.
2 6 .
40. AR |2 S]Zﬂagc—m*nrsnﬁﬁ|

. . . [2 6
Find th f Mat )
ind the inverse of Matrix [3 c
41. 520 TfFT b THE | 360 Had [g-atadl 130 Had ST SId Tohd ¢ | foha aafad iR} 3R 3l gt
EIGK K
Ina group of 520 persons, 360 can speak only Hindiand 130 only English. How many
persons can speak both Hindi and English?

42. x & gogf sfama i (Differentiate with respect to x).

(x—=3)(x+2)
X

e(n—-1)
I T dx

44. THfGT4 B 3 A TS AT § SR gaRT e 3 1 ¥ 2 Fm wEt aemrar g | afe gl € aofaa e
1Y U B ol 9180 b WG YRIehdl Td Bifoid |
A personis known to hit the target in 3 out of 4 shots, whereas another personiis
known to hit 2 out of 3 shots. Find the probability of the target being hit at all when

they both try.

43. A A (Evaluate).

Page 6 of 7



45. T TSN BT AR HIed 10 T 3R ITBTUNRR HIE 8 § al S1hT exIHD HIed I1d Iy |
If Arithmetic mean and Geometric mean of two numbers are 10 and 8 respectively,

find its Harmonic mean.

46. 8 3R 11 3R T UL ATe Fehmed |
Find the G. P. of 8 and 11.

Section-D (TIvs-H) (5 % 4 = 20)
47. ﬁgéﬁﬁ@rﬂmmm

Calculate median from the following data:

UTdish  (Marks) : 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45

TE P e 6 5 18 10 5 4 2 2

(Number of students)

48. BT Ji T §2 HTT 0T fIRATUT BT A Pl ARSI |

What is a time series? Explain the importance of Time Series Analysis.

49. fAg AT dahTa Sita &1 aTfes! 100 0 I & for famar T &:

The following table shows the value of an immediate life annuity for Rs. 100 paid:

39 aul | 40 50 60 70
(Ageinyears)
aMYBT (Annuity) 6.2 7.2 9.1 12.0

42 98 31 3G S g aitie! Fasivm|

Interpolate the annuity for the age of 42.

50. HG A @ (Integrate)
(i). flogx dx  (i). [ xvx—1dx

51. 545545554 0 miireereeeeen. n Uc) de BT TR JTd B |
Find the Sum to the n terms
54554555+, n

2

52. Find the differential coefficient of function xle.
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ENTREPRENEURSHIP
CLASS XII (2024-25) MODEL
QUESTION PAPER

TIME: 3 HOURS MM. - 70
GENERAL INSTRUCTIONS:

(i)

gdtermeff Tergaid 3Mdet erecl A 3d¢ ¢l / Candidates should answer in their own
words as much as possible.

(i) Taft usat sifatare €1/ All questions are compulsory.
(iii) opes UGl bl & 48 €1 [ Total number of questions is 48.
(iv) 9851 &1 1 & 25 dob dgfacbedta st €1 Ycdch Ul & dTe fadbey Ot I1E g1 et

fAded BT Tl del T TS &b ST 01 3idh fareffed €1 / Question numbers 1
to 25 are multiple-choice questions. Each question has four options. Select
the correct option. Each question carries 01 mark.

(v) USaT TT 26 & 34 dch 3ifd &Y IANT Usel &1 SoTdl & fdvogl 7 UGl bl 3L Gall

sifataref g1 Tddh UssT & T 01 3 faelffed g1/ Question numbers 26 to 34 are

very short answer questions. Out of these, it is mandatory to answer any 7
questions. Each question carries 01 mark.

(vi) UaT ST 36 & 42 A Y AT U gl gaidt & fobogl 6 UGl Wbl I Gall

3ifotaref g1 U s UeaT o fT 03 3iah farerffed €1 / Question numbers 35 to 42 are

short answer questions. Out of these, it is mandatory to answer any 6
questions. Each question carries 03 marks.

(vii) T%eT TST 43 T 48 dd i IACtT USS gl Soid & fdhog! 4 Usall oI A< Coll

3ifataref g1 U Usal & fBT 05 3iap fareffed €1 / Question numbers 43 to 48

are long answer questions. Out of these, it is mandatory to answer any 4
questions. Each question carries 05 marks.

Q.N.

QUESTIONS

MCQ

“In a partnership form of business, each partner can bind the firm and other
partners by his/her acts.” In the context of this statement, identify the essential
feature of a partnership business organisation referred to and choose the

correct option: | "SGRl SIAHTT &, U ATSIGIE 3HUal DBIAT gIel Wha 31T 3T
TTSCT! bl e doe Thdl gl 5 heel & sl A areierdt suadrd ditoe ot 3d
3TTeTD fAeITdT ohl UgdTel doe 31 Tel fAded ol I e

(a)Implied authority / faifgd sifelare

(b)Utmost good faith [ T2 TAGAHTTSTT
(c)Mutual agency [ Ug&e Tuid]
(d)Separate legal entity / Jeidh hlclolt 3fedcd




Sudha Dairy Farms have been in the business of processing pure ghee using
the ‘Bilona technique’. The cost per kilo of ghee comes out to be  2000. The
owners have estimated that a reasonable profit margin will be 25%. So, they
have decided to sell the product at Z 2500 per kilo. | Toldfc3T STt W1 eIl
ddhofich’ Tl 3TN hedh 2les Hf bl Yeideheul dhe 2g gl Hff bl Ufd fhes! BITd e 2
2000 3(TdT &1 AP of TG AT BINMAT & fob 25% I8 ATfotal IULTh TN ST
Jogiol 581 T 2500 Ufd fobes! daret o foiufar fesarm &1

Which of the following is a drawback of this pricing strategy? / foldoifosfEd & &
ol 2l 58 oo ferfeur Turefifa ot Tab et g2

(a) It attracts only the bargain hunters who switch to other brands if the price
rises./ Ig HAc 3ol ATgh! I HTBAd dHedT g Uil Eeardit Tee ded & 3¢ hiard
§Gol UE 37e Sl < 3i1e Ted Td &l

(b) Is not a viable option if there are strict legal and government regulations./
fe & Dlofoft 31C HehIel fodel S gl dl g Teh ATagIfeeh fddhed gl gl

(c) It does not take into account the competitor's pricing and actions./ Tg
Ufdeufefal & Ao forelfeur 3iie IoTds dhadil ol &dTel 3 STat Zadl|

(d) It leads to a series of counteroffers that sometimes result in no sale./ Jg

s vfayedidl i fRIfd Icioat ded g, Tl dafl-phaft fadht A fdwhes &l ord &l

Which of the following plans helps organize work to clearly form an idea about
the plan layout? / faldaTf3fEd & & diol- 2t AluTell Bl bl 58 dde A Tdied
ol A IEg hedl g fob Bl SUtT U & TNoTell H3MT3C &b a1 A fATe dofl Hb?

(a) Operational [ UfdTTesel

(b) Production [ 3dTeol

(c) Marketing / faquTet

(d) Financial / fadta

Codes | dls:

a) Only 1/ Bhdc 1
b)2and 3/23fE3
c)land 4 /13T 4
d) Only 4 / &dc 4

Under this franchising model, the manufacturer authorizes the store owner to
distribute goods produced under their brand name. / 88 WATSAIT HAlges b dgd,
fotarfdT eeie HTfcsah hl Joldh §ig STl & dad falfaid dfles fadfdd ool bl 3ifeiehTe G &l
(a) Product franchise business opportunity / 3cT¢ WTgel TN Bl HAHT

(b) Manufacturing franchise opportunity / fTafaHf0T ShaTset 3T

(c) Business franchise venture | ST $dTSu 38

(d) Business format franchise opportunity / ST UT&Y thdTsel 3T




Sam, an MBA student at Quantum University, reads about a principle stating that
80% of a business's profit comes from 20% of customers. Help Sam identify this
principle. | &, Wl odicd gfotafdicl & THEIT b1 B14 g, T [degid o a1 # Uadl &
foTerdt oheT I1aT & 1o faseft T BT 80% 187 20% ITEHI & 3HTaT &l & i AGE B
3¢ g fdeid ohl Ugdel &el

(a) Profit principle [ 181 f&egid

(b) Pareto’s principle / el oI fdesid

(c) Harley’s principle [ gT¢3 ol fdesid

(d) Smith’s principle / f&te &7 fdesid

Codes [ is:

a) Only 2 [ &dds 2
b)land2 /1322

c) Only 3/ &de 3

d) All of these [/ O Haft

_ Routing is an element of which component of a business plan? | &I gadrT
ToTeTT o fdsdl Tcdh bl T dcd 87

(a) Production [ 3dTcel

(b) Operational plan / GfédTesel AT

(c) Organizational plan [ EIT&6TTETd TloTell

(d) Financial plan / fa<fla gioter

Which of the following is not a component of a financial plan? / faldsifafEd & &
PioT-&T facl T ANAeT T ITh oTg! 8?

(a) Economic and social variables [ 3f1fefe 3ie ATATA® T
(b) Follow-up / 3feladf

(c) Break-even analysis | Sob-gdol fd2cyyuT

(d) Proforma investment decisions |/ 9T foldel faufg

Alig, running a homemade papad business in Pune, struggles to introduce new
flavors due to limited financial resources. Which characteristic of her business
does this highlight? | 3MTfeSdT, Tl YUT & T T doll UTUS SIS ST 2al g, Eifdd fadia
TS b BILUT ol Tevae Uel ool A e dhed! gl Ug fRIfd 3dd oaadmd ol dier-2ft
faeryar & gerfdt &2

(a) Individual management and control [ &fchITd Waele 3¢ foldzor

(b) Easy formation and closure | 3T&TaT IGeT 3{12 EHTUST

(c) Limited area of operation [ HifAd ddresal &7

(d) Unlimited liability / 3rftfdd ¢aar




From the given data, calculate the economic order quantity (EOQ) for the

company. [ &t ITE GITeTeh et & 3MMEITE UL, st ob fST 3Mfefeb 3iméel A (E0Q) it
I[UTeTT el

e  Costof product = 12000 units at Z1000/unit / 3cTE bl BMTd = 12000 Jfoic Ufd
gfele 21000

° Cost of ordering = 500 per order | 3{fe¢ BT = 500 Yfd 3iee

° Holding cost = 2300 per annum [ TEZETT BITd = 2300 gfd aef

Options [ fdde:
(a) 400
(b) 250
(c) 300
(d) 200

10.

Hargold Company continuously improves its bread range and introduces new
variants like atta bread and garlic bread. What is the source of their idea in the
market? | gJlfcg chYafl SITTATE 3Tl §IS 20T o EITE ohe Zel & 3112 31T 88 31T 5gdlal 88
SId o6 Afdte el ohe 2gt &1 aTotTe & 3o1dh faaTe T 2iid ol 82

(a) Market driven [ SToTIE Ufed

(b) Creative efforts | Tl D TATH

(c) service driven [ &ar 9fed

(d) Natural resources [ UTdhfdd datere

Codes [ is:

a)land 2 /13T 2
b) Only 2 [ Bdcs 2
c) Only 3 / de 3
d)3and 4 /33T 4

1.

Hargold Bakers produce 50 cakes daily and sold 49 cakes on Monday with a

gross profit of 21200 per unit. What were the fixed expenses of the bakery? /

gIlfee Sbef Ufdfcal 50 dhab Tolld & 31T &IaTdTe ol 49 dheh Sddhe Ufd gfele 21200 T
b5 I fAid dhed gl dobdl & fafdd &rd ot 7

Options [ fddeT:
(a) 257000
(b) 224480
(c) 258800
(d) 259000




12.

The element of the financial plan that describes how the enterprise funds will be
allocated to different assets so that the enterprise can earn the highest possible
return is known as: | TaT JIoToll BT 9 dcd il Ul doedl & fas bl 38T & &l Pl

fafetoot ufedufaal & sdfed foar AT difds e ifecbddl Feid w187 hall ddb, 3

HET AT &:

(a) Investment decision /[ faiaer faiufa

(b) Financing decision /[ faaaiyu feiufy

(c) Income statements / 3 fdaeor

(d) Cash flow statement [ oTdhdt UdTg fdaeul

13.

........... indicates the percentage of return on total capital employed in the
business. [ ... ST 3 opos fordel Yuit Ue Ufderd arueft ol sfitd dhed 8l
(a) Unit cost [ gfele BT

(b) Return on equity / gfaact ue arueft

(c) Average cost [ 31dd BRI

(d) Return on investment [ faldel ue aruett

14.

Which of the following is an advantage of issuing shares through a ‘Rights issue’?
| TTECH §eY o ATLIH & 21T At thial bl foldatiosiedd 3 & dlal T BT §?

(a) Itis an inexpensive method of issuing shares. [ Tg &1I¢ HTdl ot i ded! fafel
gl

(b) It leads to higher employee motivation and lower labor turnover. | Tg 3
SIS U 311 BH A UBTIST & b Il Foldl gl

(c) It results in higher valuations of companies and better prestige. [ Ug Ufardl
& I Aeichal 31 dgde UfATST bl BILUT doldT &l

(d) This method helps in maintaining confidentiality. / Ig fafel Musitadr geie
Z&ol 3 AeE ded! &l

15.

Given below are assumptions made by an entrepreneur in the breakeven-point
analysis for a multi-product business. Identify the correct pair of assumptions: /

ofld 9g-3cTe T & fAT dob-gdof fag fdeauur i Teh Ieraft grer bl I1g emeunt <
0TS €1 ITEl wiigt ot ugaTel ohe:

(i) The proportion of the sales mix must be predetermined. [ fach! fAS0T BT
3reuTd Ydfaterffed glatr anfael

(i) The sales mix must change within the relevant period. / faicht fagror ot
U Th 3fafel &b aftde decsatl aIfet|

(iii) All costs can be categorized as variable or fixed. [ &8t STl o1 Ufdadf
a1 fRre & U A a9ffpd fasar ofl FehaT 8l

(iv) Sales price per unit, variable cost per unit, and total fixed cost are
calculated as per the forces of demand and supply. / Ufd gbrg fach! e,
Ufd gobTs ufdadt Td, 3 B 312 BRI AT 3112 3TYfd ot dicbdl & 3feldre




ITOTaAT ot ATe! &l
(v) All units produced are not sold. / &aft IcTfed sehTsl bt facht oTal gidi &l

Choose the correct pair of assumptions: / @&l Tigt Tot:
(a) (i) and (iii)
(b) (i) and (iii)
(c) (iv) and (v)
(d) (i) and (iv)

16.

Identify which of the following is NOT a current asset for a furniture manufacturing
unit: / TgdTal fob foldolfe3faid & & hiol Woflae folaffur gehle o fST dTey Ufedufd ofal &
(a) Debtors [ ¢alcre
(b) Outstanding expenses [ ShTAT T
(c) stock of tables and chairs [ S&c5 3iie BT BT Tl
(d) Short-term investment | 3[cUdblfcseh folder

17.

g J— acquisition, the purchasing company becomes a subsidiary of the
purchased company. | ........ HTERIEUT &, Tdiare Uit &dtdl I1e dhucit ot g
chUof dof oilet gl

(a) Friendly / dzfiquf

(b) Reverse [ 3cCT
(c) Backflip | Shftresq

(d) Hostile / ergdmgof

18.

Firefun Limited is an electrical appliance manufacturer and has introduced a
new induction cooker that minimizes electricity consumption and can also run
on backup battery power. The production team has begun manufacturing, and
selected customers will soon receive samples to assess the product's reliability
and quality. / TBRITHS fTACs T faegd 3UdheuT faidfdT & 3i1T 3&6 Tah ofdT S8a=ldl
Pobe Uel T g 0t f[duiest ol JUd bl dhdl thedl g 312 9Tt dohard U oft I achal
gl 3dTeel 2T o foafur e[ ohe feam € 3¢ viex & ol IC ATEh! Dl ITS ol
fasyereflardT 3iie IUTerd ol 3fTdhe3ol ol b ST ofdfal fGT HTea|

Which idea generation field is highlighted in the scenario? / & Ufdeed & Dol AT
faame 3@fd &7 3WPTE g3 g?

(a) Service-related [/ ddT-&dfed

(b) Market driven [ SToTI2 Ufed

(c) Natural resources [ UTdhfddh ddTelol

(d) Creative efforts [ TdoITcH b TITH




Tina is a young entrepreneur who started selling handmade hair extensions

*© online in 2010 after identifying a market gap. She observed that many girls
faced hair fall problems and discovered the high cost of hair extensions. She
started her own venture using real hair and sold them at affordable prices. /
2iell Teh gar 3eat & fidel 2010 & 3ifeiesTgal gedfaidid dlcs Tardcerel ddel dhl hid
e[& fohdl 3&at ST fob o efchdl ol Tle> STgal ohi HASIT I Aol cheall Uedl &
3fte araT fds dTcs Taercels 9gd Ag9 €1d &1 SefoT 3eet 3eedt alesl & Taeicersl
Jollohe 308 ded chidrdl U adell e& fabdnl
Which aspect of environmental scanning did Tina utilize? /[ €lell o gafaeu]
&hToi9T o febel Ugeg bl 3udVT fhar?

(a) Better performance [ Sgd¢ Uqefel

(b) Grabbing opportunities from the market [ STGITE & ALl DI Udhgall
(c) Resource allocation | d&TET 3Tdcol

(d) All of the above | 3uelh et

20 | Marshall Company, a skincare product manufacturer in India, plans to expand
to the UK. To fund this expansion, they secured investments through a television
show where entrepreneurs invest in innovative ideas. [ #Tefe> UGfl, Tl 8iTed &
AT SHHTS TG Falldl 8, Ib 3 fATdTe deat bl ATutoll §all 2et &1 5 fdedie & BT,
Jogiol Teb Salfautal eff & HATeddl & fotder Ured fasdr, oTgi 3erefl o7t 3ie sTarardt faamel
3 folder ded 2l
Which type of funding did Marshall Company utilize? | #Tefes soUeft of fdsd YebTe
I TSI BT 3T fosar?

(a) Public issue | &Tduifeids g8
(b) Venture capital [ 3&re Yot
(c) Borrowing [ 3¢ITE el
(d) Angel investors [ Tules folderdh
o1. | ldentify, which of the following is an advantage of issuing shares through a

‘Rights issue’? [ TTScd 5o o ALY & EIIe Uilel dhdal I foldolfosfead & & iol &l
T g2

(a) 1t is an inexpensive method of issuing shares. [ Tg &AL GITdl ol i et
fafer gl

(b) It leads to higher employee motivation and lower labor turnover. [ Ig 3
AT U2UT 3112 Tt 9/aT UHTIe G bl BIeUT JeidT &l

(c) It results in higher valuations of companies and better prestige. [/ Tg cufadt
& I Hodichel 31T A5 YA b HILUT doldl &l

(d) This method helps in maintaining confidentiality. / Ig fafel MYsfiadr geie
2HIol 3 AGE dhedl &l




Pizza and soft drinks like Pepsi are not the same products but cater to the same

2 industry. To expand its soft drink reach, Pepsi merged with Pizza Hut by making
it a subsidiary. The above is an example of: [ TUwal 3iie Ut wid Ao faad
ATl 3G STl & ofdbel Th &l JeWT bl AdT hed gl 3Ual Hie f3ch Iddd bl
faedre el & 5T, Uueft of fUoudl &2 ol 3Usfl HEIeh st delldhe faesd ahe fedT|
3Ucich fa &bl 361820 82
(a) Product Extension Merger [ 3dTc, fdedre faed
(b) Vertical Merger | $eafere facsg
(c) Horizontal Merger | &ifdw faesa
(d) Market Extension Merger | STuTE faedTe fded

23 | What creates perfection in the market and increases the volume of sales and

profit? [ STGITE & Icheedl Ual chedl & 3i1e faht 31T w18 ot T2 Saldr &
(a) Marketing / fauuTel
(b) Flotation | Trealcere
(c) Innovation [ STdTTe
(d) Location [ ZRITeT

24-| The characteristics of a company include: / T Uit i faaTarsil & enfee &
(1) Common seal | BidA Hid
(2) Perpetual succession [ ddd 3deifelehle
() Limited liability / &fifatd ¢adr
Choose the correct option:

(a) only (1) / 95aes (1)

(b) Both (1) and (2) / (1) 312 (2) gt

(c) only (2) / oae (2)

(d) Al (1), (2), and (3) [ @aft (1), (2), 3T (3)

25.

Which of the following is an element of sensing opportunities? | faldeifc3fEd & &
ol eS| Bl UgdTolol ol Teb dcd 87

(i) Insight into the change [ Ufdddol dht &aTaT

(i) Knowledge of competitors [ Ufdeufefat T SiTel

(iii) Ability to perceive | TTeTal bl &faTdl

(iv) Laziness of entrepreneurs | JEfAAT &1 3T5EIdIChoose the correct option:
(a) only (i) / e (i)

(b) only (iv) / &de (iv)

(c) (i), (i), and (iii) / (i), (i), 3 (iii)

(d) (ii) and (iii) / (ii) 32 (i)

3ifd &g 3T usat




26.

What is the importance of environmental scanning for a business? [ foreft
T & TS YATaeuT ShiolIl ol ged o 82

27. | Define "idea fields" in entrepreneurship. [ JEfAdT & "3Tef3aT Hlegd” bl ufdafid
&

28. | What is the purpose of a financial plan in a business plan? | T Aloiell &
faeft oToT o1 382 T 82

o9, | State one advantage of franchising for the franchisee. / ShaTsufterdt & o
UhTS (AT T Toh 3187 JIdTC |

30. | Mention any one method of issue in the primary market. / TTefAeh ST & 2lae
TSt ool ol T fAfe Tl

31. | What is meant by "Return on Investment (ROI)"? [ "faider ue arueft (RoOI)" &1 o
3ref g2

32. | Define the term "merger.” | A" elec ol UfRHTST e

33. | What is meant by branding? / S8 &1 &I dAdcsd &7

34. | State one key difference between public and private companies. [ ATdfaich 3712
foroft Shufarat & o T A& 3ide ddTt|

Short Answer Type Questions

35. | Explain the concept of opportunity and market assessment with an example. /
AT 3H1e TTUITE Hoidhol ohl AETZUT bl Teb IcTgeuT ob T HAAC!

36. | What are the advantages of a sole proprietorship as a form of business? /
AT & &Y 3 Thallol edlidicd o 18 Tl 82

37. | Discuss the importance of a marketing plan for a business. [ fdbefl STadT & ST
faqUTeT ATACIT &1 Hgcd Idf el

38. | What are the advantages and disadvantages of venture capital? [ dde GRS
b w181 3¢ gifal T 82

39. | How does inventory control affect the profitability of a business? [ geded! fald=u]
AT bl Blevcdl Bl chd Taffad dedT 82

40. | Differentiate between "angel investors” and "venture capitalists.” / "Golcs faidelapl”
31T "due Yufiafaal” & 3ide el

41. | Discuss the role of promotional strategies in enterprise marketing. / 3&d faUuTel




& gare ZuTefifad ot affatant ue <rf &l

42.

Explain how mergers and acquisitions help in enterprise growth. [ &g 3T

3IfEITEUT 3Ed dfes; A bl AGe dhed &7

Long Answer Type Questions

43.

Explain the steps involved in sensing and evaluating entrepreneurial opportunities. /

Serdefles 3Iaeel ol Ugdlalel 3 Hoidhal chiol chi UfchdT & LU ohi TS dhe

44,

Desctribe the various components of a business plan. [ ST TTuTell & fafaleol Ted] ol
qufof &

45.

Elaborate on the concept of break-even analysis with a numerical example. | Sb-gdal
fAec5HUT &t 3{TETEUT Pl Th HEITIHD 3C1geul & AT fdedre & HAeC!

46.

Discuss the various marketing strategies involved in enterprise marketing. / 39 fauuTef &

enfdes fafeiest fauuTel 2utesfifadal ue Taf el

47.

Explain the concept and types of franchising, along with advantages and limitations. /

5T ot AT 3T UdhIe! ol 3aTah oaTaf e i3l &5 &ATel TST|

48.

Discuss the features of Angel Investors and Venture Capital as sources of finance for a

new enterprise. [ 5T 38 & o5C fod b &ild &b &U A Toles fardeld! 3iie dae Yoft & faaiudrail
Te Idf &

Answer
1. (c) Mutual agency [ Gg&ue Tuiefl
2. (c) It does not take into account the competitor's pricing and actions. [ Tg
gfdreafelal & Ao foterfeur 3iie 3oTch dhedil i eTel A SIgt 2dll
3. (c) 1and 4/ bacs 13T 4
4. (a) Product franchise business opportunity / 3T thTgul SId&Td BT AT
5. (b)1and2/13iig2
6. (b) Operational plan / UfddTcsel TTeTalT
;
8
9

. (b) Follow-up / 3fefadt
. (c) Limited area of operation [ &ifAd el &7
. (a) 400
10. (a)land 2 /1322
1. (b) 24480
12. (b) Financing decision / faaaiyur faufg
13. (d) Return on investment / falder ue araedt
14. (d) This method helps in maintaining confidentiality. / g fafel IMusftardr e ¢aiet
& G e Bl
15. (d) (i) and (iv)
16. (d) Short-term investment / 3[cUdhIfosad falder
17. (b) Reverse [ 3cCl
18. (b) Market driven [ d1oT1e Ufed
19. (b) Grabbing opportunities from the market / STHTE & 3{ddel bl Udhgal
20. (b) Venture capital / & ot

21. (a) Itis an inexpensive method of issuing shares. [ Tg &I G1d deal chi et fafer gl
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INSTRUCTIONS /fArdr

1. Examinee are required to answer in their own words as far as practicable.
oleTTeft geTEa oo real H ¥ SR < |

2. This question papers have four sections: A, B, C and D. Total number of
questions are 48.

9 U U3 § IR WUS—A, B,C Ud D & | A ULl P GAT 48 T |

3. There are 25 Multiple Choice Questions in the Section A. Four options are given
for each question, choose one of the correct options.

€US A H R 25 Fgfdhed YR B | U¥P U & =R fddeu fau Y g,
ST ¥ UH Al b &1 FIa+ DHIfom |

4. Section B — Question numbers 26-34 are very short answer type. Answer any
seven of these questions. Each question carries 1 marks.
EUSB # TR AT 26—34 AT g IO 9 T | 3 9 feul Arq

gl & SR ST | U U BT AT 1 3 rIiRd 2 |

5. Section C — Question numbers 35 — 42 are short answer type.Answer any Six
of these questions. Each question carries 3 marks.

EUS C H YT W 35-42 o SN U 2| 39 9 fhEl By wedl
& IR AT | YD geT &I A9 3 3fd FerilRa 2

6. Section D — Question numbers 43 — 48 are long answer type.Answer any four
of these questions. Each question carries 5 marks.

Us D H U AT 43—48 <Ief IO 9H 2| 599 O fhl ar yeHl
P IAN ST | UPb U BT A4 5 3ih FRIfRd 2
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1. When an electric dipole is placed in uniform electric field it experiences
(@) a net force
(b) a torque
(c) both a net force and torque
(d) Neither a net force nor a torque
1. 919 UF A2 (58a FT UHaH [F2d &= § T&@T1 ST g af T AG9d Fal g
(@) TF A& T
(b) T = A
(C) U 95 I ST AT AT
(d) T T T $[F T ST 7 51 o AT

2. Two charged spheres are separated by a distance d, exert a force F on each other. If
charges are doubled and distance between them is doubled then the force is

@ F

(b) F/2
(c) F/4
(d) 4F

2. T AT AT I T gAY 9T d I I U GO UL F I 0 | TTE el &1 aRET F< &1 5y
ST I A= T g4 TE[AT HT &7 S0 Al 9 g

@F
(b) F/2
(c) F/4
(d) 4F
3. The electrostatic potential on the perpendicular bisector due to an electric dipoleis
(a) zero (b) 1
(c) Infinite (d) Negative
3. faera faga & Freor v guigaTss o2 fouw 3= fawa _ grar 2l
(@) = (b) 1
QELRH (d) =EUTTcH

4. The capacity of the parallel plate capacitor increases when
(a) area of the plate is decreased
(b) area of the plate is increased

(c) distance between the plates increases
Page 2 of 12



(d) None of the option
4, FHIAY TEIT HLTLA 1 77T a9 98 STl g o

(2) TETHT FT AT FH LT A
(b) TEIHT T &=THA FE SITAT &
(c) TETHT F A= AT TR AT 2
(d) FrE forFed T2
5. Kirchhoff’s junction rule is based on conservation of
(@) Mass (b) Charge

(c) Energy (d) None of these
5. TRzt &1 &far e frees |eetor uw sremiRa @

(a)F=rHTT (b)ztrarer
CEE (d) =78 & FIE 7L
6. The resistivity of material of a conductor depends on
(@) Length
(b) Area of cross section
(c) Temperature

(d) None of these
6. Torelt =Tt o T=Td AT IfadreeRar T St 8

(a) #TE

(b) ST T

(c) aTIHTT

(d) =7 & #re TE

7. A moving charge produces:

(@) Only electric field
(b) Only magnetic field
(c) Electric and magnetic field both

(d) None of these

TS ITAHTT AT 3o FHal &
(a) Fae faega &=
(b) Fae FAh T &

Page 3 of 12



(c) =T iz g &= 3
(d) TTH 7 L TR

8. Magnetic effect of electric current was discovered by:

(@) Fleming (b) Oersted
(c) Faraday (d) Ampere
8. = &=y & Faeh! T TATT T GIoT [ohelel
(a) FerfHT (b) s
(c) FTe (d) 7w

9. A magnetic needle is kept in a non-uniform magnetic field. It experiences
(@) a torque but not a force
(b) Neither a force nor a torque
(c) aforce and a torque

(d) a force but not a torque

9. TH Faa T qs Hl AT Faeh T &= H @7 T 8| Tg TqHT Heal g
(2) TF A A AT 7T T
(b)T AT FIE T AT TET Fls T AT
(C) TF & #fIT U & ST
(d) T T SATH TF AT AT A

10. For which of the following is magnetic susceptibility negative?

(a) Paramagnetic and Ferromagnetic materials
(b) Paramagnetic Materials only
(c) Ferromagnetic Materials only
(d) Diamagnetic Materials
10. FMferfaa & & foeen forw gaehia gumiear (magnetic susceptibility) SIS 872
(a) TR 3T FAlg FFEh 1T TaTd
OEEEERZEIRER]
(OKIER=EIRIEEIR]
CRIREEEIRREIR]

11. LenZ's law is in accordance with:

(a) Law of conservation of charge
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(b) Law of conservation of energy
(c) Law of conservation of mass

(d) Law of conservation of momentum.
11: 357 F7 e Rrerferfer ¥ 9@ 8T 2

(a) smarer Heeqr &7 Ay

(b) F=TT FTeAr T T

(C) THTT HL&AT T FaH

(d) EamT HEequr w7 A
12. Unit of self inductance is :
(@) ampere (b) faraday
(c) henry (d) weber.
T T THTS o
(a) TFIT (b) ®Te
(c) Bt (d) F=
13. What is the reactance of a capacitor ina D.C circuit ?
@ao (b) Infinity
(1 (d) None of these
D.C. afRae & HYTA i Ifaemd #7182
@o (b) A=
©1 (d) T 7 FIE A2l
14. The transformation ratio of step up transformer is:
(@) Equalto 1 (b) Less than 1
(c) more than 1 (d) Not certain.
14. TT T TERAT T TRAAT A9 8
(@) 1% TLraT (b) L& %9

(c) 19 =1t (d) ffea 721 2
15. Suitable for disinfecting water -
(@) infrared (b) microwave

(c) ultraviolet rays (d) yellow light

15. ST T H1eT0] T2 HA % (o7 ITIh & —
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(a)3ra<w fFeot (b)gEH T

(C) TRTSRTT foheut (dyfreT Trerr
16. Which of the following waves has minimum wavelength?
(@)infrared rays (b)ultraviolet rays
(c) x-rays (d)gamma rays
16. fReferfaa # & g qi 6t aivaed =q=aq gl 8-
(a) sreree feheoy (OREENEIRER]
()T (dyraT foRt

17. The image formed by a simple microscope is-
(@) imaginary and erect
(b) imaginary and inverted
(c) real and erect

(d) real and inverted

17. T 93 Gedasft ¥ a7 g yfafew gim -
() Featas T Hrem
(b) FTeaH® T IeaT
(c) aTEqtas T HieT

(d) aTEafa® 7 3T |

18. The focal lengths of the objective and the eyepiece of a telescope are F and f respectively.
The magnifying power of the telescope is-

(@) F+f (b) F-f
() Fif (d) fIF
18. Tt gXaefT o ATHGTS ToAT ARFT 6T wrhg AT FHHLT: F ToAT £ 51 gZaeff it sraele w7 g-

(@) F+f (b) F-f
(c) Fff (d)f/F

19. The size of the obstacle for the diffraction of light-
(a) be much larger than the wavelength of light.
(b) be much smaller than the wavelength of light.
(c) be of the order of wavelength of light.

(d) anything can happen.
19.919T = faaa= = forT sra2rae &7 3FTe-
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(a) STERTET T TG & Fgd 92T T AT U

(b) SERTET T TS & Tgd Gl 2T AT U
(C) STERTST T TR T IS T AT AT TN

(d) F& 1 &7 FHAT 2

20. The phenomenon by which the nature of light waves is transverse-

(a) Interference (b) Diffraction
(c) Polarization (d) Refraction.
20. Fg TeeAT fSEe STa1er TR A T ATIeT gl 2-
(a) =fawoT (b) fEaa
(c) g (d) e |

21. The dimension of Planck's constant is -
(a) force x time
(b) force x distance
(c) force x distance x time
(d) force x distance/time
21. verie e 1 3T 2 -
(@) <1 x 9T
(b) T x T
(C) T X T X 79T
(d) T x TEEAET
22. Nucleus of an atom consists of
(a) Protons (b) Protons and Neutrons

(c) Alpha particles (d) Protons and Electrons

22 GTHTI] o ATTHE | Bl &
(a) T (b) STeie T =12
(c) STt Fr (d) ST ST Tei

23. If aradioactive Atom emits gamma radiation its atomic number
(@) Increases by one unit
(b) Decreases by one unit

(c) Decreases by two units
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(d) Remains unchanged

23713 Frg YRATerHT qAT T AT AR F2ar g av ST TLHTI] HH
(). TR THTE F AT 7
(b) T THTE | =T AT &
(C) TN THTSATH =S SATAT &
(d) T FEeraT e

24. In p-type semiconductor what kind of impurity is found

(@) with valency ofthree  (b) with valency of five
(c) with valency of two (d) with valency of one
24, p =TT AIATAH | FHT AYfx AT Bl &
()T FTSThaT oI T (b) EATSTRAT T
(C) EATSTHAT &1 T (d) HITSTRAT T A
25. The depletion layer of p-n junction diode consists of
(a) electrons only
(b) holes only
(c) both electron and holes

(d) neither electron nor holes

25. p-n | T F g WA H BT |
(a) Fa TerFR
(b) 3t efpt
(c) T ST gt T

o

(d) 7 Terer 7 RfEaa

26. If the radius of the Gaussian surface enclosing a charge is halved, how does the electric
flux through the Gaussian surface change ?

26. T2 Trelt srarsr T = ATl TSHHT 9ag @l AT el w2 & S, 1 TMSHHl 9ag | gIa o
areT Toed e i g1 STur?

27. Why do the electric field lines never cross each other.

27. TaeqT & Y@Te FHHT TH THL Al FHledl F1 gl 872

28. What is electromagnetic induction?
28. fagd FFeh g IO T 52

29. Write some property of electromagnetic waves?
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29. fagld FFh T T & Fig 0 foreu?

30. What are coherent sources of light?

30. SERTET o FEIT &ATT F97 872

31. Explain the principle of superposition?

31. ST &7 FHgid awARu?

32. Two particles have equal momenta. What is the ratio of their de-Broglie wavelength?

32. T FHOTT AT HolWT FTEL AT g3k SI-sivel] qiT <& T AT FAT 52

33. A difference of 2.3eV separates two energy levels inan atom. What is the frequency of
radiation emitted when the atom makes a transition from the upper to the lower level?

33. 2.3 eV T AT Tk TTHTI[ H &1 HofT Tq<] [ ST FHLal gl ST TLHT] FILT 7 F=er < § HhAor
FLAT & AT IcATTd [AThR0T T STy T gt g2

34. Differentiate n-type and p-type Semiconductors.

34. N-aTET 3T p-2Teq FH ST | 3ia¥ Y

35. Distinguish between Conductors, Insulators and Semiconductors with the help of energy
band diagram.

35. TSIT 9€ 3@ i AgIAl § Hedes, Teed ¥ TIATAH & 4= Ha qaqrsul

36. What is drift velocity? Establish Ohm’s law for conductors using idea of drift velocity.

36. T AT FAT §? TGTF o & [AATL HT STAN Fi¥eh Heded| o [0 AT FHT FIH 70T FHiel

37. What are magnetic field lines? Give their main characterstics.
37. FEIHIT & @IV AT 52 I THE [Fuare {ore
38. What is photoelectric effect? Define threshold frequency and stopping potential.

38. wIEIEo (g TATT FIT g2 Ao Wl ST T(OT TIefae &l TRATHT H7

39. What are matter waves?

39. TaTF T & AT ATHITT g2

40. Find out the binding energy of the Nitrogen nucleus (7N*) in MeV.
40. MeV ® ATZZISIA ATIS (7N1*) T T2\ FT 7 947 FMT

41. Mention the postulates of Bohr's model of an atom. What are the limitations of Bohr’s
model.

41, T F TLATI AT il ATHLATIUTEA FT Sedd HY| T AISA i HHTG FATE?

42. Derive an expression for the energy stored in a charged capacitor.

42. T AT FYTA § GRS Fol1 b {70 Toh 54Th LT Y
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43. Determine the intensity of electric field by Gauss law, due to a uniformly charged shell at a
point

1. Outside the shell
2. On the surface of shell
3. Inside the shell.

Draw a graph showing the variation of electric field with the distance from the center.

43, Tt % = g et (65 9% 999 =9 8 et T @i & F107 G o i daar s
FforT

1. @I % AT
2. G %[ 9dg I
3. @I % 3T |
e & g8 ATy T & 3 aiade 1 Gt 9T U AT G

44. What is Wheatstone Bridge. Derive the balanced condition of Wheatstone Bridge.
A4, FEIEETT SIS AT g1 Sgleweld slel il dqa eafd ST 7l |

45. Establish the formula n/iv-1/u=(n-1)/R for refraction of light on a spherical surface (convex or
concave).

A5, THET MENT I (ITA STIET AT I TR % ATqaqd 6 o gt n/v-1/u=(n-1) /R =riod
FtorT

46. Describe the principle, construction and working of a transformer. Why is the core of the
transformer laminated?

46. Tt stawiaT & fgT, aaTae T FETUTAT 6T 0 DI o0| STERET 6l HIS H Taford 71
TR ST 82

47. Define wavefront and secondary wavelet. Establish the law of refraction of light on the basis
of Huygen’s principle.

A7 . T A AT THE TLRIRT T TIEATIOT Y| GTEIA o RIGIT F ATLTE T THTL o STTaqaqeT T
e Torio 7

48. Describe the principle, construction and working of an A.C. generator with the help of a
labelled diagram.

A8. ATHITHRT AT T TGTAAT & TATAAT G ST o TG, TLAAT 3T FTITOTAT T FU HITorT]
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Question

Answer

1 B
2 A
3 A
4 B
5 B
6 C
7 C
8 B
9 C
10 D
11 B
12 C
13 B
14 C
15 C
16 D
17 A
18 C
19 C
20 C
21 C
22 B
23 D
24 A
25 D
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IRGUS Qs ST Td TiRreror ufkee, I, IRE0S
CULERCRifA] (Annual Examination)

2024-2025

Aisd Uy U
DHET - XIl v - ARG | 999 - 3 °Ue] qulle - 70
Class-XII Subject- Chemistry | Time- 3 Hour Marks - 70

gTHT ﬁ%ﬂ (General Instruction)

>

>

CRDI&'H%]T JYMEHT 30+ Teal H IR < (Examinee write answer in their own
words as far as practicable.)

Pl Ui DI TBAT 48 %I (The total number of questions are 48)

gy U P IR Wel H Ui fvar a1 31 ude We ¥ AR W
GTIEIHTQC%I(The question paper is divided into four sections. It is mandatory to
answer each section as per the instructions.)

TE -A H Uy AT 01 ¥ 25 TP Jgladdd U &1 TS Y & AU 1 3
Fuffkd 8 | 7% Uy & IR fawe 33 T § | 96t fadew &1 997 Sifo | 7o
IR & o P13 3 8! BIC ST | (Question numbers 01 to 25 in section-A

are multiple choice questions. Each question carries 1 mark. Four options are
given for each question. Choose the correct option. No marks will be
deducted for the wrong answer.)

TS -B H UY =T 26 T U WA 34 TSI Uy g1 378 ¥ fg! 91d
Ol & IR BT Th aid H STl UdS Uy T 0 1 3w Fuila g

(Section-B contains very short answer questions from question number 26 to

question number 34. Answer any seven of these questions in maximum one

sentence. Each question carries 1 mark.)
WS —C T U T 35 F U AT 42 IF TSN A 81 30 A frgl 6 Ui &
IR SHAHAH 150 sl A T Td® U &1 AF 3 3 FHeflRa B 1(Section-C

contains short answer questions from question number 35 to question

number 42. Answer any 6 of these questions in maximum 150 words. Each
question carries 3 marks.)

WS -DHUYTTAT43 A UY 48 T USRI UY &1 570 O fpgl IR UM &
IR B aH 250 Weal # ST AP U BT HM 5 3k YR §1(Section-D

contains long answer questions from question number 43 to question number

48. Answer any four of these questions in maximum 250 words. Each question
carries 5 marks.)




Section - A (TS -A)

1 Molarity of anaqueous solution
containing 40g of NaOH in two litre of
solutionis

(A) 05
G 15

(B) 1.0
(D) 0.75

dry ether | CH;-CH; +
2NaBr.

2 2CHs3Br + 2Na
The reactionis:

(A) Friedel crafts reaction
(B) Wurtz reaction

(C) Fittig reaction

(D) Wurtz Fittig reaction

3 When aqueous solution of NaCl is
electrolysed the product obtained at
cathode is

(B) Sodium metal
(D) Chlorine

(A) Hydrogen
(C) Oxygen

4 Which of the following is not a transition

element?
(A) Fe (B) Mn
(QCr (D) Zn

5 CH;3-CH,-Br + KOH (5 = ‘A’ . Here 'A’is

(A) CH,=CH;
(C) CH,=CH-Br

(B) CH3-CH,-OH
(D) CH;-CH;

6 Osmotic pressure of the solution can be
increased by

(A) increasing temperature of the solution

(B) decreasing temperature of the
solution

(C) increasing volume of the vessel

(D) diluting the solution

1 40g NaOH , 2 fefer Siefta faera & Iufia
g, faaua &) AeRar g :

(A) 05
G 15

(B) 1.0
(D) 0.75

2 2CHsBr + 2Na dry ether CH;-CH; +
2NaBr.
Tg Sffhan g -

(A) TS d e N
(B)@éﬂsﬁrm

(@) iﬁﬁig‘ i

(D) & fohte T Sffifehar

3 NaCl & STeiig faea & dggd siuege ¥
FUTS WUT BT g :

(A TRSIF  (B) HIf$TH UTq
(C) 3o (D)

4 TTHY D HHHUI I a1 § ?

(A) Fe
QCr

(B) Mn
(D) Zn

5 CH3-CHo-Br+ KOH oo > 'A’. T8 'A'%

(A) CH,=CH,
(C) CH,=CH-Br

(B) CH3-CH,-OH
(D) CH;-CH;

6 fITTT T IRIERUI 1§ T I YHT g -

(A) faTg &1 dUaH SgT R
(B) fAT@I ST AUHAF HH IR
(C) IS &1 3TAd §¢1 B
(D) fog &1 Figdr HH B




7 The molar conductivity of an electrolyte
Increases as :

(A) dilution increases

(B) temperature increases

(C) dilution decreases

(D) none of the above is correct

8 Aqueous solution of which of the
following ions is colourless ?

(A) T (B) V**
(O Crt (D) Sc**

9 The relative lowering of vapour pressure
in case of a solution of non-volatile
solute is equal to the mole fraction of
solute. The statementis based on:

(A) Henary'slaw  (B) Arrhenius law
(C) Raoult's law (D) Ostwald’s law

10 EMF of a cell with nickel and copper
electrode will be:
Given : E%*, v = -0.25V;
E°®*) cu = +0.34V

(A) 059V (B) 0.09V
(©)-059V (D) -0.09V

11 Electronic configuration of Cu®* is

(A) [Ar] 3d® 4s' (B) [Ar] 3d°4s°
(C) [Ar] 3d" 4s? (D) [Ar] 3d®4s°

12 Colligative properties of the solutions
depend on:

(A) size of the particle

(B) nature of the solvent
(C) number of the particles
(D) nature of the particle

13 For the half cell reaction
AQ'ag + € ------ 2 Aggs)

7 degdsuyed faqad &t HieR aradar &
Q@Eﬁ?ﬂ%\_ﬂ’

(A) TN H IS BN S
(B) AgHF H gfg Bl ®

(C) T H HH Bt §
(D) SWFd B N LRI 7 |

8 %ﬁ%ﬁmmmaﬁqu

(A) Ti** (B) V3*
(C) Cr* (D) Sc*

9 3TN faera 3G+ aTel f[aeia- & a9y
9 H 3(fére 3/aH fada & Ald-si &
JHUN 8T 8| I8 9 fw e &
SRR ?

(A) gt &1 e
(B) 3ReRTg &1 fuH
(C) A3ee HI A
(D) 3ReaTcE &1 g

10 dd YT SR Faide S a1t Ul BT EMF.

B
feag:

EONi2+/ Ni = ‘OZSV, EOCu2+/ Cu = +0.34V

(A) 059V (B) 0.09V
(©)-059V (D) -0.09V

0O\

11 Cu?* 3T HT FadeI-db (AN g :

(A) [Ar] 3d®4s’ (B) [Ar] 3d° 4s°
(C) [Ar] 3d" 4s? (D) [Ar] 3d®4s°

12 foaaa & 3 yH I Ui B § o
Pk T

(A)a?Uﬁ%%
(B) faeiras X
(C) BUN BT TATR
(D) HUT B UPHTd TR

13 298 K AU IR faU T IHia~ugg (3¢ Jd




electrode potential at 298 K will be :
Given: [Ag']=0.1 Mand E° = +0.80 V

(A) 0.741V
(©)-0.741V

(B) 0.859V
(D) 0.209V

14 Butan-2-olisa:

(A) 1° Alcohol
(B) 2° Alcohol
(C) 3° Alcohol
(D) dihydric Alcohol

OH

C:Hs0- .
> 'A'. Here 'A'is

CaHsl —————
Ml anhyd.C:HsOH

15.

(A) GoHs-O- GoHs
(C) CeHs-O- CeHs

(B) CeHs-O- GoHs
(D) CeHs-1

16. If the rate constant fora reactionis
k=1.5x1073 5!, what isthe order of the
reaction?

(A) Zeroorder

(B) First order

(C) Second order

(D) Third order

17. Which of the followingions shows the
highest magneticmoment?

(A)Fe?*

(B)Cr3*

(C) Mn2*

(D) Co*

18. The coordination numberand oxidation
state of cobaltin [Co(en),Cl,]*

(A)6and +2

(B)6 and +3

(C)4 and +2

(D)4 and +3

19. Which of the following complexes shows
opticalisomerism?

(A) [Co(NHs)el**

3fHferan) 3= fava g ;
AQ g + €
f&ar®: [Ag*1=0.1MandE° = +0.80 V

(A) 0741V
(C) -0.741 V

14 sge-2-3M1d g :

(A) 1° Tchigd
(B) 2° Teehlgd
(C) 3° TUchigd
(D) STEBTSIg Tchigd

(B) 0.859V
(D) 0.209V

OH

=ABY . A Tef AR
anhyd.CzH:;OH

(A) CHs-O- GoHs
(C) CeHs-O- CeHs

(B) CeHs-O- GHs
(D) CeHs-1

16. afe forsit siffohar &1 a7 RIS
k=1.5x10"3s™" g, I 3rfifshar &) Hife Fm8?
(A) I ife

(B) wyH Hife

(C) fedfig ife

(D) i ife

17. FofofEd & ¥ o9 1 3 Iy 3ifde
BT AT T 7

(A) Fe?*

(B)Cr*
(C) Mn?*
(D) Co?*

18. [Co(en),Cl,]* H Plalee ! IUTgTaS T
3R 3fTeRfienur 3rawyT o §7?

(A) 6 3R +2

(B) 6 3R +3

(C) 4 3R +2

(D) 4 3R +3

19. Fafifed & 9 &F W Aife yaur gHEdadn
aIfdr 87

(A) [Co(NHs)e*




(B) [Co(en)s]**
(C) [Ni(CN)4]*
(D) [PtCl,]*

20. The compound formed as a result of
oxidation of ethylbenzene by KMnQO, is :
(A) benzyl alcohol
(B) benzophenone
(C) acetophenone
(D) benzoic acid
21. Among the following which is strongest
acid ?
(A) CH;COOH
(B) HCOOH
(C) (CH3),CHCOOH
(D) CH3CH,COOH

22. Which one of the following is reduced
with Zn/HCl to give hydrocarbon ?

(A) ethyl acetate

(B) acetic acid

(C) acetamide

(D) butan-2-one

23. The strongest base in aqueous solution
among the following aminesis:

(A) N,N-diethylethanamine

(B) N-ethylethanamine

(C) N-methylethanamine

(D) ethanamine

24. Which of the following amines cannot be
prepared by Gabriel’s synthesis :

(A) butylamine

(B) isopropylamine

(C) 2-phenylethylamine

(D) N-methylbenzylamine

25. Glucose when reduced with HI/P gives:

(A) n-hexane
(B) n-heptane
(C) n-pentane
(D) n-octane

(B) [Co(en)s]**
(C) [Ni(CN)4]*
(D) [PtCl,]*

20. KMNO, & gRT 3URd d=i & SHTfidbror &
PBAaRy g aTe A 8 :

(A) STTSE Tepled

(B) ISt

(C) TG

(D) Seiigd 3w

21. Fgifra o yseay s g
(A) CH;COOH
(B) HCOOH
(C) (CH3),CHCOOH
(D) CH;CH,COOH

22. fgifed H o Zn/HCI 3 3/@axu TR
RSP BT 0T B ?

(A) 3URT T

(B) wHifess 3w

(C) TRIeHIZS

(D) $ge-1-311

23, Fifea & 1 W wiF oy fawe & yaaan
&RE ?

(A) N,N-SE3URagdMR=A

(B) N-3URASIHIE

(C) N-TrusagdamRa

(D) ST

24. Fgifed & ®F a1 wiiF Afud I=ewor gRT 6!
ST ST Gehall § ?

(A) STeTRETHH

(B) STSHMTTSITHI

(C) 2-BHSISUSATH

(D) N-FyRadsmgaud=

25. HI/P % GRT 3{AHR01 a3+ R b fAfda
hdl %:

(A) n-gIA

(B) n-gPH

(C) n-UeA

(D) n-3ifaed




Section B (ES -B)

Very Short Answer Type question
sfq g I Uead

26. Define Molality.
FArcterar &1 uRefta s |

27. Predict the ordes of the reaction in the given profile.

|

t1/2

[Ro] I

e o amctEr # sifHfbar @ @B FId ST

T

t]./2

[Ro] _— >

28. Which two series of elements are present in f- Block
f-iis & P A gl B Ioft JuRerT 2
29. What type of isomerism is shown by the complex  [Co(NH3)s][Cr(CN)e] ?
[Co(NH3)s][Cr(CN)s] ziget a1 fbar aze @t Fewawaar ol ot 2 2

30. Write the name of the reaction in which Alkyl lodides are prepared by the reaction of
Alkyl Chlorides/ Bromides with Nal in dry Acetone.

3 3ffdfar &1 o o, orad vfcwe smRiERsS! o ey Ofcsher aeiRigsl/ Sessr @t
ges THE F Nal @ Jmr sfdfsen 3 @ar 3

3 1. Which testis performedto distinguish between Primary, Secondary and Tertiary alcohols ?
URIE, fEdiee SR gdus siched @ did a7 B & 0T Dl AT UG BT ST & 2
32. What happens when Aniline is treated with bromine water ?
vellcier o9 sl oict 3 3ifdifhar wear & A T Bar B 2
33. Which Harmone maintains blood glucose level ?

DT AT AT T H ISP Bl AT i wRar &2



34. What happens when glucose is treated with bromine water?
FIT BT B Ofd IR Bl Sl ofcT @ AT Stk wed & 2

Section C (WS -C€)

Short Answer Type question
g I UL

Answer any Six question. Answer the question in maximum 150 word each.
Pl & ueall & 3R & | UAD Ueedl B IR 3AN&BdA 150 o@T F 1 [3X6=18]

35. Write the reactions of fuel cell
e A @t sifrfee ot
36. Calculate the Magnetic Moment of
(a) Fe3*(z=26) (b) Zn**(z=30) (c) Cu?*(z = 29)
gaamer 3mgel @t o FHifvTe |
(a) Fe3*(z=26) (b) Zn**(z=30) (c) Cu?*(z = 29)
37. Zn,Cd and Hg are not considered as Transition elements, explain giving reason.

PR 3d U AFSSA Zn, Cd and HE 1 JHAYT da@ T & AET 1|
38. Using IUPAC norms write the IUPAC name of

(@) [Mn(H20)6]?*

(b) [CuNO2)(Ch (NHa)4]

(c) Ks[Fe(CN)s]

IUPAC forar & areRiR Rreeiforira & et fora

(@) [Mn(H20)6]?*

(b) [Cu(NO2)(Cl) (NHs)4]

(c) Ks[Fe(CN)e]

39. Complete the following -

[a] QBF" Mg —

[b] CH,CONH, + Br,+4NaOH ——=

[l C.HNO, Fe/HCI

fresfoiRaa @1 g &3



[a] QBH Mg —

[b] CH,CONH, + Br,+4NaOH —»

[l CHNO, Fe/HCI

40. How will you bring about the following conwversion.
(@) Ethanamide to Ethanoic Acid
(b) Cyclohexanol to Cyclohexanone

(c) Benzene to Acetophenone

freaiforRaa uRader smu &F @t
(a) semeTss & SAATsd et
(b) ATsTRFAEIE A AT RTATA T
(c) ol & TACES
41. Write the IUPAC name of following compound.
(@) PhCoPh
(b) (CH3)3sCNH:

(c) m-BrCeHsNH2

ferearferRaa ABrdr & IUPAC et ot -

(@) PhCoPh
(b) (CH3)sCNHz
(c) m-BrCsHsNH2
42. What are essential and non-essential amino acid? Give examplees.

AAh deT 319D TGl 31T T ald & ? 32@0 Sifoiv |

Section — D (WS -D)

Long Answer Type question
e ITT gea

Answer any Four questions. Answer the questions in maximum 250 words each.
el IR yeddl & IaT | UAP ULET Bl 3aT 3MfbadA 250 =T H T




43. A 5% solution (by mass) of cane sugar in water has freezing point of 271 K. Calculate the
freezing point 5% glucose in water if freezing point of pure water is 273.15K.

IR B 5% (FTdE) ey awe & Baie 271 K 31 ARk gg &ia & e 273.15K.
2 dl o @ 5% el facee @ R @t o e

44. Write the Nernst equation and calculate emf of the following cell at 298 K.
Mgs) | Mg?*(0.001m) HH CU2*(0.0001m)ICU(s)
(Given E%mg2+mg=-2.36V E%cu2+/cu = +0.80V)
fraafciRaa At &1 eiee JehiaRor wd EMF &t ororer forsd
Mgs) | Mg?*(0.001m) 1l Cu2*0.0001m)ICUs)
(R arm E0wg2+mg=-2.36V E%cu2+/cu = +0.80V)
45. A reaction is first order in A and second order in B
(1 Write the differential rate equation.
(i) How is the rate affected on increasing the concentration of B three times.
(iii)  How is the rate affected when concentration of both A and B are doubled.
TP 3Mfsar A F ved dife g B F fafiwr @i o a3 3

(i) faees o1 Fimor forRaw |
(i) B @ Jhgam e I 9ot U JoT TR FAT YA USAT &
(i) A gar B Jelt @ Afgar et B U T U FAT YHG USAT 2|

46. On the basis of valance bond theory discuss the geometric and magnetic property of
K4[Fe(CN)s]
Adormar smdy Rigid @ smeR R Ks[Fe(CN)s] & wferditr der gaasir gporeat @t fadae
PifoTu |
47. Draw the structure of the following

(a) 1-Ethoxy propane 1-glRft Ue

(b)  o- Toluidine 0- it

(c) Ethylene glycol BASAI  IATSDIA

(d) 3- Bromo-4-phenyl pentanoic acid 3-FNA-4 -l eI CAISD 3T
(e) 0-Cresole o-ATA

48. Write short Notes on

(@) Cannizaro Reaction
(b) Reimer Tiemann Reaction
(c) Aldol Condensation

freaforRa w ag Rwoft forst

(a) Defiomrr i
(b) TR - aSde s
(c) UBIaT Jeeler
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TS el efees vd ufeleror ufde, 2ft
aiffes geedifive udtanm (2024- 2025)
ufdgefvsst Uz /Model Question Paper

HEIT- 12 faw- sfia fasma Hed- 3 Hel quifes- 70

Instructions / fader:
I. All questions are compulsory. Candidates must answer questions in their own
words wherever possible. / @aft U2a7 ifetaref g1 udiernelf gediaid 3Ust efegl # 32 51
2. The question paper is divided into four sections: Group-A, Group-B, Group-C, and
Group-D. / F1%6T U7 TTe &Jg! & [d8(1fold &: AHg-3i, &g~ §, &g~ &, 3¢ AHg- al
3. The total number of questions is 48. / o5 Y=aTl cbl HT 48 gl
4. Marking Scheme / 3icb JloiaTT:

.

1.

.

IV.

Group-A: 25 objective questions, each carrying 1 mark. No negative marking
for wrong answers. / dHg-3f: 25 deqlot™s UL, Udh 1 3ich @b &l Iesd Idd b 3T
PIg cibIelcdih 3fabal gl g1

Group-B: 9 questions, each carrying 1 mark. Answer any 7 questions. / g~ &
9 U267, Ucb | 3ich ol 81 7 Uil @ Jdie Gl &

Group-C: 8 questions, each carrying 3 marks. Answer any 6 questions. / dHg-
& 8 U657, Ucdeb 3 3ich @b g 6 Uil o Jdle Gof &l

Group-D: 6 questions, each carrying 5 marks. Answer any 4 questions. / JJg-

G 6 T%aT, U 5 3{ch o &1 4 U857l & Jde el &l

5. If there is any discrepancy in the Hindi translation of the questions, the English

version will prevail. / Tfe 92ail a5 1@<l siejdre & blg deiaTid g1 dl 3iufl ddbeuT Hled 19T

GROUP - A (& 9fg-31)
Objective Type Question ( T&foIts UaT)

1. | In angiosperms, male gametes are formed by the division of |/ 3Tgdefot Uil & a1g

IIHD T AT fd5aras faaiToTel & g 82

(a) Microspore mother cell [ ATShIETIE FAGE &S
(b) Microspore [ dTgchiedle

(c) Generative cell [ Teidfed de

(d) Vegetative cell / dAfcicfed des

2. | Seminal plasma, the fluid part of semen, is contributed by / offef o1 dees a1,

AfHATS WHTo], BT ANTETS fbdd gidT 87

(i) Seminal vesicle | AfAeTe Afdbd
(ii) Prostate gland [ Wece Jifer

(iii) Urethra [ IFARf
(iv) Bulbourethral gland [ SeaTggeres Jife)

(a) (i) and (ii) / (i) 3 (i)
(b) (i), (i) and (iv) / (i), (i) 32 (iv)




(c) (i), (i) and (iv) / (ii), (iii) 312 (iv)
1) (i) and (iv) / (i) 32 (iv)

In Mendel's experiments with garden peaq, round seed shape (RR) was dominant
over wrinkled seeds (rr), yellow cotyledon (YY) was dominant over green
cotyledon (yy). What are the expected phenotypes in the F2 generation of the
cross RRYY x rryy? | #5c5 &b A ob U8 UL fhT 91T TN & I offof b 3MbTE (RR)
faiepe gC &fteT (rr) ue wermdt e, 3ite dies sftotua (vy) g2 dterud (yy) ue werdt 31 chier
RRYY x rryy <5l F2 Uidl & srafeld 9ot yahre oram glar?
(a) Round seeds with yellow cotyledons, and wrinkled seeds with yellow

cotyledons. [ I3 e died dffoTus & &l 3iie fadps g oot died ditvius & ael

(b) Only round seeds with green cotyledons. [ dde Iles dtol g¢ dtoius & &Te|

(c) Only wrinkled seeds with yellow cotyledons. [ ac feigps g dtof dtes dftofua

& T

(d) Only wrinkled seeds with green cotyledons. [ dac faigs gE &t g¢ sftoiua

&5 1|

Emergency contraceptives are effective if used within / 3TdTdbIS3 ol ITafferdierss
Ta{Tdt gd & T Solchl 3UAT fobar 3rafel o aftde fabar wee

(a) 72 hrs of coitus | TEATH &b 72 & &b aftae

(b) 72 hrs of ovulation [ fEgiadulsl & 72 €¢ & affde

(c) 72 hrs of menstruation | AfA®D & b 72 8¢ & affde

(d) 72 hrs of implantation / 3TEIUUT & 72 Ti¢ & aftde

Choose the correct statement regarding the ZIFT procedure. [ ZIFT UfchdT & &1 3
TGl DSl Yol
(a) Ova collected from a female donor are transferred to the fallopian tube to
facilitate zygote formation. [ AAfgcsT aTdT & dUfEd 8 Bl sl fUdel Id
TSI fd a1 HATdT g dTfds I bl fol 0T &1 dab|
(b) zygote is collected from a female donor and transferred to the fallopian
tube [ I BT AZHT STdT & EAfEd Be AU eId A eITelidfed faar wrdr
gl
(c) Zygote is collected from a female donor and transferred to the uterus /
IS D1 ARSI aTdl & EAfed e Tafferd & RATeTidied fasdm Hrdr gl
(d) ova collected from a female donor and transferred to the uterus | AfgT

oTdT & GUfed 129 ol Teifery & wuretiafed fasar wrdr 2

Conditions of a karyotype 2n +1,2n —1and 2n + 2, 2n — 2 are called | hfediersy ol
AT 2n +1,2n = 13712 2n + 2, 2n — 2 I AT HEd &2

(a) Aneuploidy [ Cowalgg!

(b) Polyploidy / Gifestesiggt

(c) Allopolyploidy / TS3IUIS3Tt3Iggl

(d) Monosomy [ dTaiTeleft

In a dihybrid cross, if you get 9:3:3:1 ratio it denotes that / fgesefuft dicpeur &, afe
9:3:3:1 37e]UTd UTed Eldl & af Ig Gelfdr & fob:




(a) The alleles of two genes are interacting with each other [ &l tflel & TSI
Teh GaIe & &1 UZeUe fobdT ohe 28 8

(b) It is a multigenic inheritance | g Sgufifoids dellelchd gl

(c) Itis a case of multiple allelism / Tg ThIfeld Tslichud! bl ATHG 8l

(d) The alleles of two genes are segregating independently / &l Htel & T3Ie3

47 &U & f3snfoad g1 eg gl

In the F2 generation of a Mendelian dihybrid cross, the number of phenotypes and
genotypes are | Asc 1Y fgese(uft dicbeur bt F2 Uidt &, thiailersy 3iie Hisiiersy ot e
T 82

(a) Phenotypes - 4; Genotypes - 16 [ hiailersy - 4; Htellelsy - 16

(b) Phenotypes - 9; Genotypes - 4 [ hIaIICTgY - 9; Hiellclsy - 4

(c) Phenotypes - 4; Genotypes - 8 [ tieilersy - 4; Hieliersy - 8

(d) Phenotypes - 4; Genotypes - 9 [ HIGICTgY - 4; Htellelsy - 9

DNA is a polymer of nucleotides which are linked to each other by 3'- 5’
phosphodiester bond. To prevent polymerisation of nucleotides, which of the
following modifications would you choose? [ SITaTE gfaredeTESel bl Th S5 &
Uil Teh G@fe & 3'— 5' thiethIgrIece §¢ §Iel 03 E1d &1 ogfaesdIcTggel & dgechicheul ol
Sichol b fST 31 foldolfeseid 3 & hiel &T el oiil?
(a) Replace purine with pyrimidines [ Wfeel &1 fafefaAfee & geod
(b) Remove/replace 3' OH group in deoxyribose [ fa3iTareflersslo & 3' OH &g
Pl gl /e |
(c) Remove/replace 2' OH group with some other group in deoxyribose [
fe3iTareftergalol o 2' OH &Hdg i favefl 3icT &eIg & §eodl
(d) Both ‘b’ and ‘c’ [ 'b' 3il2 'c' Glaill

10.

While analysing the DNA of an organism, a total number of 5386 nucleotides were
found, out of which the proportion of different bases was: Adenine = 29%, Guanine
= 17%, Cytosine = 32%, Thymine = 17%. Considering the Chargaff's rule, it can be
concluded that [ T ofid & EITeIC BT fdetsyuT dhed &eTd ohed 5386 ofaesdlclss Ut
I, fAo1d & fafatoot 3MMeimet ol 3fofuTd &T: Tefolol = 29%, I[3Mfolal = 17%, ATSCIfelel = 32%,
TEIAST = 17% | Tt o foieT bl eaiTel 3 2&Id €T, UE foisht folahTesl Uil &iehdll & fob:

(a) It is a double-stranded circular DNA | Ig S8&G-2¢.88 JNBIhIE SITIT &

(b) It is single-stranded DNA [ Jg Tohcs-2¢88 SICaIT &l

(c) It is a double-stranded linear DNA | U8 386-2¢.88 ¢f&d SITaC ¢l

(d) No conclusion can be drawn [ g foishY olgt folchTesT AT Hebdll

1.

If Meselson and Stahl's experiment is continued for four generations in bacteria,
the ratio of N15/N15: N15/N14: N14/N14 containing DNA in the fourth generation
would be [ Tfe A5l 30 TeTes bl YA e i & Tme Hifedl dob oiret 26l war e,
@l N15/N15: N15/N14: N14/N14 EITTC o1 3fe(urd dieft Uit & oram glome

(a) 1221/ 1:21
(b) 1:3:1/ 1:3:
(c) 11:2/12:2
(d) 11:3/12:3




12.

The most important feature in a plasmid to be used as a vector is | @Ifudis H TG

HEAYUT faeIeTd, fAd Teh daree & &U & IUdWT fobdT Ti1aT 8, &:
() origin of replication (ori) / 3cfd &T Ufdhfd (ori)
(b) presence of a selectable marker [ Tl ol ANY fegst ohi IufeAfd
(c) presence of sites for restriction endonuclease [ Ufddel TSlogar T &b S|
ot 3ufifa
(d) its size | s&DBT 3THIE

13.

C-peptide of human insulin is | #TeTd §&fcsel T C-UCTEE &:
(a) a part of mature insulin molecule / UfeUdd gefc3a 30T T Teh fgedT
(b) responsible for formation of disulphide bridges / feecthIgs faul & faiarfur &b
fou fAeter
(c) removed during maturation of proinsulin to insulin / W&ol & $&f3oT A
qfeUcradT & GleTel T HiTdl §

(d) responsible for its biological activity / &b vifdds b1 & fHT fAdAare

14.

According to Allen’s Rule, the mammals from colder climates have [ Tedol o foddT
& 3e]dTe, 58 Vs & Sdolefedl 3t gid &:

(a) shorter ears and longer limbs | BIC el 312 & 39T

(b) longer ears and shorter limbs [ &d el 312 BIC 39T

(c) longer ears and longer limbs | & bTal 312 d 3097

(d) shorter ears and shorter limbs | B¢ BT 3{g BIT 39T

15.

Pyramid of numbers is | Z&T o1 fU2IfAS 8
(a) always upright / gaterm e
(b) always inverted | gH2ll 3ceT
(c) either upright or inverted / T @l &fte AT 3ceT
(d) neither upright nor inverted / o @l Zftel 31T o & 3cer

16.

HIV that causes AIDS, first starts destroying [ T8l ol WIeUT Sofal dleal TATEd ! STael
UgeS oTtC hedl &

(a) helper T-lymphocytes | dgIIHh el-[SHIATSCH

(b) B-lymphocytes | dt-fSthidrsed

(c) leucocytes [ TIDIATSCH

17.

Which of the following is an example of hormone-releasing IUDs? / foldotfesfad & &
el glaTel-Icduich TEIST T IGIELUT 82

(a) CuT and Multilobed 375 [ @Iqeg-¢t 3{Ig AAeciomls 375

(b) LNG-20 and Progestasert / To5TaTuti-20 3{1T Yioieered

(c) Lippes loop / fostd &3u

(d) Both (b) and [ (b) 3ii2 (c) Trail




18.

Match the following list of bioactive substances and their roles [ Tid Afchd Uereif
3112 oTchl affRhI3M hl fordetfesiad it T fAsTeT e

Bioactive Substance / Role [ 3ffdtas1
Wq Afgsa ueref
A. Statin [ &&feel (i) Removal of oil stains | de> o efes] i geTall
B. Cyclosporin A / (i) Removal of clots from blood vessels | Zch ATfgdI3
ATschosI2yifdal A & &faRh] bl gelall
C. Streptokinase / (iii) Lowering of blood cholesterol [ 2ch DIc3eglcd Bl
LAl m) BH DBl
D. Lipase [ @T80wl (iv) Immuno-suppressive agent | Ufdgeil-GaleTohrd!
Tuc

Choose the correct match. /aﬂﬁmqﬁ
(a) A-(ii), B-(iii), c-(i), D-(iv)
(b) A-(iv), B-(ii), c-(i), D-(iii)
(c) A-(iv), B-(i), c-(ii), D-(iii)
(d) A-(iii), B-(iv), c-(ii), D-(i)

19.

In a certain taxon of insects, some have 17 chromosomes and the others have 18
chromosomes. The 17 and 18 chromosome-bearing organisms are [ b1l & Th
fAfYd aof &, & A 17 IUTA Eld & 3i1e 37 & 18 I[UTeH Eld §117 31T 18 IUTELAT dTes utd
&

(a) males and females, respectively [ hafel: o1 31T HTGT

(b) females and males, respectively | thater: ATET 3iTe a1

(c) all males [ &aft a7

(d) all females [ &aft ATer

20

Which of the following steps are catalysed by Taq DNA polymerase in a PCR

reaction? | Al fEd & & el & TLUT Taq DNA UTfcsHAH gIeT PCR 3ifafosar o
3Aed fobT oird g2
(a) Denaturation of template DNA [ TdIE TSI ol gteleelel
(b) Annealing of primers to template DNA [ SFIcC EITGTT UL UTedTef ohl ToftfedaT
(c) Extension of primer end on the template DNA | ¢3¢ SITIC Ue YIS BId
&1 faedre
(d) All of the above [ 3ueTth Haft

21.

Which one of the following is not a major characteristic feature of biodiversity hot
spots? | falgaifesfedd & & ol Wid fafderdr gic eic ol Yo faervdrsil 3 & oigl 82

(a) Large number of species [ UoTfAdT ht det H&T

(b) Abundance of endemic species [ ZiTfolds YuATfadl &t Uedr

(c) Mostly located in the tropics [ &I &U & IWTchfedefia i fad

(d) Mostly located in the polar regions [ A& &4 & gdg &4t & feId




22.

Match the scientists listed under column ‘I’ with ideas listed in column ‘II' / &af I' &

efliaes datlfoieh] bl &del II' i fet 91C faarel & fAsT

Column| [ &3l 1 Columnll [ &af 1l
A. Darwin (i) Abiogenesis / 3SR fAH
B. Oparin (ii) Use and disuse of organs [ 3911 &1 3UAN9T 3{1¢ T
C. Lamarck (iii) Continental drift theory | HgTgIdta fazemist faeid
D. Wagner (iv) Evolution by natural selection [ UThfdch TTe gre]
oo
Options / Aoy

(a) A-(i); B-(iv); c-(ii); D~(iii)
(b) A-(iv); B-(i); c-(ii); D-(iii)
(c) A-(ii); B-(iv); c~(iii); D-(i)
(d) A-(iv); B-(iii); c-(ii); D-(i)

23.

Viviparity is considered to be more evolved because [ Hflauieiel &1 3ifeldh fadfdd
AT AATdT & adifab:
(a) The young ones are left on their own [ JaT ol 3(Ual gle> U2 Bl fadT Arar &l
(b) The young ones are protected by a thick shell / JdT &1 T S Hics greT
Ziefera fobar ofrar &l
(c) The young ones are protected inside the mother's body and are looked
after after they are born, leading to more chances of survival /ana?raﬁ’ai
erde & sice diefald fabdn wirdi & 31 3eTdh UTedl & dlG 3oTchl ST ohl TiTd &,
f&d Joids oftfdd egat ot FafTaell 96 Hld 8|
(d) The embryo takes a long time to develop / 30T &l fadfdd glel & 3ifdlds HHAT
I &l

24

In malignant tumors, the cells proliferate, grow rapidly, and move to other parts of
the body to form new tumors. This stage of disease is called [ TTddh I F,
HIfeIBIC dufl & Tadt & 3iie 2rdie &b 3o 9T & Tidhe oTC ST Tolld &1 B AT bl
3R Y Shgl HiTdT &

(a) Metagenesis [ AcTAaifdd

(b) Metastasis | AcTEdd

(c) Teratogenesis [ eeleiiafdd

(d) Mitosis | ATSCIfAA

25.

Match the following list of bacteria and their commercially important products /

SReifdT 31T JoTds UTIATAh &U & Agcayuf IcdTal bt il ol fHTe e

Bacterium | Saeifear Product [ 3dTE

A. Aspergillus niger (i) Lactic acid | Sfaeds 31F®

B. Acetobacter aceti (ii) Butyric acid / &gfeféeh 3iacs




C. Clostridium butylicum (i) Acetic acid | Cfafdd 3fees

D. Lactobacillus (iv) Citric acid / @Tgf¢h 31des

Choose the correct match |/ &gt fAsIel goi:
(a) A-(ii), B-(iii), c-(iv), D-(i)
(b) A-(ii), B-(iv), c-(iii), D-(i)
(c) A-(iv), B-(iii), c-(ii), D-(i)
(d) A-(iv), B-(i), c-(iii), D- (i)

GROUP -B ( &dg- )
31fd Y 3¢ U (VERY SHORT ANSWER TYPE QUESTION)

26.

Draw a diagram of a matured microspore of an angiosperm. Label its cellular
components only. [ CfadTeusf & uféqad gearetoiiu] ol T o Sellt| dhdes S
DIfelchd el ohl s el

27.

Given below are the stages in human reproduction. Write them in correct
sequential order. [ JTeTd YuTelol &b TLUT ofldl fGT ITC €1 o8 Hal 3ielchd A fo5ed]
Insemination, Gametogenesis, Fertilisation, Parturition, Gestation,

Implantation / 3{d@:&qUT, YIeA®BIaTel, fadet, Uard, IefeTes, meIquTi

28.

State a difference between a gene and an allele. [ Tfiel 312 T3 & T 3ide adTC|

29.

When and why do some animals go into hibernation? | &® wlelae od 31T ol

eftcfoieT & Tres ord &2

30

How does haemozoin affect the human body when released in blood during
malarial infection? / TSI ZhHUT & Glelol ch A Elafuilgel fEIu Elal Ue Ig lord
erdte B dvdl TanTfad dhed &7

31

BOD of waste water is estimated by measuring the amount of / 3[afelte W bl
S3iTEt TSt & fHT fdsat HTAT BT 3HeHTeT BIMAT AT &2

32.

What is the difference between endemic and exotic species? | RiTfaias 312 faceft
JoTTfadi 3t o 3ide 82

33.

Name the type of biodiversity represented by the following: / folgsifesfedd grer gerfe
g A fAfderdT & YehIe bl ol §dlC;
(i) 1000 varieties of mangoes in India. / 3TZd & 3{TeT &1 1000 fobedH|
(ii) Variations in potency and concentration of reserpine in Rauwolfia
vomitoria growing in different regions of the Himalayas. / fédATe3d o fafaieot
&5l & 397a1 aTes Tr3alfetha aifdeiedn & Seretiol ot efeTdT 3iie Tahrardr o
fatootdre|

34

What are biodiversity hot spots? / Wd fafdeldr glcadic aT 8?




Group C (Hdg- &)
&Y IANT UG (Short Answer Type Question)

35

Differentiate between geitonogamy and xenogamy in plants. Which one between

the two will lead to inbreeding depression and why? [ Glell & ITgeaiHIT 31T weilsla]
& 3fde eI 5ol qlail & & hlal AT SoIfSIfSIT feferst bl hIeuT daiv 3{le Tl

36

(i) Draw a sectional view of the seminiferous tubule of a human. Label the
following cells in the seminiferous tubule: [ ATeld b JUUT offcdchl BT & 1d € oIt
quuT SIfSahl & foidaifesfaEd pifelbisit bl 5ae be:
(a) Cells that divide by mitosis to increase their number. [ BIfeIBIC Gl 3Uaft
T delal & T RS grer fAanfaa gt &
(b) Cells that undergo Meiosis I. [ TIfeIhTC il HI3NfEH | & I[oTedi &l
(c) Cells that undergo Meiosis II. [ IfeIehIC it #t3iifae I & Ioted! gl
(d) Cells that help in the process of spermiogenesis. [ ®IfelhIC Gl
TfFNAA A bl Ufdsar & TG hedl gl
(i) Mention the role of Leydig cells. [ S5fST DifelehI3il i sffdchT bl Ieerdl el

37.

A cross was carried out between two pea plants showing the contrasting traits of
the height of the plant. The result of the cross showed 50% of parental characters.

| Sl Ace & ulel & o T Hid fasan Irm, fagd Qe ot Fare & faudta e uefela g
22 1 hidt o UfeUTa & 50% Uqgah efuT fe |

(i) Work out the cross with the help of a Punnett square. / Joic ZraTde ol AEMIdT &
id Bl foAerfeur w2
(i) Name the type of the cross carried out. [ fohC ITC Shlel b YdbTe ohl ol JIdTC|

38

Define: [ URRHTO ohe:
(a) Metastasis | AcTZS A
(b) Vaccination | ichTdheur

39

If the sequence of one strand of DNA is written as follows: [ Tf¢ STSTE b T T8 bl
31e]ohd folaaTfos aid &4 3 foseT I &:

5'—ATGCATGCATGCATGCATGCATGCATGC—3'
Write down the sequence of complementary strand in 5'-3' direction. / 9365?,?2_5’
T 3{[ehdl 5'—3' feem & f3e

40

Draw a schematic representation of dinucleotide. Label the following: /
SIcfrS 1SS bl Alulollcdioh AU FolTC| foldolfedfEd bl e dhe:

(i) The components of a nucleotide [ SIfFSICISS &b TChH

(i) 5" end [ &' f&er

(iii) N-glycosidic linkage | N-I3TshifAfeh def

(iv) Phosphodiester linkage [ BIhIgIstece S

41.

Define algal bloom. How does it affect an ecosystem? / €ldTe> Uelhcal ol UfeafTid
2| IE Th UTcisl bl doel YafTfdd deal 8?




42

What is DNA fingerprinting? Mention its application. / SCeTC fhITeOfeaT oRaT 82 Saich
3IGTIINIT BT Ioohed el

Group - D (&g- <)
& 3adta st (Long Answer Type Question)

43

(a) What is the trophic level of an ecosystem? What is ‘standing crop’ with
reference to it? | fdseft UIffRifddht d7 &f UIvuT Zae (Sifthds »d) ol EIdT &2 SaH
gicef 9 Rt theres' (3S297 ohT) T 87

(b) Explain the role of the ‘first trophic level’ in an ecosystem. [ faseft urfefeRifadst
A 3 "Uged YIvuT &de' (e ¢lfthah 3dcs) ohl affdichT ol HASISTI

(c) How is the detritus food chain connected with the grazing food chain in a
natural ecosystem? [ UTepfdds UTffeAfddst da of Aesdl &It SieiasT (f3fded g do)
TS TITET $5TesT (AR g dol) & dhel ojel gl &2

44

(a) Name the specific type of gene that is incorporated in a cotton plant to protect
the plant against cotton bollworm infestation. / 3& fafelse ofiel &1 oitdt §dTC fAd
PUTE & T H BUTE bl Sics dH ¢ehauT & TdTel & fAT STesT T 2l

(b)State a method of cellular defense which works in all eukaryotic organisms. /
TS difeldhia geef fafek gare o wweft gbfeaifess sital & o1l dedt 8l

(c)What is the significance of the process of RNA interference (RNAI) in eukaryotic
organisms? [ b fedifeeh Tital 3 RNA Ed8T (RNAI) ohl UfchdT ohl dTgcd ol 82
(d)Mention the chemical change that proinsulin undergoes to be able to act as
mature insulin. / 38 STeTAfolch Ufdadol ohl Joesal ohe Uil Widfcsel ot EIdT & dlfch dg
qfducd $&fcdel &b &U o hIdf e dhl

(e)state the role of transposons in silencing of MRNA in eukaryotic cells. /

gabfeifeah hifelerail & mRNA bl 2lifd & giegdleiiod i 8ffachT adTtl

45

(a)Which main technigue and instrument is used to isolate DNA from any plant
cell? | faeft aft Ul ot ifelehT & DNA 31c397 cheal b ST hlol- 2t Il ddboitch 31T
3YhH2UT ST IUNIT fasdT SITdT 87

(b)What is the cell that receives a recombinant gene called? /maﬂ@wﬁw
THEI AT § il Yof: AT offet UTed et 82

(c)Why is a thermostable DNA polymerase needed in amplification (genetic
engineering)? [ Udefel (3iTodfeles guftforafdan) & edifecac DNA Ulcsidrdyl oht
3iTdeTehdl ol gl 82

(d)Identify the reason for the selection of DNA polymerase from Thermus
aquaticus for Polymerase Chain Reaction. / U1yl dol fdEarelel & ST Thermus
aquaticus @ DNA GI3THASH &b Tl bl hIZuT IdTC]|

(e)How is repetitive/satellite DNA separated from bulk genomic DNA for various
genetic experiments? / fafaioat 3Mefdifelds TN o fT RfUfefea/dcerse DNA Bl
ofics GAtailfdich DNA & bl 35T fasdT oiTal &2

46

(a) Draw a diagram of an enlarged view of T.S. of one microsporangium of an
angiosperm and label the following parts: [ T AU & Th ATShICUIINIH b
21T, o1 faeqd £ed T 3MeH FallC 31T foldstiosiaid ofI9T o fafgatd dbe:

(i) Tapetum [ euedt




(i) Middle layer [ AT ged
(iii) Endothecium [ Testfifdad
(iv) Microspore mother cells | ATSAIZUTE Toldh hifelhIC
(b) Mention the characteristic features and function of tapetum. /?ﬁﬁ‘cﬂﬁ
faeraarai 3iie Bl bl Jewsd Bhel
(c) Explain the following giving reasons: | faldsifc5f&d ol BTeUT Afgd HIASITST:
(i) Pollen grains are well preserved as fossils. / TZHT BUT GfidTed & U & 3t
dcg diefald 2gd gl
(ii) Pollen tablets are in use by people these days. [ 8a1 feail BT YN CaosC
BT IUIT e 28 2l

47.

(a) braw a schematic representation of the structure of a transcription unit and
show the following in it: / Teh ZidfohRIa Gfele thi Eedall ol 3HTSH Follt 3T s
foearfasfad fleame:

(i) cidfobterst &t feen

(ii) enfaes &Y &g bt gladr

(iii) TIUST T

(iv) efdfaice uftar
(b) Mention the function of promoter gene in transcription. | Gidfobtlel & Uldce
ffet &1 B 9t

48

Population density (N} —s

Time (1) —s=

Study the population growth curves in the graph given below and answer the
questions that follow: / ofid fGT ITC AT & SToTeiedT Jfes achi bl 3(edel ohe 3iTe oftd
B ITC Y511 9T 3 <

(i) ggdret fds I ‘o 31 'b' Pl A &

(ii) ST & pIaT & 3rfSep Temefaret HAret TrdT & 3ie aeife

(iii) TfS dt/dN = rN(K - N) /K & dl BIfAfEeeh gies; ach A K b1 T 37ef 82

(iv) N gTeT a1 Udftfasd fasam orar g2

(v)What will happen to an ecosystem if [ afe faseft urfefeifddst da Y arar  gom
afe:

(o) @ft 3T geT ST |

(o) Taft ard-TedstTelcd T2 & ufial ol gel fedr |re|

(c) et eftef feteprdt Weteiea ger i ol




1.

10.

1.

12.

13.

14.

15.

16.

17.

18.

Answer

In angiosperms, male gametes are formed by the division of: Answer: (c)
Generative cell [ Tarefcd de

Seminal plasma, the fluid part of semen, is contributed by: Answer: (b) (i), (ii)
and (iv) / (i), (ii) 3iTe (iv)

In Mendel’s experiments with the garden pea, what are the expected
phenotypes in the F2 generation of the cross RRYY x rryy?

Answer: (a) Round seeds with yellow cotyledons, and wrinkled seeds with yellow
cotyledons [ MTes ftot dites dffotusr & emmer 3ile fAeps ge oot ties dfvrus & @
Emergency contraceptives are effective if used within: Answer: (a) 72 hrs of
coitus [ T&ATH &b 72 ©c & aftae

Choose the correct statement regarding the ZIFT procedure: Answer: (b)
Zygote is collected from a female donor and transferred to the fallopian tube [
I b1 AfGHI TdT & TIfRd e BesllUdel eld & STelidfd fasdr HrdT 8l
Conditions of a karyotype 2n +1,2n = 1and 2n + 2, 2n - 2 are called: Answer: ()
Aneuploidy | Cewslge!

In a dihybrid cross, if you get 9:3:3:1 ratio it denotes that: Answer: (d) The
alleles of two genes are segregating independently / &l il & Toles 2ddd &U &
fdefaia g eg g

In the F2 generation of a Mendelian dihybrid cross, the number of phenotypes
and genotypes are: Answer: (a) Phenotypes - 4; Genotypes - 16 / Hlellersy - 4;
ofteilersy - 16

To prevent polymerisation of nucleotides in DNA, which of the following
modifications would you choose? Answer: (d) Both ‘b’ and ‘c’ [ o' 312 'c' Glal|
Considering the Chargaff's rule, it can be concluded that: Answer: (b) It is
single-stranded DNA | TUg Tohos-Z¢88 SITIT gl

If Meselson and Stahl’s experiment is continued for four generations in
bacteria, the ratio of N15/N15: N15/N14: N14/N14 containing DNA in the fourth
generation would be

Answer: (d) 1:1:3

The most important feature in a plasmid to be used as a vector is

Answer: (a) origin of replication (ori)

C-peptide of human insulinis

Answer: (c) removed during maturation of proinsulin to insulin

According to Allen’s Rule, the mammals from colder climates have

Answer: (d) shorter ears and shorter limbs

Pyramid of numbers is

Answer: (c) either upright or inverted

HIV that causes AIDS, first starts destroying

Answer: (a) helper T-lymphocytes

Which of the following is an example of hormone-releasing IUDs?

Answer: (b) LNG-20 and Progestasert

Match the following list of bioactive substances and their roles




25.

Answer: (d) A-(iii), B-(iv), c-(ii), D-(i)

19. In a certain taxon of insects, some have 17 chromosomes and the others have
18 chromosomes. The 17 and 18 chromosome-bearing organisms are
Answer: (a) males and females, respectively

20. Which of the following steps are catalysed by Taq DNA polymerase in a PCR
reaction?
Answer: (c) Extension of primer end on the template DNA

21. Which one of the following is not a major characteristic feature of biodiversity
hot spots?
Answer: (d) Mostly located in the polar regions [ &I &U & gfdid &7l & fed

22. Match the scientists listed under column ‘I’ with ideas listed in column ‘I’
Answer: (b) A-(iv); B-(i); c-(ii); D-(iii)

23. Viviparity is considered to be more evolved because:
Answer: (c) The young ones are protected inside the mother’'s body and are
looked after after they are born, leading to more chances of survival /anaﬁaT
o 2reie & 3ige eeferd fasd oiTdl § 31T 3oTds TTedl ob d1G Jolch! G&IafTes ohi HiTd §,
fAeTd 3oTcb Hifdd ¢gat ohi ardel 96 oiidt 2l

24.In malignant tumors, the cells proliferate, grow rapidly, and move to other
parts of the body to form new tumors. This stage of disease is called:
Answer: (b) Metastasis / AcIZciad

Match the following list of bacteria and their commercially important products:
Answer: (c) A-(iv), B-(iii), c-(ii), D-(i)
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INSTRUCTIONS / fdr:

1. Examinee are required to answer in their own words as far as practicable.

qreTreft Tomig e sl H B SIN < |

2. This question paper has four sections: A, B, C and D. Total number of questions
are 52.

9 o0 | IR WUS — A, B,C Td D& | {el ULAl o HEAT 52 T |

3. There are 30 Multiple Choice Questions in the Section A. Four options are given
for each question, choose one of the correct options.
TUS A H {oT 30 Igfdhedld U & | ISP U @ IR fddeyu Ay 7 g,

$H 9 TP el fadhed &1 aue HIfY |

4. Section B — Question numbers 31 — 38 are very short answer type. Answer
any six of these questions. Each question carries 2 marks.

Eus B H U 6T 31 — 38 JIfa el SO Y €| 3 9 fhE) v
el & IR QNG | TS U9 &I A9 2 3id FRITRT 2 |

5. Section C — Question numbers 39 — 46 are short answer type. Answer any Six
of these questions. Each question carries 3 marks.

EUS C H U AT 39 — 46 oY SR YT € | 37 9 fhs! oy wedl
P IR ST | TP U9 BT J149 3 3 iR 2 |

6. Section D — Question numbers 47 — 52 are long answer type. Answer any four
of these questions. Each question carries 5 marks.

WUS D H U WA 47 — 52 <k SO g 2 T 9@ fh IR
gl & ) I | U U bl 919 5 3 FRIiRd 2
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Section-A (TUs-d) (1 x 30 = 30)
A relation R on set {1,2,3}is given by R = {(1,1),(2,2),(1,2),(3,3),(2,3)}. Then
the relation R is
(a) reflexive (b) symmetric
(c) transitive (d) symmetric and transitive

T da R 99 {1,2,3} R R = {(1,1),(2,2),(1,2),(3,3),(2,3)} s=r ufRwifa
2 ol 99 R B

(a) ¥adcd (b) FHHT

(c) AhrH® (d) AT TR FhHB

Let f: R — R be defined as f(x) = 3x. Choose the correct answer.

(a) fis one-one onto (b) f is many-one onto

(c) f is one-one but not onto (d) f is neither one-one nor onto
a9 fafsy & f(x) = 3x g1 9R9INT ®ed f:R —» RE | 981 SR gy
(a) f ThaT ATWTED © (b) f 98T® IMTBIEH ©

(c) fudhal g g smeole® w8l & (d) f 5 df Ubdl & 3R 7 BIad ¢ |
If f(x) = x* + x + 7 then fof (0)is

(a) 7 (b) 63 (c)49 (d) 21

afE f(x) = x> +x+ 77 fof(0) =

(a)7 (b) 63 (c)49 (d) 21

Principal value of tan™(—1) is

(a) /4 (b) —m /4 (c)3m/4 (d) —3m/4

tan~!(—1) & =G 99 7

(a) /4 (b) —m/4 (c)3m/4 (d)—3m/4

| f éi-l__37l jﬁ] = [}7] Sxy-l-_67 ,then the value of x, y are respectively
2x+y 4x1_[7 5S5y—7 _

W) 4= y x+6]?ﬁx’y$mw'§

(@)3,1 (b)2,3 (c)2,4 (d)3,3

If A be any square matrix, then (4 + 4") is

(a) identity matrix (b) symmetric matrix

(c) skew-symmetric matrix (d) none of these

afe A B ot areE R, @ (A+4) R

(a) doTHD AT (b) FHfHT 3TegE

(c) faws o *regg (d) 3 | ®Ig &)
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10.

11.

12.

13.

14.

IfA=[—-1 2 3], thenorderof matrix A4 is

(a)1 x3 (b)3 x1 (c)1x1
GTA=[—-1 2 3] arTgg A & IIfc =
(@)1 x3 (b)3 x1 (c)1x1

IfA = [411 %],then |2A]is equal to

af%A=[i g]aﬂzmzmm:r%

(a) 2]4| (b) |A] (c)4]A|

(d) none of these

o

(d) 379 & ®Is el

(d) 8|A|

The number of all possible matrices of order 3 X 3 with each entryOor1is

3x 3 ®ifc & U IMGEl B Gl [l TAT BRI [Tl gdas gfafe 0 ar 1 &7

(a) 27 (b) 18 (c) 81
2 3 x 3 )
|f |4 5|=|2x 5|,thenx|s
(a) 2 (b)-2 (c)0
2 3| _|x 3
afy |4 - _|2x 5|,Fﬁx§
(a)2 (b)-2 (c)0

d
If y = log(logx),x > 1then ch—] is

d
afe y = log(logx),x > 1 @@ ﬁ
1 X 1
(@) - (b) —— (c)
gx logx x logx

If (af2) VX + /¥ = va, then () Z—i’:?

_Vx _ 1y 7
(a) 7 (b) == (z) v
If (af) y = Scosx — 3sinx, then (i) ZTZ =
(a)0 (b)y (c)—y

(d)512

(d) none of these

(d)gT & PIg el

(d)

x logx

(d)O

(d) x

The rate of change of the area of a circle with respect to its radius r atr = 5cm is

gd B AABA H URTAT Bl R FHD AT & A @1 B o A1 5 cm 817

(a) 10w cm? /cm (b) 20 cm? /cm

(c)27—2 cm?/cm (d) 110 cm? /cm
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15.

16.

17.

18.

19.

20.

21.

22.

| s equal to (ERTeR )

eX+e X
(a)tan~1(e*) + ¢ (b)tan"1(e™¥) + ¢
(c)log(e* —e ™) +c¢ (d)log(e* +e™*) + ¢

2
f e Zx dx is equal to (ERTR ®)

cosec~x
(QJtanx + x4+ (b)x —tanx + ¢
(c)tanx —x + ¢ (d)tanx + ¢
7T/2 .7 .
f_ﬂ/z sin” x dx is equal to (RTR 3)
(a) /2 (b) =1 /2 (c)m (d)0
1 1 _
fO 1+x2 dx =
(@) /2 (b)m/3 (c)m/4 (d)m/6
: . . d%y dy
Sum of the order and degree of the differential equation — = |1+ (—
dx dx
2
JqH FHIDRYT dz—f= /1+(d—y) Pl Pl TAT ©TG BT ANHA 8
dx dx
(a)1 (b) 2 (c)3 (d)4

What is the integrating factor of the differential equation

ay
— + ysecx = tan x?
dx

d .
3AdH FHTHRT d—y+ysecx = tan x &1 FATHAT OIS T &2
X

(a)secx + tan x (b) log(secx + tanx)
(c) eSec* (d) sec x

If the vectors ai + 3f — 2k and 31 — 4] + bk are collinear, then (a,b) =
afy afeer ai + 3f — 2k @1 31 — 4] + bk @ €, @ (a,b) =

WC) w2 6l-) @29

Thevalueofi-(jx I:t)+j-(ix12)+12-(i><j)is
-Oxk)+j-(xk)+k-(x )@ am 2
(a) 0 (b) —1 (c)1 (d)3
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23.

24.

25.

26.

27.

28.

29.

f@ =5i+j—3kandb —31—4]+7k thea
gfe @ =5i+j—3k 3R b =31—4j+7ka

b 8
(a) 15 (b)-15 (c) 10 (d)-10
If|@| #0, |b|#0and @ x b = 0, then
afe |@|#0, |b|#08R @x b =0 &,
@@ =b (b)@ L b (@ b @b =axb

The direction cosines of the vector i+ 2 j + 2 k are

afeer i+ 2+ 2 k &1 fem—pragT grm
1 2 2

(@1, 2, 2 05, 50 5 (c)

The vector equation of x-axis is

x-316T BT Al AHHIT 8
(@)7 =i )7 =j+k (7T =1 (d) 7 = Af

x—5 y—=2 z+4
If the cartesian equation of a line Lis 3.~ 2  _g then the vector

equation of that line L is
xX—9V 'y 72 zft+4

Afe TH @1 L B FIAG FHGRT —5— =" — =g~ &, @ W @ &
Aleer FHIHROT BT

7=(5{+2j+4k)+A(3i+2j—8k)

)7 =(31+27-8k)+A(51+2j—4k)

=(51+2] 4k)+/1(31+2]—8k)
(d)r=(Si+2j—4k)+(3i+2j—8k)
_ x—1 y—-1 z—-6 x—1 y—-2 z-3 _
If lines 3% - 2 1 and 1 - 2k - 7 are perpendicular,
then the value of k is

wx—l _y—1 z-6 x—1 y—-2 z-3 _
DIy =T = W =T = TR I B,
Eﬁka»‘rm?%*
(a)-1 (b)1 (c)o (d)7

1fP(A) =0.2,P(B) =0.5and P(B/A) = 0.4, thenP(A/B) = ____
afs P(A) =0.2,P(B) = 0.5 (B/A) =04 a P(A/B)=___
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30.

31.

32.

33.

34.

35.

36.

37.

38.

(a)0.32 (b) 0.64 (c)0.16 (d) 0.25

If A and B are independent events, then which is not true

Ife A 3R B T Wdd "edl 8, d dI9 9 -8l 2

(a)P(AN B) = P(A)P(B) (b) P(An B) = P(A)P(B)
(c) P(AUB) =1-P(A)P(B) (d) P(AUB) = P(A) + P(B)
Section-B (Wvs-4) (2% 6=12)

Let f: R - R be given by f(x) = x? — 5x + 4, then find the value of fof (1).
Ife fiR-> R, f(x) =x? —5x+4gRT U &, A fof (1) &I A T4 HIIY |

Write all one-one functions fromset A = {1, 2, 3}to itself.
Tz A ={1, 2, 3} 9§ W d% T Thal Haad Bl o |

2 3 17
Provethat (Rig @Ifv f&): tan™? 3 +sin~?! 5= tan~?! <
Find minor and cofactor of elements 6 in the following determinant

frrafarRad AR & 3add 6 &1 SUIRTEG 3R Te@vs Sird By

1 2 2
4 5 6
7 8 9

d
Ifx =a(@ —sin@), y = a(1 — cos @), thenfind ﬁ.

A=

d )
afe x = a(@ —sin @), y = a(1 — cos ), a’fﬁﬁlﬁaﬁl

dx
Evaluate (STd &Y): fm

Find the integrating factor of the following differential equation

FerfeTiad araehel FHIBRUT BT HATDH 0T ST DHITSTY

d
x£+2y=x2 (x #0)

If Aand B are two events such that P(A) = 1/4, P(B)=1/2andP(ANB) =1/

8, then find P(not A and not B).

afs A R B &1 & geaw ' f& P(A) =1/4, P(B)=1/2 3R P(ANB)=1/8

ar P( A-=81 3R B--1g1) 3d #Ifofu |
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39.

40.

41.

42.

43.

44.

45.

46.

Section-C (TIvs-) (3% 6=18)

. Sifx#0 | |
Prove that the function f(x) = § I« is not continuous at point x = 0.
—1ifx=0
Zifx#0

%gaﬁﬁﬁw:rf(x)={lxl fIg x = 0 W ¥ad &I 2 |

—1ifx=0

If area of triangle is 35 sq units with vertices (2,—6),(5,4) and (k, 4), then find
value of k.

afs = (2,-6),(5,4) 3R (k,4) aret S &1 &% 35 o gHbs & o k &
A T BN |

Find the interval in which the function f(x) = 2x® — 3x? —36x + 7 is

(a) increasing, (b) decreasing.

R =M ity o1 ®ed f(x) = 243 —3x2 —36x + 7
(a) &M (b) BTHATT 2B |

d .
Find d_y if y = x5"% 4 (sinx )¢0s*
X

d !
d—yngFf DIy afe y = xS0 + (sin x )©0s*
X

. + 2
Evaluate (A9 f9@rci): j ad X
Va2 +2x+3
ooVx
Evaluate (A9 f@rei): f dx
( ) 0 V4 —x + \/3?
f@=3i+j+4kandb =31—+5 Kk, then find
gt @ =31+j+4kan b =31—j+5k a sad Sifow
() |@]+|b]| (i@ xb (i@ b
If the wvertices A,B,C of a triangle ABC have position vectors

(1,2,3),(—1,0,0) and (0,1, 2) respectively, then find 2ABC.

afs fedt st ABC & ¥f¥ A,B,C %we: (1,2,3),(—1,0,0) @11 (0,1,2) €
al £ABC <d HIfvT |
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Section-D (TIvs-HI) (5 X 4 = 20)

47. Solve the following system of equations by matrix method

48.

49.

50.

51.

52.

ferferRaa Fiaxor faera & ez fafr 9§ g o
5x+3y+z=16
2x+y+3z=19
X+ 2y+4z=25

Find the maximum and minimum value of x3 — 3x + 3

x3 — 3x + 3 P HSTH TAT YATH AT ST DB |

Find the shortest distance between the following pair of lines

FrfeTRed War—gwl & 9 & <o [ S B
7=0+2j+k)+pu(i—-j+k)and7=(21—j—k)+A(21+j+2k)

A card from a pack of 52 cards is lost. From the remaining cards of the pack,
two cards are drawn and are found to be both diamonds. What is the
probability of the lost card being a diamond?

52 TSl & TSI 9 U U1 @ oifal 2 | 99 Ot & W g Ul firel o 2 o
SCh W 2| W U T P sC B b UIAHhdr T 27

Solve the following L.P.P. by graphical method:
Minimize z = 20x + 10y
Subjectto x + 2y <40

3x+y =30

4x + 3y =60 andx,y = 0.

frrferRaa YRae T TRaT @1 elEig fafsr 9 gt e
RLATFIHRT BNz = 20x + 10y
St x + 2y < 40

3x+y=30

4x + 3y =60 andx,y = 0.

Using integration find the area of the region bounded by the parabola y? = 16x
and the line x = 4.

FATHAT BT TN BR WRaerd y2 = 16x TAT WA Y& x = 4 ¥ TR & @7
S T N |
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Answer = Key

Q.N. 1 2 3 4 5 6 7 8 9 10
Key A a b b b b a c d a
QN.| 11 12 13 14 15 16 17 18 19 20
Key c c c a a c d c d a
Q.N.| 21 22 23 24 25 26 27 28 29 30
Key b c d c d c c b b d
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T GR¥&T (Annual Examination)
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e — XII fowey — e fast T — 3 EueT quifes — 70
Class-XII Subject- Computer Science Time- 3 Hour Full Marks - 70

AT f<eT (General Instruction)

>

>
>

otemeff TrRIYg 319 gTeal § SR <1 (Examinee write answer in their own words as far as
practicable.)

owq%ﬁiﬁm% 2l (The total number of questions are 48)

T UF T IR TS H T fham T 81 ocdep @S | FIReIRR SR <7 3 81(The question
paper is divided into four sections. It is mandatory to answer each section as per the
instructions.)

TS —A H U4 GEIT 01 9 25 b Tgfacbed1d T4 €l Uedieh T4 & foTq 1 3fep (iR & | Icdeb o4 b
YR febey AU & | LT e b1 e BISRY | Tefer I & foY 1S 37eh &l I SITYT | (Question
numbers 01 to 25 in section-A are multiple choice questions. Each question carries 1 mark.
Four options are given for each question. Choose the correct option. No marks will be deducted
for the wrong answer.)

TS —B N UH AT 1 A U5 G&AT 9 T JACTTTRIT T4 81 375 A fpeal A1t T8l b IR Aferepas
TP I1FT H SIOIGl YAd U B A9 1 37 iR 8 (Section-B contains very short answer
questions from question number 1 to question number 9. Answer any seven of these questions

in maximum one sentence. Each question carries 1 mark.)
TS —C H Uy AT 1 I T8 TEAT 8 T TSI T4 81 T4 3 fhee 6 Tl & IR 31erae™ 50
gTeaT H SHOTTI e U &1 J1 3 3idh (e TRe 81(Section-C contains short answer questions from

question number 1 to question number 8. Answer any 6 of these questions in maximum 50

words. Each question carries 3 marks.)
WE —D H U GAT 1 I U 6 Tb SIESTRIT I &1 379 I fhral IR T8} & SR 31fIehd™ 100 9Tea
5 T UR% T @1 99 5 3 fFrIiRa %I(Section-D contains long answer questions from

question number 1 to question number 6. Answer any four of these questions in maximum 100

words. Each question carries 5 marks.)

C++ is developed by

Dennis Ritchie
Ken Thompson
Martin Richard

Bjarne Stroustrup

s -A
(Section-A)
1 C++ fhach gRT forenfad fovam 7/ar 872
A SRR
B & TEH
c Af&af=s
D SRR
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String Terminator character is

None of these

DBMS Stands for

Database Management System
Database Manual System
Define Management Solution

None of these

The smallest individual unit in

Semicolon
Data type
Token

Keyword

The process of finding the location of the particular
element in the array is called

Traversal
Searching
Sorting

None of these

The Boolean expression A.(B+C)=AB + AC is
Associative law

Commutative law

Absorption law

Distributive law

Destructor name is preceded by

& H*
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The term ‘attribute’ refers to a

Table
Row
Column

Relation

Main is a /an

Object
Function
Literal

None of these

F stream class is used for

Input operation

Output operation

Input /Output operation
None of these

A set of logical operator is

+-*1%
?
><>=<=

None of these

Pointer is a

variable that holds address of other variable

Pointer name is preceded by *

void pointer is a pointer which can hold the address of
any data type

All of these.

STACK follows

GIGO Technique
FIFO Technique
LIFO Technique

None of these
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$TYC 3iToRer

3ITITYE ATaRe
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T A PIS TEl

qTfches JATIREX T Th I &
+-*1%

?:

><>=<=

None of these
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When several classes inherit the properties of same

common class is called.

Single inheritance
Multiple inheritance
Hierarchical inheritance

None of these

People standing in a line is an example of

STACK
QUEUE
ARRAY
Linked list

................... is a Browser

C++
Firefox
Telnet

Cookies

A set of conditional / ternary operator(s) is / are

+1_v*7/v%
>,<,>:’<:,::'!:
&&,||,!

?:

Which operator has the lowest precedence?

Sizeof
Unary
Assignment

Comma
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In C++ programming strlen() function is used for

Count length of string
Copy two strings
Compare two strings

Concatenate two strings

In C++ programming array index is always starts from

Which loop checks the condition on

Top
Bottom
Middle

none of these

Which of the following is the symbol for AND operator?

Il
&&

&

none of these

What will be the output of the following condition
statement A = 15>157?15:16

16

15

31
none of these
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If an array is declared as intarr [5] [5], how many
elements can it store?

10
25

In C++ programming ‘v’ is used for

Form feed
Line brake
Vertical tab

Alarm

Write the difference between Data and Information.

ST 3R a1 & srer 3R fordl

24
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TS -B
(Section-B)

i fodY EROft @Y int arr [5] [5] & B9 F SNST far
ST &, T a8 fdbay dca bl TURIT - Fahalt 872

10
25

C++ TIUIFT H v’ BT SYANT fhaeh forw fapam Sirar &

i g
SIEREED
aféamer &
3retrf

What is Token? What are the names of different types of Token?

I T 872 fIR—T TR & e o 19 T 872

Write the differences between Unary operator and Ternary operator.

Y SRR 3R TR SR & e iR Rl
Give the output of the following

#

void main()

{

int x;

for (x=1;x<=12;x*=2)

cout<<x<<endl;

}

f=TfetRer T aTSeye &
#

void main()

{

int x;

for (x=1;x<=12;x*=2)
cout<<x<<endl;

}



What is function? Write the types of function.
Hae a7 &7 Hhae & TR fe1Rau)

Explain the concept of Encapsulation.

TADRICTI ST STTLRUIT BT TSI

Explain the concepts of minterm and and maxterm.
fieH 3R HaaeH 6t STERUTR o FHATEY

Define
a. Hub b. Repeater.

R ™
a. &9 b. Rdiex.

What is Inheritance?

TN T 87

9s -C
(Section-C)

Write a program in C++ to find the sum of any five odd numbers.

fopt oft ey fowT HReamatl T 1T S Y & forq C++ o T forall

What is Inline function? Write its advantages and disadvantages.
SIS thara = T &2 9P T 3R &1t forRau

Define Data types, Explain different types of datatype with examples.

ST UBRT B IR o, SSTERUIT & FTe It~ YR & Sy & T o)
What an algorithm of Bubble sort of Binary search.

TE HAT I8l YR BT ITSINT T DT U TINSH Bl

What is array in C++7? Explain its types.

C++ ffarray TITE? WWW’I’S’QI

Draw the circuit diagram and truth table of X + xY.3.

X + x Y.3 3T UG 3TRYF 31k G TROf a7

Define single inheritance and explain with suitable example.

TeheT G T ARMTINE BN oI SUwh SaTexvl Afed T

What is guided media? Explain.
ffare Mfsar wm &2 9Tl



@S -D
(Section-D)
What is an operator overloading and operator overriding? Explain it with a suitable example
STTREY SR 3R STRCR SRS ET FT 22 TH ST IITER | TG

What is an inheritance? What are the different types of inheritance supported in C++? Explain all
inheritance supported in C++.

STERCT T 82 C++ H FARNT 3RS & A= TR 71 82 C++ H T Tff $7eReH & IR 7 o]
Write a program in C++ to find the sum of any five numbers using constructor member functions.

PRI A TareT T SUIRT Fxep foedT off Oty AT T ANT ST vy o folq C++ H T T forey |

Obtain postfix notation for the following infix notation manually.

o

FreATTREeT $ITther AT & foTg URefther ATcer H7g3fel U J UTH BN

What is logic gate? Explain fundamental logic gates with circuit diagram and truth table.
AT e a7 82 Afdhe SRR 3R AT dTferdT & ATer Hiferd T e & SIReaT an|

Write short notes on the following.

a. DDL b. DBMS
c. Tautology d. Server
f=ferRad uR wférg feoafort ford
a. DDL b. DBMS

c. CIerarait d. R



ANSWER

21

22

23

24

25

1"

12

13

14

15

16

17

18

19

20

10




ARGUS TP I Ud Hfdreror ik,
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aIfen URIe-2024
HISTORY MODEL QUESTION

PE -12 fowr — gicqer quTes — 80 I — 3 el

CLASS-12 SUBJECT-HISTORY Full Marks-80 TIME- 3 HOUR
AT forder - :

> wRiermeft TRy 3 eral H SR S

» Candidate should answer in their own words.

> aftuy srfar &

> All Questions are compulsory.

> T Ul & FeET-52 8

» Total number of questionis 52.

> U3 1 ¥ 30 T TgfIpetia I 81 S T4 S IR f[Idey g 1 21 |el fIeved o1 92 HIfoRN aid

¥ & foIw 01 37 fFreaiRa &

Question No. 01 to 30 are multiple choice questions, each question has four options. Select
the correct option. Each question carries 01 mark.

U GET-31 W 38 b AT o7 ITRIT T &l Frr & fpeel 6 il T IR AT ATt 81 Tedieh ey
&1 A 2 37 iR &1

> Question numbers 31 to 38 are very short answer questions. It is mandatory to answer any 6
questions. Each question carries 02 marks.

> U GEAT 39 W 46 T 1Y STRIA U &l TR 4 febeel 6 T b1 STR <1 AT 81 Tcdieb U e
9 3 37 FafRa 8

» Question numbers 39 to 46 are short answer questions. It is mandatory to answer any 6
questions. Each question carries 03 marks.

> TE G 47 W 52 S ITRIT T 81 el 4 U7 BT SR <A1 ST 81 U T8 Bl 71 5 37
REIEGE

» Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4
questions. Each question carries 05 marks.

A\

Y

TS-A
(Section-A)
1. ARG QRIS BT O oy T SIIar g 2 Who is called the father of Indian Archaeology ?
a) 3TeTaoIeR Bivier a) Alexander Cunningham
b) IR ATEAT b) Dayaram Sahni
c) IRITA ST T c) Rakhal Das Banerjee
d) T 3R T d) S RRao
2. dlg RS T H fohehT AENMUS BT Seetd & ? How many Mahajanapadas are mentioned in Buddhist and Jain texts ?
a 10 a 10
by 12 b) 12

c) 14 c) 14



10.

11.

12.

d) 16

O T & T & G FHleT D AR e s 2
a) NMB

b) S-S n

c) HiTDH

9 @

7 & Fequl Sl el fdereT |l et T 2

a) 5

b) 4

C) 3

d) 9

T g =7 70T UgelT SUY fohed T o fem o 2

a) ?@ﬁﬂ‘]’\’

b) AR

c) c_*loﬁ:ﬁ

d ™
SIS 1 febed YRcieh & Tt <t off

a) foame Safde

by Rear

c)  IMET IrHET

ISR &7 =T o3 o <12y &2 Jerf Tt <& ?
a) PleiIdhe T
b) AT Y
c) gy 3
d) CRLE1RG]
HiTeTebTet I QfcigTRich ial & amfever oft 2
QfererRicn ser
TRBRY T IR TR ATt
I BHIATeT ¥ g4T SHR Ve RSB
ST Faut

o QO

(2]

)
)
)
)

o

IR = 1] AT BN B e FHTY fopar e 2

a) 1562

b) 1563

c) 1564

d) 1565
erTeT fdgTe el §aiT T 2

a) 1857

b) 1858

d) 16

Who got the Sudarshan lake repaired at his own expense ?

a) Ashoka
b) Rudradaman
c) Kanishka

d) Skanda Gupta

The whole life of a human being is divided into how many parts?

a) 5
b) 4
c) 3
d) 9

At which place did Gautam Buddha gave his first sermon?

a) Kushinagar
b) Sarnath

c) Lumbini

d) Gaya

Which book was written by Ibn Battuta?
a) Kitab ul hind
b) Rihla
c) Ain-e-Akbari
d) Akbarnama
Who authored Padmavat?

a) Kabir

b) Tulsidas

c) Ameer Khusro

d) Malik Mohammed Jaysi

When did the battle of Talikota take place?

a) 1526 AD
b) 1556 AD
c) 1565 AD
d) 1575 AD

Vijayanagara always had conflicts

c) Buildings and monuments built during that period

a) from Calicut
b) From Cholas
c) from Pandyas
d) from Bahamani
Which one was included in The Mughal period historical sources?
a) Historical texts
b) Government and non-government documents
d) all of which

When did Akbar abolish the pilgrimage tax?

a) 1562
b) 1563
c) 1564
d) 1565
When did the Santhal rebellion take place?
a) 1857
b) 1858

with which Kingdom?



13.

14.

15.

16.

17.

18.

19.

20.

21.

c) 1859
d) 1860

1857 ¢ a1  fSER T e ey fepam o 2

a) AT AR
b) dR e Rig
c) I AeHeTS
d) fefiy Rig
HERID AT P TeeRIT T Bt 2
a) dRRFdRd
b)  and sReT
c) drgsReT
d) S dertelt
T T <t FarerT AT & arede HiF o ?
a) INEUAR
b)  SETEN oflel -8
c) T fgeaR
d) SR UCA
BHADGITH Haled AT T LATIAT e i T off ?
a) 1771 %
b) 1772 %
c) 1773 3
d) 1770 §
AT J1EST AT BT TRY fohaT fasam 2
a) reft Sft

by SR JleT TE®
c) A el 3N
d VI

PlerTe HM IR B 3TRIT 2

a) A 1946

b) 3eT 1945

c) ST 1942

d) 7E 1945
qRCTH o7 &Y LAY Dl 3R Del T TS 2

a) 1905 TRETSH

b) 1906 Tt

c) 1907 TR

d) 1909 FHeTardT
IR ¥ forat Ramyr eff 2

a) 562

b) 563

c) 564

d) 654

T e BT S+ e GIHT ?
a) 1469
b) 1478
c) 1479 3

c) 1859
d) 1860

Who led the revolt of 1857 in Bihar?
a) Nana sahib
b)  Veer Kunwar Singh
c) rani laxmibai
d)  DilipSingh
Who introduced the Subsidiary Alliance system?
a) lord clive
b) Warren Hastings
c) Lord Hastings
d) Lord wellesley

Who was the chairman of the steering committee of the constituent

assembly?
Rajendra Prasad

Bhim Rao Ambedkar
d) Sardar Patel
When was the Supreme Court established in Calcutta?
a) 1771 AD
b) 1772 AD
c) 1773 AD
d) 1770 AD
Who started the Civil Disobedience Movement?
a) Gandhiji

)
b) Jawaharlal Nehru
)

O

) Jawaharlal Nehru
)  Abul Kalam Azad
) Subhash Chandra Bose

o O

When did the Cabinet Mission come to India?
a) March 1946

b)  April 1945
c) June 1942
d) May 1945

When and where was the Muslim League founded?
a) 1905 Lucknow
) 1906 Dhaka
c) 1907 appearance
) 1909 Calcutta

How many princely states were there in India?
a) 562
b) 563
c) 564
d) 654

When was Guru Nanak born ?

a) 1469 AD
b) 1478 AD
c) 1479 AD



22.

23.

24,

25.

26.

27.

28.

29.

30.

d) 1468
e IET T HewIe ITHRIT BT FRAST HaT ST & ?

a) TIRR
b) ESENGl
c) HTh! arett
d) STATEHT
QRIVTT T HeET feberit & 2

a) 16

b) 18

c) 19

d) 12

HETYR P BRI TS BT AH FATE 2

a) RSHA™T

b) HEMYRT

c) PROEIE

d) ST P &
g7 foh A&t o fbA Ry & 2

a) Y

b) iy

C) ARaT

d) IR
OR BT aref & —

a) §8?

b) o

c) SefHT

d) Hierar
JRENAT Pal P TBT T ?

a) geat

b) qefTTet

c) o

d) B

gredt RS fafesr dg F o ber &t 78 oft 2

a) 1800
b) 1812
c) 1813
d) 1850
ESY el fepT T bt off 2
a) GISEESERT
b) TS FTSd
c) AE Pl
d) IR BRET
PIC T TATT DT TRATYAT P&l I g off ?
a) DeldhTT
b) B

c) CE=]

d) 1468 AD
Which traveller is called the king of medieval travellers?
a) Tavernier
) Ibn Battuta
) marco polo
)

o O T

Alberuni

How many Puranas are there?

a) 16
b) 18
c) 19
d 12

Persian translation of Mahabharata is known as?
a) Razmnama

b)  Mahabharata
c) Granthnama
d) none of these

Harappa is situated on the bank of which river?

a) Ravi

b)  Indus

c) Bhogawa
d)  Saraswati

The meaning of Peer -

a) God

b) Teacher
c) Ulama
d) Maulvi

Barbosa was a traveller from?

a) Italy

b) Portugal
c) Russia
d) France

When was the fifth report presented to the British Parliament?

a) 1800
b) 1812
c) 1813
d) 1850

Who implemented the policy of annexation?
a) lord dalhousie
b)

c) Lord Curzon

d) Warren Hastings

lord clive

Where was Court St Georges established ?

a) Calcutta
b) Madras
c) Bombay
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32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

45.

46.

et d) Delhi

Ts-B
(Section-B)

3fer T ST Uy

Very Short Answer Type Questions

BT AT HET el fApRiT g5 o 2

Where did the Harappan civilization develop?

2T W BT IR = T 2

Who started the Shaka era?

AT & o BT AR fafam)

Write the name of the author of Natyashastra

i ¥ e B @ier R 2

Who discovered the Sanchi Stupa?

Who wrote the book “Travels in the Mughal Empire” ?
[T Ufeh TSI P o PR dATed DI o 2

Who was the first person to start the Bhakti movement ?

TET XTSI Y T Bt o 2
Where was the capital of the Bahamani kings ?
YR & 3T aIgaR™ i o ?
Who was the last Viceroy of India ?
Ts -C
(Section-C)
T SR U

Short Answer Type Questions

TARIY TR W AT FATHHA & 2 FRbl 5 feroannd for 2
What do you understand by permanent settlement? Write its main features?
RactTer STTRIE & 31T I WHeT & 2

What do you understand by Khilafat Movement?

SIfTerE & 3T AT HHA & ? STPT FATAGA © ?

What do you understand by record? What are their importance?
By IeuTeT § Afgersi @i et @ aoiT Hfor)

Describe the role of women in agricultural production.

e T &t SR iR @ aote R

Describe the important committees of the Constituent Assembly.
fraT et T o v o et

Write an essay on Kitab ul Hind.

HETIRT & Hed IR FPTT STyl

Throw light on the importance of Mahabharata.

31T RT forvTor &t fore aRE I o 2

How do the common people think about Partition ?



47

48.

49.

50.

51.

52.

s -D
(Section-D)

e SR uH
Long Answer Type Questions
=8l IR e BT3RS

Answer any four questions.

SETIIATERT AT STeh STawAT BT U I
Describe the postal system described bylbn Battuta.
e i iffes iR T auie |

Describe the religious policy of Akbar.

T WEST & ARBLATAT 84 & FIT HROT o ?

What were the reasons for the Magadha Empire becoming powerful ?
AigToiEs! 6 o fRreraare BT qui Hifoml

Describe some features of Mohenjodaro.

1857 & firsis it RrheraT & HRON &1 Seakg |
Mention the reasons for the failure of the revolt of 1857.
SRTEINT STV & IR F 3T AT AT &l o vl

What do mean by non-cooperation movement? Describe it.
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Wﬁ&ﬂ (2024-25)
SHAR@US AaTeh HeTeee ve HiRrefor aive,

AISS 9 IF (@E(50) dqc-1
el 12 fawr. i THT. 15 Her quife. 25
AT [Aer-
Tl 25 TR & |

>
> T ueat & 3 AT B
> Ul U o forv 1 37 TeTRa g
> Ucdeh U2 o IR [Gehed fGUITT § | TR [dehed ol adel shifaid |
> ITeld 30X & foIT IS 37eh 18T I ST |
IEAY Uy
1) TUTdTE B YR H {64 e &I a1 Agayul AT 1 87
Which component is considered more important in the concept of possibility?
a. AFdIY ¥¢d (Human Component)
b. WW (Natural Ingredients)
C. W@WW AL (Both human and natural components)
d. sqﬁﬁaﬁé:@ (None of these)
2) BT TR P S5 fhat gl 82

What is the population of Mega City?

a. 10 @G (1 million) b. 50 TRE ¥ 31fYH(More than 5 million)
¢. 1HUS (10 million) d. 1 @ (0.1 million)
3) fay & Taifere SHUE Higd g

Largest population concentration in the world.
a) qdayg REIRE] (In mountain area) b) ﬁ'd'l‘ﬁff (In plain)
c) TSR H (In plateau) d) qod H (In desert)
4) HRAIG SIT0MT Sfeer & forg 9 &1 Ac fearse &1 I &l s 82
In the Indian census history, which year has been termed as the Great Divide?

a) 1911 b)1981




c) 1951 d)1921
5) HId fITe &1 srauron FafiRad # 9§ ford fagH & & o7
The concept of human development is the gift of which of the following scholars?
a. . 3\ a9 (Pro. Amartya Sen) b. SI. Hedd 3¢ &P (Dr. Mahbub Ul Haq)
C. Q?’F[Fﬁ. I (Alan C. Sample) d. Yeud (Ratzel)
6) i O I fou oY ypR &1 fasr Rt siuf~afRie g grt fear e

Which of the following types of agriculture was developed by the European colonial group?

a. ®IA@eS (Kolkhoj) b. gI@IG (floriculture)
c. farfga ?ﬁl (mixed farming) d g ?ﬁl (Planting Cultivation)

7) BiicheeR fhad IdTed I Tafdd 82

Horticulture is related to the production of?
a. Wﬁ( (Production of Flowers) b. ANES] (Production of pulse)
c. 3T (Production of Grains) d. Bd 3R Feoll T
8) 9 & ¥ o 1 I Yy T B2
Which of the following is not a planation agriculture?
a. PIBI  Coffee b. AT sugarcane
C. ﬁ_§' wheat d. XIS rubber
9) FH & 9 HH-I U& srfeaw & Iare o WiHd A Td gidl 57

In which of the following economies, production is owned by individuals?

a. Trﬁ?flff (capitalist) b. fHfera (mixed)

c. JHISIATE (socialism) d. s——ﬁr@faﬂs‘qﬁr (None of these)
10) SITU &1 SerIC fahdl gl STl 62

Which city is known as the Detroit of Japan?

a. S (Tokyo) b. T (Nagoya)

c. NI (Nagasaki) d. 3TTeRT (Osaka)
DEEEICIHERIRET I ICECIRIEE

When was the new industrial policy announced?
a. 1990 b.1991

c.1992 d.1993



12) U fasfra srdogayr ), SIFRRe &1 §18T ST e R 1R &var g2

In a developed economy, larger proportion of population depends on?

a. Uy &%3[ ( Primary sector) b. W aﬁ (Secondary sector)
C. ?‘Fﬂw & (Tertiary sector) d. ag% RE] (Quaternary sector)
13) BT TR Hol U &7
Where is the Kiel Canal located?
a. @%:T(Britain) b. Glff:ﬂ(Germany)
c. sfcoras (Belgium) d. ¥Y(Russia)
14) 9 {6 YR o1 TA1eH g2

What type of resource is water?

a) dIHRUY b) ThIT TATH
c)a'q’w?ﬁ d)aGﬁTb?ﬂzﬁ
15) 3MT% P & fora-t AT ot 3Tawa® &2

How much annual rainfall is required in wetland agriculture?
a) 25 ACHICR Y BH (Less than 25 cm)  b) 25 F 50 IR (25 to 50 cm)
c) 75 TR T 3ifd® (More than 75 cm) d) @ﬁ@[ﬁ'ﬁcﬁ (Non of these)
16) SHALR WA A &F FT Y 82

Where is Ankleshwar Mineral Oil Field located?

a) ISRId (Gujarat)  b) HERIY(Maharashtra)

¢) 39T (Assam)  d) AHTATG (Tamil Nadu)
17) T3y &1 Ta oad Qg AN S AT 8?2

Which is the busiest sea route of the world?

a. 3T Sfedifed(North Atlantic) b. URITd HBIFR((Pacific Ocean)
c. i< memmR (Indian Ocean) d. afér seqifes (South Atlantic)
18) WTO &1 =TT Hal &7
Where is the headquarters of WTO?
a. SiHar (Geneva) b. STepTdl (Jakarta)
c. faarn (Vienna) d. ATeditea (Montevideo)

19) DI U B8l HARUT8?



Where is Kochi Port located?

a. prich | (In Karnataka) b. 3nfeemd (In Odissa)

c HAH (In Kerla) d.mﬁ (In Tamilnadu)
20) s Taaula Ao & THTSArG! JHS S RITAHT T UiiRed URgd a1 T
In which five-year plan was the model of the establishment of a socialist society presented?
a) UYH (first) b) fgda (second)
¢) qad (third) d) I (fourth)
21) fgfaRad & § & 91 Y-Iuah ot 78t 87

Which of the following is not a land use category?

a) Rt E[&l (Fallow land) b) daid Wi&[ (Marginal land)
) g arar T éﬂﬁ(Net sown area) d) ?&( arg g @ (Arable waste land)
22) ST TRTEAT BT TREUT T SRe<T 87

Why is it important to conserve water resources?
a) ST U ¥ &9 & fe1T (To avoid water unavailability)
b) R aa‘cﬁ AT & ﬁm (For ever-increasing demand)
o) RTH®H G-ﬁTﬂ‘s_glﬁlﬁ ST & HRUT (Due to spatial and seasonal disparity)
d) 375 F 4T (All of these)
23) BOIRT-fASRqR-STERIGR T UrguensH 6y o0 § g1 18] ToRd 87
The Hazira-Vijaipur-Jagdishpur gas pipeline does not pass through which state?
a. HeRT¥ (Maharashtra) b. TSRId (Gujarat)
c. AT U (Madhya Pradesh) d. SR U™ (Uttar Pradesh)
24) fog ol Hfifa & IaRiwRur FsiieRur 3R dsfie=ur &1 Sgrar faan mar
In which industrial policy liberalization, privatization and globalization were promoted?
a. 1991 b. 1952
c. 1948 d. 1989
25) ' fiftre 2 Ty & AWD P -2
Who is the author of the book 'The Limit to Growth'?

a. UgRferd (Ehrlich) b. HISIST (Meadows)
c. {ETHT Mt (Mahatma Gandhi)  d. PSR Yeoid (Friedrich Ratzel)
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Wﬁlﬂ'?T(General Instruction)

> adreTelT TUTEHS 379 et H 3|

Examinee write answer in their own words as far as practicable.
> Tol gREl I HEAT 23 7

The total number of questions is 23

> 9T HEAT 1 W A HEAT 9 eh 3l o ST YA 8| SoTe A fohergl AT 9 & 3 3ifehcdd 50
erse & QST | Tedeh WaT &7 AT 1 37 AeTRa &1

Question 1 to Question 9 are very short answer type questions, Answer any seven of these questions
in one sentence. Each question carries 1 mark.

> TR AT 10§ TR HEAT 17 ofoh o STRIT TR ¢ | $oTH & fehegl 6 Teail o 3eX 3HTRIehct# 150 Qreal 7
QST | 93 TRt &I AT 3 37k [AeiRa B

Question 10 to Question 17 are short answer type questions. Answer any six of these questions in at
most 50 words. Each question carries 3 marks.

> U T 18 VYT TEAT 23 o T8 3T A & | 378 & fohogr 4 W2t 3 39T 31T ® 250 ersel &
AT YRS 9T &7 5 37 AR &

Question 15 to Question 19 are long answer type questions. Answer any Three of these questions in
at most 100 words. Each question carries 5 marks.




31 &g 38 gt

1. TFd 7T &I aRUTRd B3 |
Define Human Geography.
2. A4 faer & 9 g smam B9 3 72

What are the three basic dimensions of human development?

3. oAl US[ERY § 3T T JHA 82
What do you understand by nomadic pastoralism?
4. W@ & YR TR I BT a0 Ifor|

Classify industries on the basis of ownership.

5. it fohaTeard ¥ 3T F1 THIId &2

What do you understand by tertiary activity?
6. TdoT TgX b1 &l IFRI &1 SISl 52

Which two seas are connected by the Suez Canal?
7. e 9 B aRIRE B

Define population growth?

8. th ] Y g-dI o) dI(LIJ%?
What do you mean by crop intensity?

9. YRd & Yl d¢ R Ry =gl IR ueHi & = ford|

Name any four ports on the east coast of India.

agrm‘ﬁ‘zrl;re;r

10. Y919 & Ufdpy 3R 30wy HR® H 3R WY Hifeg|

Differentiate between the repulsion and the pull factor of migration.

11. 3 UNRIDt ST ST o B

Describe the high technology industry.

12. HRd & UISUATS- URdg & Ui a1y 9dTd |

Mention five advantages of pipeline transportation in India.



13, STRTPTT IR BT SHTaRAHT R 87
Why is International Trade Needed?
14, HRA & S5 faaR0T gfeed &1 9ol &38|

Describe the population distribution pattern of India.

15. YRd $I Teait 3R URFE oo sierl & Siar Wy Sifon |
Differentiate between parish and dispersed rural settlements in India.
16. YATUTT 3ol fhd B8 &7 SUHT 1 7 82

What is geothermal energy? What is the significance of this?

17. HRA H YS& a1 ¥ URAe Th-giR & RSP & WP |
Explain that road and rail transport in India are complementary to each other.

ABECIR AL
18. I & RITITHRUT B YHITA B T HIH-DIH F HRB &7

What are the factors affecting the localisation of industries?

19. 39 IeRIHRUT, fAsiiemur auT 3afie o ¥ o1 A 87 3514 HRd & Siienfie faer & fg
THR J AT fear 82

What do you understand by liberalisation, privatisation and globalisation? How have they
contributed to the industrial development of India?

20. Y- & HH B & U G

Suggest measures to reduce land degradation.

21. a1 Yo 4 G & TEd Bl W FIOT a1 Thc ol THIAd B aTd HRPI Bt R
DI

Explain the importance of tourism in the service sector and explain the factors affecting
tourism.

22. YRd H URTET & THE e HH-HH I 82 3% [ABN &I HIfdd & a1 HRab! B
[CEEEIKCaY

What are the main modes of transport in India? Discuss the factors influencing their
development.

23. fliu T fay & fog R Fgiferd STel @1 fafed #1 |

Mark the following places on the given world diagram.

a. ol 7TER (Suez Canal)
b. ST (Sri Lanka)



C. :{xﬁﬁvg (New Zealand)

d. SIS &1 WISt (Bay of Bengal)
e. MU (Greenland)
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) Time — 1:30 Hours o
Class-12 Sub. - Economics Full Marks- 30

AT [T -
General Instructions: -
> el 30 U9l 8l
Total number of questions is 30.
> A3t ussll o 302 ifeIart 3
All questions are mandatory.
» UcAD U6l D fe18 U 3l foralifad 3
One mark is assigned to each question.
> UcAD Usl AR [ddey fGu s1u 8] 28l fdaoeu ol arlol bifSTe
There are four options for each of the questions. Choose the correct option.
> 3IcId 3R & fe1e IS 3 ofdl Pl SIresl]

There is no negative marking for wrong answer.

1. 3cUIGeT HHATIAT T Jeh T alel BT 8-
The slope of the curve of production possibility falls-
(a) 9T & g0 (Left to Right)
(b) T & 1T (Right to left)
(c) i & I (Bottom to Top)
(d) 3T & =T (Top to bottom)
2. " 39ARANGT FF AT HAT ST TR -
Marginal utility can be determined as
(a) ATU/AQ (b) AMU/ AQ
(c) aAQ/ AMU (d) AQ/ ATU
3. dr feu T@r 3 # Awr fr o g7

What is the elasticity of demand in the line diagram given below?

SIRAUS MBI JoRiErel bd uforgiur ufdug, [arftes udtei] [RDT : 2024- 2025] Page 1 of 10



D
e
(a) 38 oaeR (More elastic) (b) 31§ @ER (Unit Elastic)
(c) A AIER (Less elastic) (d) quT #=IeR (Full elastic)

4. 3mard F fFeiad J aRade e T ufshar & Fa1 FgT AT 82
The process of converting input into output is called:
(a) 3UHNIT (consumption) (b) 3c9tesT (production)
(c) faaer (investment) (d). f[afr& T (exchange)
5. frdT aRadt amers(L) 1 3Ed 3cutes G e T gF FAT BT 872
What is the formula for determining the average output of a variable factor (L)?
(a) QL (b) L/Q
(c) Q+L (d) a daT b A=t
6. fd & fga = fArafaf@a & Hid-a1 FeleT gaiid adr 872
Which of the following functions represents the law of supply?
(a) S=f(p) (b) S=f(1/p)
(c) S=f(Q) (d) 3T & I sT&1(None of these)
7. famfafea & s Faa AuRor gfkar & g7 dcd &1 TR gedd Har?
Who among the following proposed the idea of time element in the pricing process?
(a) R&13f(Ricardo)
(b) are&(walrus)
(c) #FTTer(marshall)
(d) St.3h.#gdT(J.K.Mehta)
8. TR Hed fade & Agcaqor ad T 87
What is the important condition of monopolistic price differentiation?
(a) ST &1 JYah gIT (Separation of the market)

SIRAUS MBI JoRiErel bd uforgiur ufdug, [arftes udtei] [RDT : 2024- 2025] Page 2 of 10



(b) T UTFT & Fe=iar (Variation in purchasing power)
(c) ART &1 offg H fAe=Tdr (Variation in elasticity of demand)
(d) 39 @l (All of the above)
9. gfaeqe IR ISR H ANT I &IdT ¢-
In a non-competitive market, the demand curve is-
(a) AT 3MeTeT g% (Marginal Revenue Curve)
(b) & 3MITA T ( Total Revenue Curve)
(c) 3iraa 39T g% (Average Revenue Curve)
(d) 3uded & & &g =& (None of the above)
10. ‘G SToitel TART 3T TCAIIHC, SEEC US Hell' ATHG J&Ieh & ofTeh hiel 57

Who is the author of the book titled "The General Theory of Employment, Interest

and Money'?
(a) 9 (Pigoo) (b) ATEYF (1 time)
(c) oT. TH. FF (J. M. Keynes) (d) R&13f (Ricardo)
1. R g & U QU gU ¥ & 3cUlee & Al & gaRT 3eaifed 3ifaa a&g vd Jani
& TR Hed I FAT FHgl Sl §7?

What is the market value of final goods and ‘services produced by the means of

production in a given year in a country called?

(a) Hehel BYe] 3cU1G (GDP) (b) e®r T 3cuie (Net Domestic Product)

(c) TSI AT (national income) (d) =afederd 31 (Personal Income)
12.Re1a d& 3% Sf3ar T T ah—q'g’é?
When was Reserve Bank of India established?
(a) 1947 (b) 1935
(c) 1937 (d) 1945
13.7% et rdfcaaear & an{fies AT & @ § ¥ Fl7 § dea €7
Which of the following are the elements of collective demand in an open economy?
(a) 39#IeT(consumption) (b) faer(investment)
(c) TXRT =7 Tq ey AT (Government Expenditure & Net Exports)
(d) 3TFa Tt (All of the above)
14.[AFITT@T A & areafdes AL &l 8§72
Which of the following is a real investment?

(a) X @lEAT(Buying Shares)
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(b) YRT=AT Herdy Tlie=(Buying an Old Factory)

(c) $a=t &1 fFATOT( Construction of buildings)

(d) s H STAT @WiaT Wiel1(Opening a deposit account with a bank)
15. 9T FfAeeT & f6d ffeae o1 &Y dolc F §7?

Which article of the Indian Constitution is related to the Budget?

(a) Hﬂﬁ}?{ - 108 (Article - 108) (b) 3@?&?{ -356 (Article - 356)

(c) 3ifede - 248 (Article - 248) (d) 3r7ese - 112 (Article - 112)
16. Erg@rdl # TH YA G 3cdes §¢ H &I, Ifg

In the long run a firm in perfect competition will stop the production, if

(a) P>MC (b) P>AC

(c) P=AC (d) P<AC

17.9cT8T Y & 3iddd e 7 ¥ f»a anfaa foar smar €2

Which of the following is included under Direct Tax?

(a) 3UBX &Y (gift tax) (b) 3T &Y (Income Tax)

(c) TshT X (sales tax) (d) a Td b gt (Both a & b)
18. 3RS FgT 1Y hT TATAT el §S7?

When was the International Monetary Fund established?

(a)1944 (b) 1951

(c) 1975 (d) 1861

19.7 & & T aRTEATT & o1 &1 gfcd 7 v g Forchr 872
In which of the following situations can there be a decrease in the supply of money?
(a) s &I # HAT (Bank Rate Reduction)
(b) #9Te IRTEIT 3HJUTd H gefer (Increase in Cash Reserve Ratio)
(c) R3S & garT yiAfadt &1 %I (Purchase of securities by RBI)
(d) g1 & TT (Al of these)
20.9Rd # o a¥ $r Fraafar gidr g-
The period of the financial year in India is-
(a) 1 STa1adr & 31 Tg@ea(January 1 to December 31)
(b) 1 Sferms & 30 SEeA(July 1 to June 30)
(c) 1 3 & 31 A=I(April 1 to March 31)
(d) 1 3 & 31 FJemS(August 1 to July 31)
21. 9N 3rdegaedr & G9y H Arfaf@d # ¥ i 97 FT 7 872

Which of the following statement about capitalist economy?
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(a) 3c9TeT & ETET WX TS FTarfdca (Private ownership on factors of production)
(b) 3cUTGeT ST 38arT ST HediuT (The objectives of production is human welfare)
(C) §XhX ol Cj'\U‘r g&d8IT (Total interference of government)
(d) #fAST &1 JaT 1 HI-fdshT THT =161 (There is no possibility of trade of services
of labourers)
22. 77T foR—IT ST Teh 827 & 2 @ Ifed VoK H FoldoT § a7 10 g9} TFd I il
&I STHh § olfchel 3e6 DA o6l [Hel IT TET & Al S H SUSTIRT hiT &I 4T gef?

Let's assume that in a country, there are 2 lakh people are employed and 10

thousand people are wiling to work but they don’t get any, then what wil be the
unemployment rate in the country?
(a) 2% (b) 10%
(c) 5% (d) 20%
23. 701 & Ve R ITchIcHS HrAT H1 AT fhaer fohar?

Who divided the static and dynamic functions of money?

(a) Y7 2T (Ragner Frisch) (b) 9T TRSHaT (Paul Aging)
(c) #TTST (marshall) (d) g7 & &t (All of these)

24.3710 & FARR YaTg ASel A fqshar & shdl S 3R a¥g3i vd Jai3i & garg 1 37 Fal
ST 87

In a circular flow model of income, the flow of goods and services from the seller

to the buyer is called?

(a) Hifged garE (Monetary Flows)

(b) arEdTdesh Udrg (Actual Flow)

(c) arf¥s warg (Annual Flow)

(d) ¥ (stock)
25.9¢T o g foha g-

Currency has eliminated?

(a) GrATTSI gISAT @1 (Social evils)

(b) 3T gRISAT &1 (Economic Evils)

(c) TIPR FHT AN HT (The problems of the government.)

(d) a&q-fafeiada gomel & wfsarsar 1 (The difficulties of the barter system)
26.3M & HJlT TR -

At the equilibrium level of income-

(a) sad 3R fAaer &R g1d & (Saving and investing are equal)
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(b) sad e & &# gidr & (Savings are less than investments)

(c) sua foder & 3ifeh glId € (Savings outweigh investments)

(d) s &7 fA9T ¥ +1S T 87 & (Savings have nothing to do with investment)
27. Arfof@a 7 ¥ REAT &1 v GIATT ATCIH i 1 22

Which of the following is the universally accepted medium of exchange?

(a) Ihge (Cheque Book) (b) s&9T (Bond-Paper)

(c) 3ATE 3%e¢ (Demand Draft) (d) HaT (Money)
28.quTHTAANEN TR H ®AT T FE&AT BT 8-

The number of firms in perfectly competitive Market is-

(a) 2 (b) 1

(c) 379 (Some) (d) 3rcaf¥= (large number)

29.fAFT H ¥ FHAT AT &7 Th G¢Hh gl g-

Which of the following is not a component of aggregate demand?

(a) 3THIT cTT (consumption expenditure)

(b) fder eI (Investment Expenditure)

(c) aer faaTa (Net Export)

(d) faeir aREufaat uv saa (Expenditure on financial assets)
30.facelt fafaear e =7am 87

What is foreign exchange rate?

(a) a&] HT a& H HAT (Price of goods in term of goods)

(b) @& T HaT & AT (Price of goods in terms of money)

(c) Har 1 a&g & FHAd (Price of money in terms of goods)

(d) e el 1 facel Hear # F1AT (Price of domestic currency in terms of foreign

currency)
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Answer of MCQ

UReT 3T 9T 3d¥
1 a 16 d
2 a 17 d
3 b 18 d
4 b 19 a
5 a 20 Cc
6 a 21 c
7 c 22 a
8 d 23 b
9 c 24 b
10 b 25 d
11 a 26 a
12 b 27 d
13 d 28 d
14 c 29 d
15 d 30 d
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SIRAIUS IIISID 3[olielol Bd Uforsivr ufdug, At

dIfi soceifsue udiem — 2024
Hiscl Ul Ul (faueiforns)
~ . AH=I- 1:30 @C .
DEII- 12 AU - 31291121 . QUIIdb- 50
_ Time — 1:30 Hours o
Class-12 Sub. - Economics Full Marks- 50
83131 (o4 B 15 Fe15) B8

> uIlemmell *Ten3isia 31uol 9Iecl 3 32 ciforv)

Candidates are required to answer in their own words as far as possible.

> el Ul bl ca1 22 8l

There are 22 questions in total.

> Ul AT 1 A 8 A 3T c’-3TRRI U%I 8l 3otdl A fdbodl ©: Uil b IR
SIEDAH 50 91651 i SIHSTC] YD U DI Hlol 2 3ib forerifed 2
Question no. 1 to 8 are very short answer type questions. Out of these, answer any six

questions in maximum 50 words each. Each question carries 2 marks.

> U1 AT 9 A 16 AD -3 U6l 8l fobodl ©: Useil I 312 Siferaad 150
916G I SISTR] U U I HIel 3 3P forelifde 3
Question no. 9 to 16 are short answer type questions. Out of these, answer any six
questions in maximum 150 words each. Each question carries 3 marks.

> UST ARAT 17 A 22 dAD SIE-IRERI U 3l Soldl A fdbodl R Uil dI 372
I eIdT 250 91631 3 SHSIY] Ul UsT oI ATol 5 3 foreltfye 3l

» Question no. 17 to 22 are long answer type questions. Out of these, answer any four

questions in maximum 250 words each. Each question carries 5 marks.

Ts-(A) HTA-eTEe T wee (2 37hr)
Part-(A) Very short type Question (2 marks)
fAfaf@a & ¥ gl o 7ot & 3w dfSv)

Answer any six from the following questions.

1 afedr a7 e Hife #T a&g 1 IRANT A
Define a substandard or inferior article.
2 quf 9faAEar & AR T X-378T & AR 4T gl 87

Why is the AR curve parallel to the x-axis in perfect competition?
SIRIAUS SHEID 3rofielel Gd UfdIsIur uldug, el [arftfes udtem) [R5 : 2024- 2025] Page 8 of 10



3 e fafde=r fafeat 1 g 9130 [9aTH eufisR Ba sJagR &7 Fehdl |
List three different ways in which oligopoly firms can behave.
4 g AR FATE JMART H FdX TIT FY|
Differentiate between micro and macro-economics.
5 AT derd AR 3rad derd & aReivg Hifae|
Define the terms marginal cost and Average cost.
6 dEmieh deldl Je]dre &1 872
What is the Statutory Liquidity Ratio?
7 3YHNET Bolel fohel TRT & T FEY HI STaFrd T 872
The consumption function expresses the relationship between which variables?
8 MR AV 3R AT WIAT AV H 3R TA7|

What is the difference between Trade Balance and Current Account Balance?

Ts-(B) oTga{IT 9 (3 3ieh1Y)
Part-(B) Short answer type questions (3 marks)
i@ & @ gl & 7ot & 3wx faf@v)

Answer any six from the following questions.

9 e T IR Y| fore TRATT 7 ST T HfoleT raeAT # gl STl §7?
Define equilibrium. In which case is the market said to be in equilibrium state?
10 gedr AT 39AFEar & @ga $r egrear sl
Explain the law of diminishing marginal utility.
11 916IR Aol & 3T FIT FASI §? YW@ & Tose ffav|
What do mean by market equilibrium? lllustrate with diagram.
12 Hehel B[ 3cUTG 1 IRATVT HIfSAT| Ig Hehel TSET 3cUIG § fhE JohR Fefed 872
Define Gross Domestic Product. How it is related to Gross National Product?
13 Helel AT T §? IWMIT T30 |
What is the equilibrium price? Draw a diagram.
14 S9TR &7 IRHATT AfAT| 37 IR dedl & ford foereh 3muR ) faffiesr sromRt & aRenfia
foram arar 21
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Define the market. Write down the four elements on the basis of which different
markets are defined.

15 qaitardr 3rdfegaear $r Agcaqur fAAvare = g7
What are the important features of a capitalist economy?

16 R & ¢anrT aredfas yarg aur Alfges gag & X I’
Show the difference between actual inflow and monetary flow with the help of

diagram.
Ts-(C) 3y ua (5 37h)
Part-(C) Long answer type questions. (5 Marks)

fArfaf@a & 9 Fgl aR Teat & 3 QfSw)
Answer any four from the following questions.
17 ATATT g T 3T FIT ASIA g2 AT doh I [AATATIA I TISC A

What do you understand by preference curve? Explain the characteristics of the

preference curve.

18 Ush el T el U AT, Toel TRACAT ST TYT el ARIT F47 g, I g TR Gl
&2

What are total fixed cost, total variable cost and total cost of a firm, how are they

related?

19 SISTR &HAT TF AT hIAd H 3R HIfAT|
Differentiate between the market price and the normal price.

20 GDP & TUSET 3T &Y I0TAT 3T hd Hidr? Iredm Hifarv|
How will you calculate national income from GDP? Explain.

21 919 T A AR 39HET 37 (A) 50 HUs g1 3R AT F9d g9 (MPC) 0.2
YT 3T HT &R E 4000 g A7 YIRS AT HAFT ATd HL? Ig dT gq1¢
HITaEAT Hfoled H § AT 12

22 HeT FAT 82 Hal & H1l T ol H?

What is Mudra? Describe the functions of money?
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